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HISTORY

VERSION 'B'' WAS CREATED T0O:

#1 INSTALL A 2 LOCATION PATCH TO THE LOGIC TEST.

#2 INSTALL A 3 BYTE PATCH TO THE M8036 MICRO-CODE.

#3 (HANGE THE OUTPUT REPORT OF DIFFERENTIAL LINEARITY,

#4 CORRECT A DEFECT IN ACCOUNTING ENORMOUS ERRORS [N TOTAL
ERROR COUNTER.

#5 CORRECT ERROR (CODES FOR TWO TESTS.
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ABSTRACT
........ SEQ 0003

THE NCV11 DIAGNOSTIC PROGRAM IS A SERIES OF TESTS DESIGNED

TO TEST ALL LOGIC FUNCTIONS AND DATA PATHS ACCESSIBLE ON THE
MB8026 AND MB(36. THE M7952 DIAGNOSTIC SHOULD HAVE BEEN EXECUTED.
TOTAL PROGRAM CONTROL IS ACCOMPLISHED THRU THE CONSOLE TERMINAL
VIA KEYBOARD TEST SELECTION AND THE PROVISIONS OF SECTION 5.

THE PROGRAM CAN BE EXECUTED ON AN LSI=11 OR PDP=11 COMPUTER.

REQUIREMENTS

EQUIPMENT

1. PDP11 FAMILY OR LSI-11 FAMILY COMPUTER

2. 1/0 TERMINAL (IE: LA36)

3. NCV11 OPTION INCLUDING KWV11 REAL TIME CLOCK (M7952)

4. AQ17 SELF-TEST CONNECTOR (70-12894) (REQUIRED FOR SCCTION 9.2 + 9.3)
5. H3060 JOYSTICK (OPTIONAL)

6. HARDWARE TESTER AND PROM BLASTER (OPTIONAL)

STORAGE

THE PROGRAM REQUIRES 16K OF MEMORY.

IF MEMORY MANAGEMENT OR ADDITIONAL MEMORY ARE SENSED, THE
PROGRAM WILL USE THOSE HARDWARE OPTIONS.

PREL IMINARY PROGRAMS

THE KWV11 DIAGNOSTIC (MD=-11-CVKWA) SHOULD HAVE BEEN RUN.

LOADING PROCEDURE

NORMAL PROCEDURE FOR LOADING A BINARY PROGRAM INTO MEMORY
SHOULD BE FOLLOWED.

STARTING PROCEDURE

1. MAKE SURE THE NCV11 DEVICE BUS ADDRESS, INTERRUPT VECTOR ON THE
M8026 AGREE WITH THE DEFAULT VALUES DEFINED IN SECTION 7.1.
MAKE SURE THE NCV11 CLOCK BUS ADDRESS ON THE M7952 AGREE

WITH THE DEFAULT VALUE DEFINED IN SECTION 7.1,

MAKE SURE THE NCV11 INTERRUPT PRIORITY LEVEL ON THE M8217
AGREE WITH THE DEFAULT VALUE DEFINED IN SECTION 7.1.

INSURE THAT THE HALT SWITCH IS DISABLED (IF ANY).

TYPE THE STARTING ADDRESS OF 200 AND THE CHARACTER G.

THE PROGRAM WILL RESPOND BY TYPING THE PROGRAM TITLE.

THE PROGRAM WILL REQUEST SWITCH REGISTER VALUE.

THE PROGRAM WILL TYPE THE TEST SELECTION MENU FOR THE OPERATOR.
THE OPERATTR SELECT'S THE APPROPRIATE TEST BY TYPING THE TEST LETTER AND ''CR'

IF THE PROGRAM [S EXECUTED ON A CPU WITH A SWITCH REGISTER AND THE
OPERATOR SETS ALL SWITCHES TO A 1, THE SOFTWARE S.R. WILL BE USED.
IF THE HARDWARE SWITCH REGISTER IS USED, THE SOFTWARE S.R. HAS NO EFFECT.

W o

000 ~NOV &




5.0

5.1

5.3

LSI=11:

PROGRAM START
200 STARTING ADDRESS OF THE PROGRAM
204 RESTART ADDRESS OF THE PROGRAM
210 STARTING ADDRESS FOR THE FACTORY OPTION CHECK=QUT AREA.

(INFORMS THE PROGRAM THE TESTER AND BLASTER ARE CONNECTED)
SOF TWARE SWITCH REGISTER

LOGIC TEST OPTIONS

SWITCH OCTAL FUNCTION

SW15=1 100000 HALT ON ERROR

SW14=1 040000 LOOP ON TEST

SW13=1 020000 INHIBIT ERROR TYPEOUTS

SW11=1 004000 INHIBIT ITERATIONS

SW10=1 002000 BELL ON ERROL

SW09=1 001000 LOOP ON ERROR

Sw08=1 0004 XX LOOF ON TEST IN SWR <7-0>

FIELD ADJUSTMENT LOOP

SWITCH OCTAL FUNCTION

SW15=1 100000 HALT CAN "'INPUT VOLTAGE OUT OF RANGE'® ERROR
Sw13=1 020000 INHIBIT ERROR OR CONVERSION TYPEOUT
SW09=1 001000 INHIBIT CONVERSIONS ON CAMERA #3 GAIN = 1
Sw08=1 000400 INHIBIT CONVERSIONS ON CAMERA #2 GAIN = 1
SW0/7=1 000200 INHIBIT CONVERSIONS ON CAMERA #1 GAIN = 1
SW06=1 000100 INHIBIT CONVERSIONS ON CAMERA #0 GAIN = 1
SW04=1 000020 INHIBIT CONVERSIONS ON JOYSTICK

Sw03=1 000010 INHIBIT CONVERSIONS ON CAMERA #3 GAIN = 2
Sw02=1 000004 INHIBIT CONVERSIONS ON CAMERA #2 GAIN = 2
SW01=1 000002 INHIBIT CONVERSIONS ON CAMERA #1 GAIN = 2
SW00=1 000001 INHIBIT CONVERSIONS ON CAMERA #0 GAIN = 2
CONTROL

1. THE SOFTWARE SWITCH REGISTER °'SWREG' (LOC. 176) CAN BE
CHANGED BY USING THE ODT FACILITIES.

2. THE SOFTWARE SWITCH REGISTER CAN BE CHANGED UNDER PROGRAM

CONTROL BY TYPING THE 'CONTROL & G' KEYS. THIS

KEYBOARD OPERATION WILL PRINT THE CURRENT CONTENTS

AND ACCEPT NEW OCTAL SWITCH REGISTER DATA TERMINATED

WITH A CARRIAGE RETURN.

ONCE THE ODT MODE HAS BEEN ENTERED BECAUSE OF AN

ERROR CONDITION WITH BIT15 SET (HALT ON ERROR), STEP #2

ABOVE 1S OF NO VALUE, SO RESORT TO STEP #1 TO ALTER THE

SOF TWARE SWITCH REGISTER IF DESIRED BEFORE TYPING

‘P' (CONTINUE).

4. IF THE PROGRAM IS PERFORMING RESET INSTRUCTIONS, SEVERAL
'CONTROL € C' OR 'CONTROL & G' COMMANDS MAY BE NECESSARY T0
BE ACKNOWLEDGE BY THE PROGRAM,

5. TESTING CAN BE ABORTED BY TYPING THE °*CONTROL & C' KEYS.

N
.
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6.0

7.0

£

7.3

7.4

7.5

ERROR REPORTING

ALL ERRORS ARE ACCOMPANIED WITH AN ENGLISH LANGUAGE DESCRIPTIVE
COMMENT AS TO THE TYPE OF FAILURE. FURTHER QUALIFICATION OF

THE ERROR (AN BE OBTAINED IF NEEDED FROM THE COMMENT AT THE
ERROR PC OR FROM THE TEST ITSELF.

MISCELLANEOUS

NCV11 BUS ADDRESS MODIFICATION

MODIFY LOCATION 'S$BASE' (LOC. 1250) IF BASE NCV11 BUS ADDRESS IS NOT 772760.
MODIFY THE LOW NINE BITS OF LOCATION 'SVECT1' (LOC. 1244) IF

BASE NCV11 INTERRUPT VECIOR IS NOT 370.

MCDIFY THE HIGH THREE BITS OF LOCATION 'SVECT1' (LOC. 1244) IF

THE INTERRUPT PRIORITY LEVEL IS NOT LEVEL 6 ON A UNIBUS CPU.

MODIFY LOCATION '$CDW1' (LOC. 1254) IF BASE NCV11 CLOCK BUS ADDRESS IS NOT 770420.

XXDP/APT NOTES

THIS DIAGNOSTIC IS CHAINABLE UNDER XXDP (REQUIRES 16K OR MORE).
IF RUNNING UNDER XXDP/ACT/APT, THE LOGIC AND DIFLIN TESTS WILL BE RUN.

POWER FAIL

A POWER FAILURE WILL CAUSE A RESTART MESSAGE ON POWER UF AT

WHICH TIME THE PROGRAM IS RESTARTED (ONLY ON SYSTEMS WITH
NON-VOLATILE MEMORY AND WITH APPROPRIATE HARDWARE).

MULTIPLE NCV11'S INTERFACE TESTING

THIS PROGRAM DOES NOT "'AUTO-SIZE'' THE NUMBER OF NCV11'S CONNECTED.
FOR EACH ADDITIONAL NCV11., THE OPERATOR MUST MODIFY LOCATIONS
$BASE, SVECT1 AND $(DW! (REF. 7.1).

RESTRICTIONS

KWV11 REAL TIME CLOCK (M7952) MUST NOT BE CONNECTED TO M8(C26 'FAST-ON'' TABS.
UNLESS OTHERWISE STATED, NO EXTERNAL CONNECTIONS TO M8036 OR AQ17.
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8.0

ADDRESS MAKER TABLE

THE M8036 CONTAINS LOGIC TO CONVERT A/D DATA INTO A RELAT]VE
ADDRESS. BELOW IS A TABLE WHICH SHOWS THE ADDRESS MAKER OUTPUT
WITH THE "TEST CONTROL'® MAINT. BIT SET. SETTING THIS BIT ENABLES
THE STATES OF THE ''GAIN, ZB ENABLE AND RESOLUTION'' BITS SIMULATE
THE C(ONVERTED A/D DATA.

RESOLUTION ADDRESS MAKER OUTPUT BITS
RESO REST WORD+*16 15 14 13 12 11 10 09 08 07 06 05 04 03 02 01 00

O—==200 ——
(s]lelelelelelr
(elelelelels Jal
oCcoo@onN
OCOOmMOND
COMONON
ODMAOAONOND
DoONONCO —
NOOOONN
ONNOONN
NOONNOO

ALWAYS A O

ALWAYS A 1

GAIN FLOP STATE

/B ENABLE FLOP STATE

THE "'AND'' OF ZB ENABLE WITH 7B MAINT. INPUT

ONO=O OO0 -u—a

HHunnuN

EXECUTION TIME

LOGIC: EXECUTION TIME RANGES FROM ABOUT 5 SECONDS WITH NO ITERATIONS
TO ABOUT 70 SECONDS WITH ITERATIONS ENABLED.
AN END PASS MESSAGE INDICATES ALL SUB-TESTS HAVE COMPLETED.
EACH ADDITIONAL 4K OF MEMORY WILL ADD ABOUT 10 SECONDS
TO THE LOGIC TEST RUNTIME.

DIFFERENTIAL LINEARITY: EXECUTION TIME S ABOUT 90 SECONDS.
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6.0

¥l

9.2

9.5

PROGRAM TEST DESCRIPTIONS

THE PROGRAM CONSISTS OF FOUR MAIN SECTIONS PLUS THREE AUXILIARY AND
THREE FACTORY OPTION CHECK-QUT SECTIONS.

THE OPERATOR SELECTS EACH SECTION VIA THE CONSOLE KEYBOARD.

BELOW IS A BRIEF DESCRIPTION OF EACH SECTION AND THE KEYBOARD CHARACTER.

MAIN SECTIONS

L LOGIC TEST (M8026 + MB036)
<NO INTERVENTION> <SETUP ONLY IF SA=210>

THE TEST CONTAINS A SERIES OF INDEPENDENT SUB-TESTS DESIGNED

TO TEST LOGIC FUNCTIONS AND DATA PATHS OF THE NCV11 GAMMA (AMERA INTERFACE.
A COMPLETE LIST OF TESTS IS AVAILABLE IN THE TABLE OF CONTENTS

AT THE BEGINNING OF THE LISTING. THE COMMENT FIELD WITHIN

EACH SUB-TEST TiTLE CAN BE BENEFICIAL TO UNDERSTANDING THE LOGIC TESTED.
ADDITIONAL LOGIC TESTS OF THE AO17 WILL BE EXECUTED IF THE

PROGRAM WAS STARTED AT LOC. 210.

D (M) DIFFERENTIAL LINEARITY (AQ17)

<REQUIRES SELF=TEST CONNECTOR IN J1 ON THE AQ17> <SETUP INTERVENTION ONLY>
<A017 SWITCH SET TO "MAINT.'' POSITION>

A FINITE VARIATION OF INPUT VOLTAGE EQUALS A GIVEN CONVERTED

VALUE OR STATE. THE TEST IS TO VERIFY THE WIDTH OF EACH POSSIBLE
STATE. AN INPUT VOLTAGE IS RAMPED AND THE NCV11 SAMPLES THE RESULT.
THE NCV11 INCREMENTS THE RESPECTIVE MEMORY LOCATION CORRESPONDING
TO THE INPUT VALUE. THE PROGRAM THEN DETERMINES IF ANY STATE HAS
BEEN SKIPPED, IS EXCESSIVELY WIDE OR NARROW. WHEN 'M'' IS USED TO
SELECT THE SECTION, THE PROGRAM OUTPUT AN EXPANDED REPORT OF

THE 254. STATES. TIGHTER ERROR TOLERANCES ARE USED IF RUNNING

IN THE OPTION CHECKOUT AREA (SA 210).

F FINAL ACCEPTANCE

<REQUIRES SELF-TEST CONNECTOR IN J1 ON THE A017> <SETUP INTERVENTION ONLY>
<AQ17 SWITCH SET TO "MAINT."' POSITION>

THE SUB-SECTION RUNS SECTION "L'' AND 'D'' TO VERIFY PROPER OPERATION.
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9.4

9.5

9.6

%

9.8

A ADJUSTMENT OF AO17 AT FIELD SITE

<MANUAL INTERVENTION> <SETUP INTERVENTION>
<AQ17 SWITCH SEi TO "OPER.'' POSITION>

COARSE ADJUSTMENT OT THE AO17 CAN BE PERFORMED USING THIS SUB=-SECTION.
THE OPERATOR MAY SELECT THE CAMERA AND GAIN TO BE SAMPLED USING THE
SWITCH REGISTER. A SERIES OF CONVERSIONS ARE TAKEN ON EACH CAMERA
AND THE OPERATCR IS INFORMED OF THE RESULTS.

SWITCH OCTAL FUNCTION

SW15=1 100000 HALT ON ''INPUT VOLTAGE OUT OF RANGE'' ERROR
Sw13=1 020000 INHIBIT ERROR OR CONVERTED VALUE TYPE-QUT
SW09=1 001000 INHIBIT CONVERSIONS ON CAMERA #3 GAIN = 1
Sw08=1 000400 INHIBIT CONVERSIONS ON CAMERA #2 GAIN = 1
SWO7=1 000200 INHIBIT CONVERSIONS ON CAMERA #1 GAIN = 1
SwO6=1 000100 INHIBIT CONVERSIONS ON CAMERA #0 GAIN = 1
SW04=1 000020 INHIBIT CONVERSIONS ON JOYSTICK

Sw03=1 000010 INHIBIT CONVERSIONS ON CAMERA #3 GAIN = 2
Sw02=1 000004 INHIBIT CONVERSIONS ON CAMERA #2 GAIN = 2
Sw01=1 000002 INHIBIT CONVERSIONS ON CAMERA #1 GAIN = 2
SW00=1 000001 INHIBIT CONVERSIONS ON CAMERA #0 GAIN = 2

AUXILIARY SECTION

0 OTHER TERMINAL ADDRESS

IN SOME CUSTOMER SITES, THE CONSOLE TERMINAL MAY NOT BE LOCATED
WITHIN EASY ACCESS TO THFE NCV11. THIS SECTION ALLOWS THE OPERATOR

TO CHANGE THE PROGRAMS CONTROL TO ANOTHER TERMINAL.

H HELP THE OPERATOR

A LIST OF THE COMMANDS WILL BE TYPED TO REFRESH THE OPERATOR'S MEMORY.
S SOF TWARE SWITCH REGISTER

ENABLES THE OPERATOR TO CHANGE THE SOF TWARE SWITCH REGISTER WHEN

NOT RUNNING ANOTHER SUB-SECTION.

FACTORY OPTION CHECK=OUT SECTION

I INITIAL ADJUSTMENT OF A017

<MANUAL INTERVENTION> <SETUP INTERVENTION> <HARDWARE TESTER>
<AO17 SWITCH SET TO 'OPER.'' POSITION>

A KNOWN GOOD DIGITAL TO ANALOG (D/A) SUPPLIES A REFERENCE INPUT
VOLTAGE. THE OPERATOR IS INFORMED WHICH ADJUSTMENT TO PERFORM.

THE PURPOSE OF THE TEST IS TO VERIFY THAT THE ADJUSTMENT TO THE PRE-AMP
SECTION CAN BE PREFORMED. THE TEST DOES NOT ATTEMPT TO CALIBRATE

THE PRE-AMP, BUT ONLY TO FUNCTIONALLY VERIFY THE ADJUSTMENTS,
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9.9

9.10

16.0

B BLASTING THE LINEARITY CORRECTION PROM

<MANUAL INTERVENTION> <SETUP INTERVENTION> <HARDWARE TESTER>
<AO17 SWITCH SET TO "MAINT.'* PCSITION>

THE TEST 1S DESIGNED TO CREATE THE LINEARITY CORRECTION PROM (LCP).

THE TESTER HARDWARE CONTAINS RAM STORAGE TO EMULATE THE LCP. THE
PROGRAM WILL RUN DIFFERENTIAL LINEARITY. THE PROGRAM WILL THEN

USE THE RESULTS TO DETERMINE THE CORRECT VALUE TO BE PLACED IN THE
LCP. THE PROGRAM WILL THEN INFORM THE PROM BLASTER TO GENERATE A
CORRECTED LINEARITY PROM FOR THE AO17 MODULE. UPON COMPLETION

OF GENERATION AND VERIFICATION STAGE, THE OPERATOR IS INSTRUCTED
TO REMOVE THE EMULATOR CABLE FROM THE AQ17 AND INSERT THE NEWLY
CREATED LCP. THE PROGRAM WILL RE-EXECUTE DIFFERENTIAL LINEARITY.

C CONTROL PROGRAM PROM
<MANUAL INTERVENTION> <SETUP INTERVENTION> <HARDWARE TESTER>
THE ROUTINE WILL CREATE THE M8036 CONTROL PROM. THE OPERATOR

MAY CREATE SEVERAL COPIES BY REPEATELY EXECUTING THIS SECTION.
THE PROGRAM WILL INFORM THE OPERATOR THE STEPS TO PERFORM.

LOCATION OCTAL BINARY

00 215 10001101

01 244 10100100

02 116 01001110

03 144 01100100

04 215 10001101

05 244 10100100

06 116 01001110

07 144 01100100

10 215 10001101

1 244 10100100

12 116 01001110

13 144 01100100

b 215 10001101

15 244 10100100

16 116 01001110

17 144 01100100

20 106 (116) 01000110 (01001110)
21 Tl 01100100

22 314 (216) 11001100 (10001119)
23 304 (244) 11000100 (10100100

NOTE: () INDICATES OLD CONTENTS OF M8036 ROM.

LISTING

SEQ 0009




CZINCCB NCV11 _ DIAGNOSTIC MACY11 30G(1063) 31-AUG=79 13:10

CINCCB.P1T  31-AUG=79 11:21 TABLE OF CONTENTS SEQ 0010
13 BASIC DEF INITIONS
14 MEMORY MANAGEMENT DEF INITIONS
21 OPERATIONAL SWITCH SETTINGS
22 TRAP_CATCHER
(1) STARTING ADDRESS (ES)
29 ACT11 HOOKS
31 APT PARAMETER BLOCK
32 COMMON TAGS
(2) APT MAILBOX~E TABLE
(1) ERROR POINTER TABLE
147 INITIALIZE THE COMMON TAGS
149 TYPE PROGRAM NAME
(2) GET VALUE FOR SOF TWARE SWITCH REGISTER
150 PRIME THE NCV11 ADDRESSES FROM THE DEFAULT VALUES
179 DIAGNOSTIC IDENTIFICATION TYPEOUT
192 KEYBOARD COMMAND DECODER
346 TEST DESCRIPTION
%8
350 T VERIFY THE 8 NCV11 AND 2 NCV11 CLOCK BUS ADDRESSES RESPOND
381 12 FLOAT A 1 ACROSS 10 BITS OF THE COMMAND/STATUS REG.
397 13 VERIFY THAT “'INIT'* CLEARS THE CSR REGISTER
406 1% VERIFY THAT 'TLEAR ALL'' CLEARS THE (SR REGISTER
416 15 VERIFY LOW BYTE OPERATION OF THE "CSR'* REGISTER
431 16 FLOAT A 1 ACROSS & BITS OF THE SPECIAL FUNCTION REGISTER
445 17 VERIFY THAT CLEARING HIGH BYTE OF SFR DOES NOT CLEAR LOW BYTE
455 T10  VERIFY THAT “INIT'' CLEARS THE SFR REGISTER
463 T11  VERIFY THAT 'CLEAR ALL'' CLEARS THE SFR REGISTER
472 T12  FLOAT A 1 ACROSS THE WORD COUNT REGISTER
485 713 FLOAT A 1 ACROSS THE BUS ADDRESS REGISTER
498 T14  FLOAT A 1 ACROSS THE OFFSET REGISTER
512 T1S  VERIFY NO DUAL REGISTER SELECTION
548 T16  VERIFY 'TLR ALL'' CLEARS THE EXTENDED OFFSET BITS
357 T17  TEST THE "ACTIVE'' FLOP CAN SET AND CLEAR
592 T20  VERIFY Z INPUTS CAUSE THE LOW 8 BITS OF 32 BIT COUNTER TO CHANGEIN MATRIX MODE
613 T21  VERIFY 7 INPUTS CAUSE THE LOW 16 BITS OF 32 BIT COUNTER TO CHANGE
637 122 VERIFY 7 INPUTS CAUSE THE LOW 24 BITS OF 32 BIT COUNTER TO CHANGE
655 123 VERIFY 7 INPUTS CAUSE THE HIGH 8 BITS OF THE 32 BIT COUNTER TO CHANGE
669 124 VERIFY Z INPUTS DO NOT CAUSE THE LOW 8 BITS OF 32 BIT COUNTER TO CHANGE IN LIST MODE
680 125  TEST THAT 'MCA OVFL'' SETS Z/WC OVERFLOW FLOP AND '‘CLR ALL'' CLEARS IT
711 T26  TEST THAT 'WCA OVFL'' SETS Z/WC OVERFLOW FLOP AND ‘‘CLR WC OVFL'™ CLEARS IT
745 T27  TEST THAT *WCA OVFL'' GENERATES AN INTERRUPT
M T30  VERIFY 'WCA OVFL'' CLEARS 'ACTIVE''
817 131 VERIFY JOYSTICK DONE FLOP SETS
836 132 VERIFY THAT 'RESET'' INSTRUCTION CLEARS THE JOY READY FLOP
874 133 JOYSTICK DATA PATH = GAIN =0 7B ENABLE =0 RES. = 000
879 134 JOYSTICK DATA PATH = GAIN =1
884 135 JOYSTICK DATA PATH = 7B ENABLE =1
889 136 JOYSTICK DATA PATH RES. = 001
8% 137 JOYSTICK DATA PATH RES. = 010
8%9 T40  JOYSTICK DATA PATH RES. = 100

907 T41 VERIFY THE DATA INCRZMENT FUNCTION
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CINCCB NCV11 _ DIAGNOSTIC MACY11 30G(1063) 31-AUG-79 13:10

CINCCB.P1T  31-AUG=79 11:21 TABLE OF CONTENTS SEQ 0011
92 14 VERIFY THE DATA INCREMENT CARRY BIT
918 T4 VERIFY THE DATA INCREMENT FUNCTION IS INMIBITED
924 T4k VERIFY THE DATA DECREMENT FUNCTION
930 145  VERIFY THE DATA DECREMENT BORROW
935 146 VERIFY THE DATA DECREMENT FUNCTION IS INMIBLTED
956 T47  TEST ADDRESS MAKER = MATRIX MODE - RES = 7 GAIN = 0 ZB ENABLE = 0
957 TS0 TEST ADDRESS WAKER - MATRIX MODE - RES = 7 GAIN = 1 7B ENABLE = 0
958 151  TEST ADDRESS MAKER - MATRIX MODE - RES = 7 GAIN = 0 ZB ENABLE = 1
90 152  TEST ADDRESS MAKER ~- MATRIX MODE - RES = 6 GAIN = 0 ZB ENABLE = 0
961 155 TEST ADDRESS MAKER - MATRIX MODE - RES = 6 GAIN = 1 ZB ENABLE = 0
962 TS  TEST ADDRESS WAKER - MATRIX MODE - RES = § GAIN = 0 78 ENABLE = |
964 155 TEST ADDRESS MAKER - MATRIX MODE - RES = 5 GAIN = 0 2B ENABLE = 0
95 156  TEST ADDRESS MAKER - MATRIX MODE - RES = 5 GAIN = 1 ZB ENABLE = 0
966 157  TEST ADDRESS MAKER - MATRIX MODE - RES = 5 GAIN = 0 ZB ENABLE = 1
%8 T60  TEST ADDRESS MAKER =- MATRIX MODE - RES = 4 GAIN = 0 ZB ENABLE = 0
%9 T61  TEST ADDRESS MAKER = MATRIX MODE - RES = 4 GAIN = 1 ZB ENABLE = 0
970 162  TEST ADDRESS MAKER - MATRIX MODE - RES = 4 GAIN = 0 2B ENABLE = 1
972 T63  TEST ADDRESS MAKER - MATRIX MODE - RES = 3 GAIN = 0 2B ENABLE = 0
973 T64  TEST ADDRESS MAKER - MATRIX MODE - RES = 3 GAIN = 1 ZB ENABLE = 0
974 T65  TEST ADDRESS MAKER - MATRIX MODE - RES = 3 GAIN = 0 2B ENABLE = 1
976 T66  TEST ADDRESS MAKER - MATRIX MODE - RES = 2 GAIN = 0 2B ENABLE = 0
977 T67  TEST ADDRESS MAKER - MATRIX MODE - RES = 2 GAIN = 1 2B ENABLE = 0
978 T70  TEST ADDRESS MAKER =~ MATRIX MODE - RES = 2 GAIN = 0 7B ENABLE = 1
980 71 TEST ADDRESS MAKER - MATRIX MODE - RES = 1 GAIN = 0 ZB ENABLE = 0
981 172 TEST ADDRESS MAKER - MATRIX MODE - RES = 1 GAIN = 1 ZB ENABLE = 0
982 173 TEST ADDRESS MAKER =- MATRIX MODE - RES = 1 GAIN = 0 ZB ENABLE = 1
984 74 TEST ADDRESS MAKER =~ LIST MODE - ZB ENABLE = 0 GAIN = 0
998 T75  TEST ADDRESS MAKER - LIST MODE - ZB ENABLE = 1 GAIN = 0
1012 T76  TEST ADDRESS MAKER - LIST MODE - ZB ENABLE = 0 GAIN = 1
1029 177 ENABLE A ONE WORD TRANSFER SECTION LIST MODE
1077 T100  ENABLE A 512 WORD TRANSFER SECTION LIST MODE
1125 T101  VERIFY "TIMEOQUT'' FLOP SETS AND 'TLR ALL'' CLEARS IT
1155 1102  VERIFY *TIMEQUT'' FLOP SETS AND ‘LR TIMEOUT'' CLEARS IT
1184 1103  VERIFY "TIMEOUT'' INTERRUPT
1217 T104  VERIFY INCREMENTING INTO EXTENDED ADDRESS BIT 16
1238 T105  VERIFY INCREMENTING INTO EXTENDED BIT 17
1262 T106  VERIFY "SET EVENT'' DATA GENERATES A 1 DATA WORD
1283 1107  VERIFY 'SET TIME'' DATA GENERATES A TA_WORD
1305 TI10  VERIFY 'TLOCK STI"' GENERATES A EVENT (177777) DATA WORD
1326 T111  VERIFY 'TLOCK OVERFLOW" GENERATES A TIME (000000) DATA WORD
1350 T11¢  VERIFY ~SET TIME OVERRIDES 'SET EVENT'' DATA
1370 1113 A ONE WORD MATRIX MODE TRANSFER =CHECK FOR INCREMENT FUNCTION
1393 1114 VERIFY EACH BIT OF THE INCREENT REG. DATA PATH
1429 T115  CHECK FOR LOW BYTE ““INC OVFL'' TO SET CELL OVERFLOW AND ‘CLR CELL'' TO CLEAR IT
1472 T116  CHECK FOR WORD “INC OVFLT'TO SET CELL OVERFLOW AND "TLR ALL""TO CLEAR IT
1508 T117  CHECK FOR ‘CELL OVERFLOW'' INTERRUPT
1541 1120  VERIFY CORRECT BR LEVEL THE NCV-T1
1612 T121  VERIFY A 1 WORD MATRIX MODE XFR USING OFFSET = 13
1613 T122  VERIFY A 1 WORD MATRIX MODE XFR USING OFFSET - 12
1615 1123 VERIFY A 1 WORD MATRIX MODE XFR USING OFFSET - 11
1616 1124 VERIFY A 1 WORD MATRIX MODE XFR USING OFFSET - 10
1618 T125  VERIFY A 1 WORD MATRIX MODE XFR USING OFFSET - 09
1619 1126  VERIFY A 1 WORD MATRIX MODE XFR USING OFFSET - 08
1621 T127  VERIFY A 1 WORD MATRIX MODE XFR USING OFFSET = 07
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31-AUG-79 11:21 TABLE OF CONTENTS
1130 VERIFY A 1 WORD MATRIX MODE XFR USING OFFSET - 06
T131 VERIFY A 1 WORD MATRIX MODE XFR USING OFFSET = 05
n VERIFY A 1 WORD MATRIX MODE XFR USING OFFSET - 04
71; VERIFY A 1 WORD MATRIX MODE XFR USING OFFSET - 03
n VERIFY A 1 WORD MATRIX MODE XFR USING OFFSET - 02
1135 VERIFY THE ADM INPUT TO THE MATRIX MUX. USING GAIN ENABLE
1136 VERIFY THE ADM _INPUT TO THE MATRIX MUX. ADDER USING ZB ENABLE
1137 VERIFY LOW BYTE OPERATION OF THE °‘TESTX'' FLOP
17140 VERIFY BIT 1§ ADDER INPUT TO MATRIX MODE MuX
T141 VERIFY BIT 13 ADDER INPUT TO MATRIX MODE MUX
T14 VERIFY BIT 14 ADDER INPUT TO MATRIX MODE MuUX
T14 CHECK FOR HIGH BYTE ""INC OVFL'' TO SET CELL OVERFLOW
T144 VERIFY EACH BIT OF THE LOWER 16 BIT Z COUNTER  (TESTER ONLY)
T145 VERIFY EACH BIT OF THE HIGHER 16 BIT Z COUNTER (TESTER ONLY)
1146 VERIFY THAT CAMERA ?1 CHANNEL IS OPERATIONAL (TESTER ONLY)
1147 VERIFY THAT CAMERA 10 CHANNEL IS OPERATIONAL (TESTER ONLY)
T150 VERIFY THAT CAMERA 11 CHANNEL IS OPERATIONAL (TESTER ONLY)
T151 DYNAMIC MATRIX MODE ADDRESS
T152 DYNAMIC LIST MODE ADDRESS
T153 DYNAMIC LIST MODE TRANSFER = MAXIMUM BUFFER LENGTH IN LOWER 28K
T154 ONE MATRIX DATA TRANSFER TO EACH 4K EXTENDED MEMORY

T155 ONE LIST DATA TRANSFER TO EACH 4K EXTENDED MEMORY
T156 VERIFY BIT 15 MATRIX ADDER INPUT

1157 VERIFY HIGH BYTE OPERATION OF THE ‘‘TEST X'’
1160 VERIFY BIT 16 INPUT TO THE MATRIX MODE ADDER
T161 DETERMINE IF DIFLIN IS TO BE RUIN (F)

END OF PASS ROUTINE

ERROR ASCII MESSAGES

TTY INPUT ROUTINE

READ AN OCTAL NUMBER FROM THE TTY

CONVERT BINARY TO DECIMAL AND TYPE ROUTINE
SCOPE_HANDLER ROUTINE

TYPE ROUTINE

BINARY TO OCTAL (ASCII) AND TYPE

ERROR HANDLER ROUT INE

ERROR MESSAGE TYPEOUT ROUTINE

INTEGER MULTIPLY ROUTINE

INTEGER DIVIDE ROUTINE

DOUBLE LENGTH BINARY TO DECIMAL ASCII CONVERT ROUTINE
SINGLE LENGTH BINARY TO DECIMAL ASCIZ ROUTINE

TRAP DECODER

TRAP TABLE

A TO D FIELD SITE AND ADJUSTMENT LOOP

SEQ 0012




N 1
CZINCCB NCV11 _ DIAGNOSTIC MACY11 30G(1063) 31-AUG-79 13:10 PAGE 1

CINCCB.P11 . 31-AUG=79 11:21 SEQ 0013
1 :DEVELOPED USING SYSMAC.C3
2 LIST ™
3 CNLIST MD,MC.CND
4 LENABL ABS,
S 167400 $SWR=167400
6 000001 $TN=1
12 .TITLE CINCCB NCVI1 DIAGNOSTIC
(1) :«COPYRIGHT (C) 1979
(1) :«DIGITAL EQUIPMENT CORP.
ﬂ; -mm MASS. 01754
g; .tPROGRM BY RAYMOND SHOOP
(1) nrms PROGRAM WAS ASSEMBLED USING THE PDP-11 mnosc SYSMAC
g ; *«PACKAGE (MAINDEC=11-DZQAC=C3), JAN 19, 1977
:t
(H’ .SBTTL BASIC DEFINITIONS
%)) :«INITIAL ADDRESS OF THE STACK POINTER sxx 1100 wws
1) 001100 STACK= 1100
(1) .EQUIV EMT,ERROR ::BASIC DEFINITION OF ERROR CALL
m .EQUIV IOT.SCOPE ::BASIC DEFINITION OF SCOPE CALL
(1) ; *MISCELLANEOUS DEF INITIONS
(1) 000011 HT= 11 ;CODE FOR HORIZONTAL TA8
N 000012 LF= 12 ..coos FOR LINE FEED
(1) 000015 CR= 15 :CODE FOR CARRIAGE RETURN
(N 000200 CRLF= 200 ::CODE FOR CARRIAGE RETURN~LINE FEED
1) 177776 PS= 177776 : :PROCESSOR STATUS WORD
(1) .EQUIV PS,PSW
(1) 177774 STKLMT= 177774 :sSTACK LIMIT REGISTER
(1) 177772 PIRQ= 177772 :PROGRAM INTERRUPT REQUEST REGISTER
(1) 177570 DSWR= 177570 ..mm SWITCH REGISTER
m 177570 DDISP= 177570 : HARDWARE DISPLAY REGISTER
(1) ; *GENERAL PURPOSE REGISTER DEF INITIONS
(1) 000000 RO= 0 :GENERAL REGISTER
(1) 000001 R1= 11 ..caem. REGISTER
(1) 000002 R2= X2 ::GENERAL REGISTER
(1) 000003 R3= 13 : ;GENERAL REGISTER
(1) 000004 R&= X% ; SGENERAL REGISTER
(1) 000005 RS= x5 :GENERAL REGISTER
(1) 000006 R6= 16 ..mm REGISTER
(1) 000007 R7= X7 :GENERAL REGISTER
(1) 000006 SP= 6 ..STACK POINTER
m 000007 PC= 17 : :PROGRAM COUNTER
(1) s*PRIORITY LEVEL DEFINITIONS
(1) 000000 PRO= 0 ::PRIORITY LEVEL 0
(1 000040 PR1= 40 S:PRIORITY LEVEL 1
1 000100 PR2= 100 ::PRIORITY LEVEL g
(1 000140 PR3= 140 ::PRIORITY LEVEL
(1) 000200 PRG= 200 ::PRIORITY LEVEL 4
(1) 000240 PRS= 240 S:PRIORITY LEVEL S
(1) 000300 PR6= 300 :PRIORITY LEVEL 9
(1) 000340 PR7= 340 SPRIORITY LEVEL
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CINCCB NCV11  DIAGNOST

CINCCB.PI 31-AUG=79 BASIC DEFINITIONS SEQ 0014
(N
(M s 'SWITCH REGISTER'* SWITCH DEF INITIONS
(1) 100000 Sw15= 100000
(1) 040000 Swié= 40000
(M 020000 Swi3= 20000
(1) 010000 SW12= 10000
(1) 004000 Swil= 4000
(1) 002000 Swi0= 2000
(1) 001000 SW09= 1000
(1) 000400 SwWw08= 400
(1 000200 Sw07= 200
(1) 000100 SW06= 100
(1) 000040 SW0S5= 40
(1) 000020 SW04= 20
(1) 000010 SW03= 10
(1) 000004 SW02= 4
(1) 000002 Sw0l= 2
(1) 000001 SW00= 1
(1) LEQUIV SW09,SW9
(1) LFQUIV SW08,Sw8
(1) LEQUIV SWO07,Sw7
(1) LEQUIV SWO06,SW6
(1) .EQUIV SW0S5,SWS
(1) LEQUIV SWO04,Swé
(1) .EQUIV SW03,Sw3
(1M EQUIV SW02,Sw?2
(1) LEQUIV SWO1,Sw1
(;) .EQUIV Sw00,SwO0
(1)
(1 :*«DATA BIT DEFINITIONS (BITO0O TO BIT1S)
(1 100000 BIT1S= 100000
(1) 040000 BIT14= 40000
(1) 020000 BIT13= 20000
(1) 010000 BIT12 10000
(1 004000 BITI 4000
(1) 002000 BIT10= 2000
(1) 001000 BIT09= 1000
(1) 000400 BIT08= 400
(1) 000200 BITO7= 200
(1) 00C100 BIT06 100
(1) 000040 BIT05= 40
1) 000020 BITO4= 20
(1) 000010 BIT03= 10
(1) 000004 BIT02= 4
(1) 000002 ' BIT01= 2
(1) 000001 BIT00= 1
(1) .EQUIV BIT09.BIT9
(1) .EQUIv BIT08,BIT8
(1) .EQUIlv BITO07,BIT7
(1) EQUIV BIT06,.BIT6
(1) EQUuIv BITO0S,BITS
(1) EQUIV BIT04,.BIT4
(1) EQUIV BIT03,BIT3
(1) EQUIV 8IT02.BIT?2
(1) EQuIv BITO1,BIT1
(1) EQUIvV BIT00,BITO
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CINCCB.P1T  31-AUG=79 11:21 BASIC DEF INITIONS SEQ 0015
(1)
(1) ;*BASIC ''CPU"" TRAP VECTOR ADDRESSES
(1) 000004 ERRVEC= 4 ::TIME OUT AND OTHER ERRORS
(1) 000010 RESVEC= 10 : SRESERVED AND ILLEGAL INSTRUCTIONS
(1) 000014 TBITVEC=14 STUBIT
(1) 00001 TRTVEC= 14 :: TRACE_TRAP
(1) 000014 BPTVEC= 14 : :BREAKPOINT TRAP (BPT)
(1) 000020 10TVEC= 20 : 1 INPUT/OUTPUT TRAP (I0T) *%SCOPE*»
(1) 000024 PWRVE(= ¢4 : ;POWER FAIL
(13 000030 EMTVEC= 30 :JEMULATOR TRAP (EMT) #*ERROR+
(1) 000034 TRAPVE (=34 ::""TRAP'* TRAP
(1) 000060 TKVEC= 60 ::TTY KEYBOARD VECTOR
(1) 000064 TPVEC= 64 ::TTY PRINTER VECTOR
(1 000240 PIRQVE (=240 : ;PROGRAM INTERRUPT REQUEST VECTOR
14 .SBTTL MEMORY MANAGEMENT DEF INITIONS
(1)
Sk ;*KT11 VECTOR ADDRESS
(1)
(D 00025C MMVEC= 250
(
() ;*KT11 STATUS REGISTER ADDRESSES
(
(1) 177572 SRO= 177572
(1) 177574 SR1=- 177574
(1) 177576 SR2= 177576
(M 172516 SR3= 172516
(1)
Sk ;*USER ''I'" PAGE DESCRIPTOR REGISTERS
(1)
(1) 177600 UIPDRO= 177600
(1) 177602 UIPDR1= 177602
(1) 177604 UIPDR2= 177604
(1) 177606 UIPDR3= 177606
(1) 177610 UIPDR&= 177610
(1) 177612 UIPDRS= 177612
(1) 177614 UIPDRé= 177614
(D 177616 UIPDR7= 177616
(
Sk :*USER ‘D'* PAGE DESCRIPTOR REGISTORS
(1
(1) 177620 UDFDRO= 177620
(1) 177622 UDPDR1= 177622
(1) 177624 UDPDR2= 177624
(1) 177626 UDPDR3= 177626
(1 177630 UDPDR4= 177630
(1) 177632 UDPDRS= 177632
(1) 177634 UDPDRé= 177634
(1) 177636 UDPDR7= 177636
(1 :*USER "'I'* PAGE ADDRESS REGISTERS
(1) 177640 UIPARQ= 177640
(1) 177642 UIPAR1= 177642
(1) 177644 UIPAR2= 177644
(1) 177646 UIPAR3= 177646
(1 177650 UIPARG= 177650
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CINCCB.F11 31-AUG=79 11:21 MEMORY MANAGEMENT DEF INITIONS SEQ 0016
177652 UIPARS= 177652
177654 UIPARG= 177654
177656 UIPAR7= 177656
;*USER 'D'' PAGE ADDRESS REGISTERS
177660 UDPARO= 177660
177662 UDPAR1= 177662
177664 UDPAR2= 177664
177666 UDPAR3= 177666
177670 UDPAR4= 177670
177672 UDPARS= 177672
177674 UDPARG= 177674
177676 UDPAR7= 177676
;*SUPERVISOR ''I'" PAGE DESCRIPTOR REGISTERS
172200 SIPDRO= 172200
172202 SIPDR1= 172202
172204 SIPDR2= 172204
172206 SIPDR3= 172206
172210 SIPDR4= 172210
172212 SIPDRS= 172212
172214 SIPDR6= 172214
172216 SIPDR7= 172216

;*SUPERVISOR 'D'' PAGE DESCRIPTOR REGISTERS
SDPDRO= 172220

172222 SDPDR1= 172222
172224 SDPDR2= 172224
172226 SDPDR3= 172226
172230 SDPDR4= 172230
172232 SDPDRS= 172232
172234 SDPDR&= 172234
172236 SDPDR7= 172236
;*SUPERVISOR ''I'' PAGE ADDRESS REGISTERS
172240 SIPARO= 172240
172242 SIPAR1= 172242
172244 SIPAR2= 172044
172246 SIPAR3= 172246
172250 SIPAR4= 172250
172252 SIPARS= 172252
172254 SIPARG= 172254
172256 SIPAR7= 172256
:*SUPERVISOR 'D'* PAGE ADDRESS REGISTERS
172260 SDPARQ= 172260
172262 SDPAR1= 172262
172264 SDPAR2= 172264
172266 SDPAR3= 170266
172270 SDPARG= 172270
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172272 SDPARS= 172272
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CZNCCB.P1T 31-AUG=79 11: 21 MEMORY MANAGEMENT DEF INITIONS SEQ 0017
1) 172274 SDPAR6= 172224
(}) 172276 SDPAR7= 172276
1)
(}) :*KERNEL ''I'' PAGE DESCRIPTOR REGISTERS
(1)
(N 172300 KIPDRO= 172300
(1) 172302 KIPDR1= 172302
(1 172304 KIPDR2= 172304
(1N 172306 KIPDR3= 172306
(1M 172310 KIPDR4= 172310
(1 172312 KIPDRS= 172312
(1) 172314 KIPDR6= 172314
(}) 172316 KIPDR7= 172316
(1)
(}) ;*KERNEL 'D'' PAGE DESCRIPTOR REGISTERS
(1)
(1) 172320 KDPDRO= 172320
(1) 172322 KDPDR1= 172322
(1) 172324 KDPDR2= 172324
(1) 172326 KDPDR3= 172326
(1) 172330 KDPDR4= 172330
1 172332 KDPDRS= 172332
P 172334 KDPDR6= 172334
(}) 172336 KDPDR7= 172336
(1)
§1; :*KERNEL '‘I'" PAGE ADDRESS REGISTERS
(1) 172340 KIPARO= 172340
(1) 172342 KIPAR1= 172342
(1) 172344 KIPAR2= 172344
(1 172346 KIPAR3= 172346
(N 172350 KIPAR4= 172350
(1) 172352 KIPARS= 172352
(1) 172354 KIPAR6= 172354
(}; 172356 KIPAR7= 172356
(
%}; ;*KERNEL ‘D'’ PAGE ADDRESS REGISTERS
(1) 172360 KDPARO= 172360
(1) 172362 KDPAR1= 172362
(1) 172364 KDPARZ2= 172364
(1) 172366 KDPAR3= 172366
(1) 172370 KDPAR4= 172370
(1) 172372 KDPARS= 172372
(1) 172374 KDPARG6= 172374
g}; 172376 KDPAR7= 172376
15
16 172760 ABASE=172760 ;NCV11 BASE ADDRESS
17 140370 AVECT1=140370 ;BR LEVEL 6 VECTOR TO 370
18 170420 ACDW1=170420 JNCV1Y CLOCK ADDRESS
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CINCCB NCVI1  DIAGNOSTIC MACY11 30G(1063) 31-AUG=79 13:10 PAGE 2

000100 .=100
000100 000104 000200 000002 104,200,2 ;B EVENT SAFE GUARD

CINCCB.P1] 31=-AUG=79 11:21 MEMORY MANAGEMENT DEF INITIONS SEQ 0018
20
%1 LSBTTL OPERATIONAL SWITCH SETTINGS
(1) .
(1) o SWITCH USE
(1) ;*® 2 esssss = ecscsscscccscssscsscees
(1) o 15 HALT ON ERROR
1) i 14 LOOP ON TEST
(1) :® 13 INHIBIT ERROR TYPEOUTS
(1 :® 1 INHIBIT ITERATIONS
ap 8 10 BELL ON ERROR
1) . 9 LOOP ON ERROR
(1) A 8 LOOP ON TEST IN SWR<7:0>
$2 .SBTTL TRAP (CAT(CHER
1)
(1) 000000 .=0
) :*ALL UNUSED LOCATIONS FROM & = 776 CONTAIN A "'.+2 HALT"'
1) ;*SEQUENCE TO CATCH ILLEGAL TRAPS AND INTERRUPTS
(1) :*LOCATION O CONTAINS O TO CATCH IMPROPERLY LOADED VECTORS
(1) 000174 =174
(1) 000174 000000 DISPREG: .WORD 0 ;. SOF TWARE DISPLAY REGISTER
(1) 000176 000000 SWREG: .WORD 0 ;.SOF TWARE SWITCH REGISTER
(1) .SBTTL STARTING ADDRESS(ES)
(1) 000200 000137 002034 JMP #BEGIN ;;JUMP TO STARTING ADDRESS OF PROGRAM
23 000204 000137 002014 JMP RTRT JRESTART ADDRESS
g 000210 000137 002022 JMP TESTER ;STARTING ADDRESS WHEN IN THE OPTION AREA
6
7

rONORONY




G ¢
CINCCB  NCVIT _ DIAGNOSTIC MACY11 30G(1063) 31-AUG-79 13:10 FAGE 3
CINC(B.P11 31-AUG=79 11:21 ACT11 HOOKS SEQ 0019

29 LSBTTL  ACT11 HOOKS

g;; .'.'..Q't.".l'lttttt'ttltt't.'.'Q'Qt"'t'.'.t'..'Qt.'t'.'.."'tt.t
(1M ;HOOKS REQUIRED BY A(T,?

(1) 000106 $SVP(=. ;SAVE PC

(1) 000046 .=46

(1) 000046 030166 $ENDAD ss1)SET LOC.46 TO ADDRESS OF SENDAD [N .SEOP
(1 000052 .=52

(1) 000052 000000 .WORD O ;:2)SET LOC.S52 TO ZERO

(1) 000106 .=$SVP( ;. RESTORE PC

30 001000 .=1000

?1 .SBTTL APT PARAMETER BLOCK

(1)

(2) IR R A AR AR A AN AN A AR AR AR AN AR AR AR AR AR AR RN A AN AARA AR R AR AR R AR AR AR RS R
1) ;SET LOCATIONS 24 AND 44 AS REQUIRED FOR APT

(2) AR R R AR R AN AR AR AR AR R AR R AN AT AR AR A AR A AR AN AR A R RN AR IR R AR RS
) 001000 LSX=, ;. SAVE CURRENT LOCATION

(1) 000024 .=24 ;.SET POWER FAIL TO POINT TO START OF PROGRAM

(1) 000024 000200 200 ;:FOR APT START UP

(D) 000044 =44 ;;POINT TO APT INDIRECT ADDRESS PNTR.

(1) 000044 001000 $APTHDR ;.POINT TO APT HEADER BLOCK

(1) 001000 .= 89X JRESET LOCATION COUNTER

(2) PIRAA A AR AR AR AR AR A AR AR A ARNAAA AR RR R AR AR AN AR RRRRARAR AR RN TR S
(1) ;SETUP APT PARAMETER BLOCK AS DEFINED IN THE APT-PDP11 DIAGNOSTIC
f;; ;INTERFACE SPEC.

(1) 001000 $APTHD :

(1) 001000 000000 $HIBTS: WORD O ;:TWO HIGH BITS OF 18 BIT MAILBOX ADDR.
(1) 001002 001174 $SMBADR: .WORD  SMAIL ; ;ADDRESS OF APT MAILBOX (BITS 0-15)

(1) 001004 000030 $TSTM: _WORD 30 ::RUN TIM OF LONGEST TEST

(1) 001006 000010 $PASTM: [ WORD 10 ;;RUN TIME IN SECS. OF 1ST PASS ON 1 UNIT (QUICK VERIFY)
(1) 001010 000030 $UNITM: _WORD 30 ::ADDITIONAL RUN TIME (SECS) OF A PASS FOR EACH ADDITIONAL UNIT
(1) 001012 000031 .WORD  SETEND-SMAIL/2 ..LENGTH MA]LBOX-ETABLE (WORDS)
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000377

MACY11 30G(1063)

31-AUG=79

COMMON TAGS
COMMON TAGS

2222222332 22222 2222222222222 2202022222 RRR Rl Rl

'THIS TABLE CONTAINS VARIOUS COMMON STORAGE LOCATIONS
;*USED IN THE PROGRAM.

.SBTTL

[olelelelslslalsleleldolelelololslels)

g

DDISP

OoO—=NO

H 2
13:10 PAGE 3-1

s sSTART OF

; sCONTAINS
;s CONTAINS
;s CONTAINS
;s CONTAINS
: CONTAINS
; sCONTAINS
: sCONTAINS
;o CONTAINS
:;CONTAINS
: JCONTAINS
;s CONTAINS
;s CONTAINS
: ;CONTAINS

COMMON TAGS

THE TEST NUMBER

ERROR FLAG

SUBTEST ITERATION COUNT
SCOPE LOOP ADDRESS
SCOPE RETURN FOR ERRORS
TOTAL ERRORS DETECTED
ITEM CONTROL BYTE

MAX. ERRORS PER TEST
PC OF LAST ERROR INSTRUCTION
ADDRESS OF 'GOOD' DATA
ADDRESS OF 'BAD' DATA
'GOOD' DATA

'BAD' DATA

: ;RESERVED==NOT TO BE USED

;sAUTOMATIC MODE INDICATOR
;s INTERRUPT MODE INDICATOR

;oADDRESS OF SWITCH REGISTER
; ;ADDRESS OF DISPLAY REGISTER
;:TTY KBD STATUS
;.TTY KBD BUFFER
:2TTY PRINTER STATUS REG. ADDRESS
;:TTY PRINTER BUFFER REG. ADDRESS
;;CONTAINS NULL CHARACTER FOR FILLS
;2CONTAINS # OF FILLER CHARACTERS REQUIRED
;2 INSERT FILL CHARS. AFTER A "LINE FEED'’
;2 TERMINAL AVAILABLE'' FLAG (BIT<07>=0=YES)
..MX NUMBER OF ITERATIONS

;ESCAPE ON ERROR ADDRESS

<207><377><377> ..CODE FOR BELL

/?/
<15>
<12>

;QUESTION MARK
..CARRIAGE RETURN
;LINE FEED

. t't"ittit.t.ttt't'll"."it‘t.ttt't'."iﬁ'i.“ttttltttt.tt'tt'

APT MAILBOX-ETABLE

;;tﬁtﬁtttttﬁ.ttﬁﬁttl'ttﬁ'tﬁﬁtttt.tﬁtﬂﬁil'tt.titittt.tttttﬁttttttt

.=1100
$CMTAG:

.WORD
$TSTNM: _BYTE
$ERFLG: .BYTE
$ICNT: .WORD
$LPADR: .WORD
$LPERR: .WORD
$ERTTL: .WORD
$ITEMB: .BYTE
$ERMAX: .BYTE
$ERRP(C: .WORD
$GDADR: .WORD
$8DADR: .WORD
$GDDAT: .WORD
$8DDAT: .WORD

.WORD

.WORD
$AUTOB: .BYTE
$INTAG: .BYTE

.WORD
SWR: .WORD
DISPLAY: .WORD
$TKS: 177560
$TKB: 177562
$TPS: 177564
$TPB: 177566
$NULL: .BYTE
$FILLS: .BYTE
$FILLC: .BYTE
$TPFLG: .BYTE
$STIMES: 0
$ESCAPE :0
$BELL: .ASCIZ
$QUES: .ASCII
$CRLF: LASCII
$LF: LASCIZ

LSBTTL
.EVEN
SMAIL :
$MSGTY: .WORD
$FATAL: .WORD
$TESTN: .WORD
$PASS: .WORD
$DEVCT: .WORD
$UNIT: .WORD
$MSGAD : .WORD

AMSGTY
AFATAL
ATESTN
APASS

ADEVCT
AUNIT

AMSGAD

;;APT MAILBOX
:;MESSAGE TYPE CODE
;;FATAL ERROR NUMBER
;s TEST NUMBER

;;PASS COUNT
;:DEVICE COUNT
;:1/70 UNIT NUMBER

; MESSAGE ADDRESS

SEQ 0020
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CZNCCB.

(2)
(2)
(2)
(2)
(2)
(2)
(2)
(2)
(2)
(2)
(2)
(2)
(2)
(2
(2)
(2)
(2)
(2)
(2)
(2)
(2)
(2)
(2)
(2)
(2)
(2)
(2)
(2)
(2)
(2)
(2)
(2)
(2)
(2)
(2)
(2)
(2)

NCV1T
P11

001224
001225

001226

001230
001231
001232
001234
001235
001236
001240
001241
001242
001244
001246
001250
001252
001254
001256

DIAGNOST
31-AUG=79

140370
000000
172760
000000
170420

I
1

C
i

:21

MACY11 30G(1063)

31-AUG=79

APT MAILBOX-ETABLE

$MSGLG:
$ETABLE :
$ENV:
SENVM:
$SWREG:
$USWR :
$CPUOP :

L
L]
.

.WORD

.WORD
.WORD
.WORD

! VIR
: .BYTE

AMSGL G

AENV
AENVM
ASWREG
AUSWR
ACPUOP

AMAMS 1
AMTYP1

I 2
13:10 PAGE 3-2

SEQ 0021

; sMESSAGE LENGTH

:;APT ENVIRONMENT TABLE

: ;ENVIRONMENT BYTE

: ;ENVIRONMENT MODE BITS

::APT SWITCH REGISTER

;sUSER SWITCHES

;:CPU TYPE ,OPTIONS

BITS 15-11=CPU TYPE
11/704=01,11/705=02,11/20=03,11/40=04,11/45=05
11/70=06,PDQ=07,0=10

BIT 10=REAL TIME CLOCK

BIT 9=FLOATING POINT PROCESSOR

BIT 8=MEMORY MANAGEMENT

;sHIGH ADDRESS.M.S. BYTE

::MEM. TYPE .BLK#

MEM.TYPE BYTE <-- (HIGH BYTE)
900 NSEC CORE=001
300 NSEC BIPOLAR=002
500 NSEC M0S=003

;sHIGH ADDRESS ,BLKA#1 -

MEM. LAST ADDR =3 BYTES.THIS WORD AND LOW OF '‘TYPE'' ABOVE
;:;HIGH ADDRESS.M.S. BYTE
..HEH TYPE ,BLKA?
:MEM.LAST ADDRESS.BLK#?2

::HIGH ADDRESS.M.S.BYTE

..HEH TYPE ,BLKA3

;MEM.LAST ADDRESS.BLK#3

: sHIGH ADDRESS.M.S.BYTE

: sMEM. TYPE BLK#4

: :MEM.LAST ADDRESS ,BLKA#S

: : INTERRUPT VECTORA1,BUS PRIORITYA1

;s INTERRUPT VECTOR#28US PRIORITYA2

s ;BASE ADDRESS OF EQUIPMENT UNDER TEST

;:DEVICE MAP

2 ;CONTROLLER DESCRIPTION WORD#1
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032502
032502
032502
032502
032502
032502
032502
032502
032502
032502
032502
032502
032502
032502
032502
032502
032502
032502
032502
032502
032502
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032732
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032732
032732
032732
032732
032732
032732
032732
032732
032732
032732
032732
032732
032732
032732
032732
032732

ERROR POINTER TABLE SEQ 0022

.SBTTL ERROR POINTER TABLE

;*THIS TABLE CONTAINS THE INFORMATION FOR EACH ERROR THAT CAN OCCUR.
;*THE INFORMATION IS OBTAINED BY USING THE INDEX NUMBER FOUND IN
;*LOCATION SITEMB. THIS NUMBER INDICATES WHICH ITEM IN THE TABLE IS PERTINENT.

;*NOTE1: IF SITEMB IS O THE ONLY PERTINENT DATA IS (SERRPC).

: *NOTEZ2: EACH ITEM IN THE TABLE CONTAINS 4 POINTERS EXPLAINED AS FOLLOWS:

- I5OIS 19 1E En S

R F ERDHS 19 1 B0 oma

$ERRTB:
EM1,DH2,DT2,DFO ;M8026 NCV11 TIMEOUT
EM2,DH2,DT2,DFO ;M8026 COMMAND-STATUS REGISTER ERROR
EM3,DH2,DT2,DFO ;M8026 SPECIAL FUNCTION REGISTER ERROR
EM&4,DH2,DT2,DFO ;M8026 WORD COUNT REGISTER ERROR
EM5,DH2,DT2,DFO ;MB026 BUS ADDRESS REGISTER ERROR
EM6,DH2,DT2,DFO ;M8026 OFFSET REGISTER ERROR
EM7 ,DH2,DT2,DFO ;M8026 DUAL REGISTER SELECTION ERROR
EM10,DH2.DT2.DFO ;M8026-M8036 LOW 16 BIT Z COUNT ERROR
EM11,DH2,DT2.DFO ;M8026-M8036 HIGH 16 BIT Z COUNT ERROR
EM12,DH2,DT2,DFO ;MB8026 Z COUNT STATUS ERROR
EM13,DH2,DT2,DFO :M8026 Z COUNT INTERRUPT ERROR
EM14,DH2,DT2,DFO ;MB036 JOYSTICK STATUS ERROR
EM15,DH2,DT2,DFO :M8036 JOYSTICK DATA ERROR
EM16,DH2,.DT2,DF0 ;MB036 DATA INCREMENT ERROR
EM17,DH2,DT2,DFO ;MB036 DATA DECREMENT ERROR
EM20,DH2,DT2,DFO ;M8026-M8036 MATRIX MODE ADDRESS MAKER DATA ERROR
EM21,DH2,DT2,DFO ;M8026 LIST MODE ADDRESS MAKER DATA ERROR
EM22.DH2,DT2,DFO ;M8026 LIST MODE TRANSFER BUS ADDRESS ERROR
EM23,DH2,DT2,DFO ;M8026 LIST MODE TRANSFER WORD COUNT ERROR
EM24,DH2,DT2,DFO ;M8026 LIST MODE TRANSFER OFFSET ERROR

EM25,DH2,DT2,DFO ;M8026 TIMEOUT STATUS ERROR
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ERROR POINTER TABLE SEQ 0023
032732 EM26,DH2,DT2,DFO :MB026 TIMEOUT INTERRUPT ERROR
032732 EM27.DH2.DT2,DFO :M8026 SET "EVENT'' OR "‘TIME'' DATA ERROR
032732 EM30,DH2.DT2,DFO ;M8026 CELL INCREMENT DATA ERROR
032732 EM31,DH2.DT2,DFO :M8026 CELL OVERFLOW STATUS ERROR
032732 EM32.DH2.DT2,DFO ;MB026 CELL OVERFLOW INTERRUPT ERROR
032744 EM33,DH3.DT3,DFO :MB8026 MATRIX MODE ADDRESS MUX ERROR
032732 EM34,DH2.DT2,DFO :MB026 ‘'‘TESTX'' FUNCTION ERROR
032760 EM35,DH4 ,DT4,DFO ;M8026 DATA ERROR WHEN TRANSFERING TO EXTENDED MEMORY
032732 EM36,DH2,.DT2,DF0 :MB026 LIST MODE TRANSFER STATUS ERROR
032744 EM37,DH3,DT3,DFO :M8026 LIST MODE TRANSFER DATA ERROR
032732 EM40,DH2.DT2,DFO : JUMPER-MB026-M7952 "EVENT'' OR "‘TIME'' MARK ERROR
032776 EM41,DH1.DTS,DFO :M7952 CLOCK TIMEOUT
032724 EM&2.,DH1,DT1,DFO :M8217 INTERRUPT LEVEL ERROR

:DiL11 BLASTER COMM. ADDRESSES (THE OPERATOR MUST CHANGE IF DIFFERENT)

DLICSR: 176510 ;INPUT STATUS REG.

DLIBD: 176512 :INPUT DATA

DLOCSR: 176514 :OUTPUT STATUS

DLODB: 176516 ;OUTPUT DATA

;VSVO1 ADDRESSES (THE OPERATOR MUST CHANGE IF DIFFERENT)

VTCHAR: 172600 ;CHAR. STATUS

VTYPOS: 172602

VIXPOS: 172603

VTICXY: 172604

VICSR: 172620 sMAP STATUS

VIMAP: 172622

VTPX: 172624

VTINT: 172630

:TESTER ADDRESSES (THE OPERATOR MUST CHANGE IF DIFFERENT)

DACSR 176416 JKNOWN GOOD D/A STATUS

DACO: 176420

DAC1: 176422

DAC2: 176424

DAC3: 176426
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CINCCB.P1T 31=-AUG=79 11:21 ERROR POINTER TABLE SEQ 0024
gi) :KWV11 PROGRAM GENERATED ADDRESSES (THE OPER. ONLY HAS TO CHANGE ‘'S$CDW1°)
92 001740 170420 KWCSR: ACDW1 ;KWV11 STATUS REGISTER
93 001742 170421 KWCSR1: ACDW1+1 ;KWV11 STATUS REG. HIGH BYTE
% 001744 170422 KWPSR: ACDW1+2 ;KWV11 PRESET REGISTER
357: sNCV11 PROGRAM GENERATER ADDRESSES (THE OPER. ONLY HAS TO CHANGE °'S$BASE')
98 001746 172760 CSR: ABASE
99 001750 172762 OFF : ABASE +2
100 001752 172764 WCR: ABASE +4
101 001756 172766 BAR: ABASE +6

102 001756 172770 SFR: ABASE+10

103 001760 172772 ADM: ABASE+12

106 001762 172774 JOY: ABASE+14

105 001764 172776 BAR1: ABASE+16

106 001766 172761 CSRHB: ABASE+1

}g; 001770 172771 SFRHB: ABASE+11

1% sNCV11 PROGRAM GENERATED VECTORS (THE OPER. ONLY HAS TO CHANGE LOW 9 BITS OF 'SVECT1'")
111 001772 140370 VECTAO: AVECT1

112 001774 140372 VECTA1: AVECT1+2

113 001776 140374 VECTBO: AVECT1+4

Hg 002000 140376 VECTB1: AVECT1+6

1111‘} sNCV11 PROGRAM GENERATED BR LEVEL (THE OPER. ONLY HAS TO CHANGE TOP 3 BITS OF °"SVECT1')
Hg 002002 000300 BRLEV: 300 ;BR LEVEL 6

120 002004 000000 STEMP: 0

121 002006 000001 CPUDLO: 1

122 002010 000020 CPUDL1: 20

}gz 002012 000004 CPUDL2: 4

125 040000 CLRWCO=BIT14

126 004000 CLRALL=BITN

127 000400 ENDDMA=81T8

128 000010 TSTDMA=BIT3

129 000004 TSTCON=BIT?

130 000002 TESTZ=8BIT1

131 000001 REDJOY=BITO

}%% 000000 MORTST=0 ;DEFINE TO RESTORE TEST CODE
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‘RTRT:  INC AGAN

ERROR POINTER TABLE
;SET RESTART FLAG

BR RTRTA
TESTER: INC WFMODE ;SET FLAG INDICATING OPTION AREA MODE
CLR AGAN
BR RTRTA
BEGIN: (LR AGAN
CLR WFMODE ;CLEAR FLAG INDIC. OPTION TEST AREA MODE

RTRTA:
.SBTTL INITIALIZE THE COMMON TAGS
;;CLEAR THE COMMON TAGS (SCMTAG) AREA

MOV #SCMTAG .R6 ;:FIRST LOCATION TO BE CLEARED
CLR (R6)+ ;3CLEAR MEMORY LOCATION

WP #SWR ,R6 ;:DONE?

BNE 6 ;:L00P BACK IF NO

MOV J2SETUP THE STACK POINTER

#STACK, SP
;:INITIALIZE A FEW VECTORS
lgsoe SFIOTVEC ;:10T VECTOR FOR SCOPE ROUTINE
M:ouwvsmmc:’:'-'gertvgcm FOR ERROR ROUTINE

FSTRAP amws;e ":".7"5" zecroa FOR TRAP CALLS
Mué;(tm 7

;POMER FAILURE VECTOR
ke

Qe %o
P

EVEL 7
; SETUP END-OF-PROGRAM COUNTER
NITIALIZE NUMBER OF ITERATIONS

Qe O
b=

s333320333333323
e
3 "
:
i
ig;:§§a
Sagiiy
gsguas
E L
: 3

2e
G
:
A
E

ICH REGISTER
GISTER
SWR

TRAP OCCURRED
IS NOT = -1

=
g
¢

- 2;;:: :g.:' .~
i
,3=5§§
S >
§ig§§E
Feb

&
3

65% 33
#658, (SP) J:SET UP FOR TRAP RETURN

3% 332228
2
5
:

648:
65%:

-]
-
(=

Y
(SP)+,a#ERRVEC :;RESTORE ERROR VECTOR

$PASS ::CLEAR PASS COUNT

#APTSIZE ,SENVM ;:TEST USER SIZE UNDER APT
67% ;s YES ,USE NON-APT SWITCH
#SSWREG, SWR ::NO,USE APT SWITCH REGISTER

3re2 333

67%:

SEQ 0025
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CINCCB.P1T  31-AUG- 21 PROGRAM NAME SEQ 0026
149 .SBTTL TYPE PROGRAM NAME
(1) ::TYPE THE NAME OF THE PROGRAM IF FIRST PASS
(1) 002314 005227 177777 INC -1 ssFIRST TIME?
(1) 002 001044 BNE 688 ;2BRANCH IF NO
1) 852737 030166 000042 c™P NSENDAD,a#62  ::ACT=11?
1) 1440 BEQ 685 *:BRANCH IF YES
1) 104401 002400 TYPE 698 ::TYPE ASCIZ STRING
(2) - .SBTTL GET VALUE FOR SOFTWARE SWITCH REGISTER
2) 005737 000042 ST w62 :;ARE WE RUNNING UNDER XXDP/ACT?
) 101; BNE 70$ +BRANCH IF YES
(2) 7 001214 000001 C(MPB  SENV.M +3ARE WE RUNNING UNDER APT?
(2) ;z 1 BEQ 708 $BRANCH IF YES
) 001140 000176 C™P SWR , #SWREG L SOFTWARE SWITCH REG SELECTED?
) 1005 BNE 718 S:BRANCH IF NO
) %Zzﬂ q GTSWR ::GET SOFT=SWR SETTINGS
2) 00040 BR 718
% 002372 112737 000001 001134 ;?:: MOVEB  #1,SAUTO8 ::SET AUTO=MODE INDICATOR
a 0022376 000415 BR 688 ::GET OVER THE ASCIZ
8; e gég% LASCIZ <CRLF>#CINCCB NCV11 DIAGNOSTICA<CRLF>
150 .SBTTL PRIME THE NCV11 ADDRESSES FROM THME DEFAULT VALUES
151 002432 112737 000103 052410 MOVB  #'C.RUNIT :LOAD ‘TONTROL'® SECTION BUS TRAP FLAG
152 002440 012737 003212 000004 MOV #MBUSTRP , MERRVEC :LOAD BUS TRAP RETURN ADDRESS
153 002446 012700 001746 MOV #CSR,RO :GET ADDRESS POINTER
154 002452 013701 001250 MOV $BASE ,R1 *GET DEFAULT ADDRESS
155 002456 010120 18: MOV R1, (RO)+ :LOAD AN VALUE
156 002460 062701 000002 ADD #2.R1 :BUMP THE VALUE
157 002464 022700 001766 C™P #CSRHB.RO :TEST IF DONE
158 002470 001372 BNE 18 *BR IF NOT
159 002472 013710 001250 MOV $BASE , (RO) :LOAD ODD BYTE
160 m 220 INC (RO) + -ADDRESSES
161 013710 001250 MOV $BASE , (RO)
162 002504 8%;50 000011 ADD #11, (RO) + :
163 002510 013701 001244 MOV SVECT1.R1 :GET DEFAULT VECTOR
164 002514 0101 MOV R1.R2 :COPY R1
165 16 SWAB  R2 *EXCHANGE BYTES
166 20 177437 BIC #177437 ,.R2 *STRIP OFF ALL BUT BR LEVEL BITS
167 01 002002 MOV R2 ,BRLEV *SAVE FOR USE LATER
168 0462701 160000 BIC #160000,R1 :CLEAR OFF BR LEVEL
169 002534 010120 2s: MOV R1, (RO)+ :LOAD VECTOR
170 002536 005721 ST (R1)+ :BUMP THE VALUE
171 002540 022700 002002 P #VECTB142,R0  :TEST IF DONE
7 g Bg = ¢
1 1 001254 001740 MOV $CDW1 ,KWCSR :GET CLOCK ADDRESS
174 S4 013737 001740 001742 MOV KWCSR.KWCSR1  :SET CLOCK HIGH BYTE ADDR.
175 002562 013737 001740 001744 MOV KWCSR_KWPSR *SET CLOCK PRESET ADDRESS
176 002570 005237 001742 INC KWCSR1
177 0025764 062737 000002 001744 ADD #2 . KWPSR
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CINCCB.P1T  31-AUG-79 11:21 DIAGNOSTIC IDENTIFICATION TYPEOUT SEQ 0027
179 .SBTTL DIAGNOSTIC IDENTIFICATION TYPEOUT
180 002602 005737 050032 ST AGAN :TEST IF RESTART
181 002606 001017 BNE  RBEGO ‘BR IF YES
182 002610 105737 001134 TSTB  $AUTOB (TEST IF ACT/AP!
183 002614 001405 BEQ 3% BR IF NOT
184 002616 012737 177777 050022 MOV #=1,RUNDIF “INDICATE TO RUN DIFLIN IN CHAIN MODE
185 002624 000137 003360 JW¥  LoGiC :YES; RUN LOGIC AND DIFLIN TESTS
186 002630 005737 050024 38: TST  WFMODE TEST IF OPTION CHECKOUT MODE
187 002634 001402 BEQ 4 ‘BR IF YES
188 002636 104401 TYPE
189 002640 046172 LISTO :TELL OPERATOR ABOUT OPTION AREA TESTS
190 002642 104401 4$: TYPE
191 002644 046402 LIST :TELL OPERATOR ABOUT THE TEST
192 .SBTTL KEYBOARD COMMAND DECODER
193 002646 104401 047015 RBEGO: TYPE, LISTI :PRINT 'DOT"’
196 002652 104411 1$: RDL IN :READ THE RESPONSE
195 002654 013637 052410 MOV @(SP)+,RUNIT  :GET THE CHARACTER
196 002660 142737 000040 052410 BICB  #40,RUNIT :ENSURE UPPER (ASE
197 002666 112737 000042 052411 MOVB  #'''.RUNIT+1 :FIX ASCII MESSAGE
198 002676 122737 000101 052410 C(MPB  #'A.RUNIT :DETERMINE IF AN A
199 002702 001002 BNE 28 :BR IF NOT
200 002704 000137 003300 J  TFSITE :RUN_SITE ADJUSTMENT LOOP
201 002710 005737 050024 28: TST  WFMODE :TEST IF ON THE TESTER
202 002714 001406 BEQ 3% :BR IF NOT
203 002716 122737 000102 052410 CMPB  #'S,RUNIT :DETERMINE IF AN B
204 002724 001002 BNE 3$ :BR IF NOT
205 002726 000137 042272 JMP  BLAST RUN THE BLASTER SECTION
206 002732 122737 000104 052410 3$: CMPB  #'D,RUNIT :DETERMINE IF AN D
207 002740 001004 BNE 4S8 :BR IF NOT
208 002742 005037 050022 CLR  RUNDIF *INDICATE DIFLIN IS NOT TO BE RUN
209 002746 000137 043546 JW  DIFLIN :AND RUN IT
210 002752 122737 000106 052410 48: (MPB  #'F,RUNIT DETERMINE IF AN F
211 002760 001005 BNE 5% :BR IF NOT
212 002762 012737 177777 050022 MOV #-1,RUNDIF *INDICATE RUN DIFLIN AFTER THE LOGIC TEST
213 002770 000137 003360 JMP  LOGIC :AND RUN LOGIC TEST
214 002774 005737 050024 5%: TST  WFMODE TEST IF OPTION CHECKOUT MODE
215 003000 001406 BEQ 6% :BR_IF NOT
216 003002 122737 000111 052410 CMPB  #'I,RUNIT DETERMIN IF AN I
217 003010 001002 BNE 68 :BR IF NOT
218 003012 000137 047022 JMP  POTIME *RUN_IN-HOUSE ADJUSTMENT LOOP
219 003016 122737 000114 052410 68: (MPB  #'L,RUNIT :DETERMINE IF AN L
220 003024 001004 BNE 7$ :BR IF NOT
221 003026 005037 050022 CLR  RUNDIF *INDICATE NO DIFLIN
222 003032 000137 003360 JMP  LOGIC
223 003036 122737 000110 052410 7%: (MPB  #'H.RUNIT :DETERMINE IF AN H
224 003044 001002 BNE 108 ‘BR IF NOT
225 003046 000137 002034 JMP  BEGIN :START OVER
226 003052 122737 000037 052410 10$:  (MPB  #37,RUNIT :DETERMINE IF AN '*2"'
227 003060 001002 BNE 118 :BR IF NOT
228 003062 000137 002034 JMP  BEGIN *START OVER
229 003066 005737 050024 11$:  IST  WFMODE :TEST IF OPTION CHECKOUT MODE
230 003072 001406 BEQ  12% :BR_IF NOT
231 003074 122737 000124 052410 CMPB  #'T,RUNIT :DETERMINE IF AN T
232 003102 001002 BNE 128 :BR IF NOT
233 003104 000137 042020 JMP  BTALK :KEYBOARD LOOP WITH BLASTER

234 003110 005737 050024 12%: TST WFMODE ;TEST IF OPTION CHECKOUT MODE
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052410
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052410

052410
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13%:

14%:

15%:

31-AUG=79

KE YBOARD COMMAND DECODER
BEQ 138
CMPB #'C,RUNIT
BNE 13%
JMP PBLAST
CMPB #'0,RUNIT
BNE 14$
JMP XTTY
CMPB #'SRUNIT
BNE 5%
GTSWR
BR RBE GO
CMPS #'M_RUNIT
BNE FATFNG
MOV #377 ,RUNDIF
JMP DIFLIN

T 3
13:10 PAGE 7-1

;BR IF NOT

JDETERMINE IF AN (

:BR IF NOT

;RUN M8036 PROM BLASTING CODE
JDETERMINE IF AN O

:BR IF NOT

sCHANGE THE TTY ADDRESS
;DETERMINE IF AN S

:BR IF NOT

:GET SWITCH REGISTER VALUE
;RESTART

;DETERMINE IF AN M

:BR IF NOT

JINDICATE DIFLIN WITH EXPAND REPORT
JRUN DIF LIN

SEQ 0028
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104401
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000616

104401
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000000
104401
000137

104401
104412
012600
001754
005710

012701
010021
005720
020127
001373
000137

104401
104401
005037
104411
013637
142737

052340

175712

052430
002014

052520

001144

001154
002044

051164
041342
040356
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003352
003352

040356

KEYBOARD COMMAND DECODER

:THE OPERATOR SELECTED THE WRONG THING - THEY SOMETIME HAVE 'FAT FINGERS''
FATFNG: TYPE

$QUES ;TYPE QUESTION MARK

BR RBEGO

JRETURN TO HERE UPON UNEXPECTEC BUS TRAP
BUSTRP: TYPE, FATALO JREPORT FATAL TRAP TO THE OPERATOR
MOV (SP) ,=(SP) ;GET TRAP ADDRESS

TYPOC
1%: TST aSwR ;TEST IF HALT ON ERROR
BPL 2% ;BR IF SET
HALT ;FATAL BUS TRAP DETECTED
2%: TYPE, RUNITA
JMP RTRT ;RESTART

JROUTINE TO INPUT NEW TTY ADDRESS FROM THE OPERATOR
XTTY: TYPE, WARNO sTELL THE OPERATOR THE RULES

RDOCT JLISTEN TO THE OPERATOR

MOV (SP)+,R0 JREAD THEIR INPUT

BEQ FATFNG ;BR IF JUST "‘CR"’

TST (RO) ;ADDRESS THE DEVICE AND CHECK BUS TRAP
;IF NO BUS TRAP = THEY MUST KNOW WHAT THEY ARE DOING !

MOV #$TKS ,R1 ;GET POINTER
1%: MOV RO, (R1)+ ;LOAD THE VALUE

TST (RO) + ;BUMP VALUE

CMP R1,4#8TKS+10 sTEST IF DONE ALL ADDRESSES

BNE 1% ;BR IF NOT

JMP RTRTA JRETYPE THE HEADER AGAIN ON THE NEW TERMINAL

.OPERATOR CHOSE THE FIELD ADJUSTMENT LOOP
TFSITE: TYPE, PRIMé6 ;TELL OPER. ABOUT AQ17

TYPE, FIELDI ;ASK THE OPERATOR FOR INPUT Z MODE
CLR INOUTZ ;DEFAULT TO USER SUPPLIED Z PULSES
RDLIN ;READ OPER. INPUT
MOV a(SP)+,10% ;GET CHAR
BICB #40,10% ;ENSURE UPPER CASE
CMPB #'Y,108 JTEST FOR "Y' INPUT
BNE 1% :BR IF NOT 'Y’
MOV #2,INOUTZ ;SET MAINT Z CONSTANT
1%: JMP FSITE ;NOW DO THE LOOP
10%: 0
ADNOKT: 0 ;LAST ADDRESS WITHOUT M .M, OR XXDP
NLSIT1: O :NON-ZERO IND]ICATES LSI-11 PROCESSOR

SEQ 0029
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KEYBOARD COMMAND DECODER

LOGIC:

5%:

1%:

2%:

4%

3%:

RESET
TST
BNE
TST
BEQ
TYPE,
CLR
JSR
SuB
TST
BEQ
SUB
MOV
MOV
JSR
TST
BPL
MOV
MOV
MOV
MOV

$PASS

TST1

WFMODE

5%

PR IMé&

$KT11
PC,$SIZE
#1000,$LSTAD
a6l

1%

#3200. ,SLSTAD
$LSTAD ,ADNOKT
#BIT7 ,$KT11
PC,$SIZE
$KT11

2%

#200,a#K IPAR1

E 3
13:10 PAGE S

sTEST IF FIRST PASS

;+BR IF NOT

:CHECK IF ON TESTER

;BR IF NOT

sTELL OPERATOR CABLE MUST BE CONNECTED
;INDICATE NO KT11

;SIZE BASIC MEMORY SIZE
;PROTECT ABSLDR

:TEST IF XXDP CHAIN MODE °?

;BR IF NOT CHAIN MODE

;LEAVE ROOM FOR XXDP MONITOR
;SAVE BASIC MEMORY STACE

JWITH MM,

JDETERMINE THE AMOUNT OF MEMORY
:TEST IF KT11 IS HERE

;BR [F NOT

#77606, 34K IPDRT

#400, 34K 1PAR?2
#77406, 34K IPDR2
#77606 . a#K IPDR3
#7600, 34K [PAR7
#77406, 34K IPDR7
$SAUTOB

48

MSGMEM

$LSTBK .RO

RO

RO

RO

RO

RO

RO

RO,=(SP)

MSGK

a#ERRVEC ,STEMP
#3% ,a¥ERRVE(
NLSIT

PSW

$STEMP ,a#ERRVEC
TST1

NLSIT

:4K, UP R/W FOR 60000

;1/0 PAGE MAP

6K, UP, R/W FOR 1/0 PAGE ACCESS
:TEST IF AUTO MODE

;:BR IF AUTO MODE

;TELL OPERATOR THE AMOUNT OF MEMORY
:GET LAST GOOD BANK

s CONVERT
;TYPE OUT DEC. VALUE

;AND THEN TYPE OUT THE REMAINDER OF MEMORY MESSAGE
;SAVE LOC & VALUE
JLCAD LOC 4
:INDICATE NOT A LSI-11 CPU
;SHOULD FAIL IF LSI-NM
JRESTORE LOC & VALUE
;:BR IF TEST
;SET AN LSI-=11 FLAG
:RETURN

SEQ 0030




CINCCB
CZNCCB

350
(3)
(3)
(2)
(1)

NCVTT
P11

003640

003650
003656
003664
003670
003674
003700
003704
003710
003714
003720
003726
003732

003736
003744
003752
003754
003756
003760
003762
003764
003766
003774
004002
004004
004012
004016
004020

DIAGNOSTIC
31-AUG=79 11: 21

000004
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012737
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005777
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005777
005777
005777
005777
012737
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012737
013737
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022626
104001
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012737
013737
000407
013737
000137
000000
000000

000100
000004
003754
176056
176054
176052
176050
176046
176044
176044
003762
176006
176006

000001
004016

000001
004016

004016
030100

MACY11
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000004
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000004

—
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VERIFY THE 8 NCV11 AND 2 NCV11 CLOCK BUS ADDRESSES RESPOND

S 222323333222 20222202000 R iR R R0 2R R RdR R )]

NCV11 AND 2 NCV11 CLOCK BUS ADDRESSES RESPOND

e it i3 3222222222022 Rt R2RR2RRRRd 2R RRRddl)

DEADKW: 0

;:DO 100 ITERATIONS
;SAVE BUS TRAP VECTOR
;LOAD BUS TRAP VECTOR
;ADDRESS

“THE
“NCVTT

sADDRESSES
;LOAD NEW RETURN
;TEST CLOCK
;ADDRESSES

;INDICATE NCV11 CLOCK IS NOT THERE
JRESTORE THE BUS TRAP VECTOR
;;BR AND TEST THE NCV11
;CLEAN THE STACK
;BUS TRAP WHEN REFERENCING THE NCV11i

sCLEAN THE STACK

;BUS TRAP WHEN REFERENCING THE NCV11 CLOCK
:INDICATE NCVY11 CLOCK IS NOT THERE
;RESTORE LOC 4

JRESTORE BUS TRAP VECTOR
JEXIT

:NON=ZERO SAYS NO NCV11 CLOCK

3??(1063) 31-AUG-79
SRTEST 1 VERIFY THE 8
TST1:  SCOPE
MOV #100,$TIMES
MOV ANERRVEC, 108
MOV #1$, FERRVE(
ST aCSR
ST Q0F F
ST AWCR
1ST FRAR
ST aSFR
ST QADM
TST aBAR1
MOV #2% , SHERRVE (
ST aKWCSR
ST aKWPSR
:TEMP FIX THE DIAG TO NOT USE CLOCK JUMPERS
MOV #1 ,DEADKW
MOV 108 , a¥ERRVE
BR 1ST2
1%: CMP (SP)+, (SP)+
ERROR 1
BR 3
2% : CMP (SP)+,(SP)+
ERROR 41
MOV #1,DEADKW
MOV 108 , a#ERRVEC
BR 1ST
38 MOV 108, AFERRVE (
JMP $EOP
10%: 0

SEQ 0031
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CZNC(B.P11 31-AUG-79 11:21 T2 FLOAT A 1 ACROSS 10 BITS OF THE COMMAND/STATUS REG. SEQ 0032
TR R L L A AL
(3) ;*TEST 2 FLOAT A 1 ACROSS 10 BITS OF THE COMMAND/STATUS REG.
(%) IR AR R R A AR AR R R R AR R R R R R R AN AR R R RN AR TN AR AR AR AN RN R TR RN AN
(2) 004022 000004 TST2:  SCOPE
(1) 004026 012737 000100 001160 MOV #100,$TIMES ;:D0 100 ITERATIONS
382 004032 012737 004046 001110 MOV #1%,SLPERR ;LOAD LOOP ADDRESS
33%;5 004040 012737 004000 002004 MOV #BIT11,STEMP ;LOAD INITIAL REG. VALUE
385 004046 012777 002004 175672 1%: MOV $TEMP,a(SR ;LOAD CSR REG.

386 004054 017737 175666 001126 MOV dCSR,$8DDAT ;READ CSR

387 004062 013737 002004 001124 MOV $TEMP,SGDDAT ;LOAD EXPECTED

388 00407C 052737 000200 001124 BIS #8177 ,$GDDAT ;FUDGE THE 'READY'' BIT
389 004076 023737 001124 001126 (MP $GDDAT, $BDDAT . COMPARE THE VALUES

390 004104 001401 BEQ 2% ;:BR [F SAME

%312 004106 104002 ERROR 2 JUNEXPECTED VALUE IN THE (SR REGISTER
393 004110 006237 002004 2%: ASR STEMP ;:TRY THE NEXT DATA BIT
394 004114 022737 000001 0C2004 (MP #1,STEMP JTEST IF NOW BIT O

%gg 004122 001351 BNE % ;BR IF NOT

397 R e el
(3) s*TEST 3 VERIFY THAT "'INIT"" CLEARS THE CSR REGISTER

(3) R R e L R R e el
(2) 004124 000004 TST3:  SCOPE

(1) 004126 012737 000010 001160 MOV #10,8TIMES ;D0 10 ITERATIONS

398 004134 012777 007776 175604 MOV #7776,3CSR ;LOAD CSR REG.

399 004142 000005 RESET JINITILIZE THE REGISTER
400 004144 012737 000200 001124 MOV #B177,3GDDAT ;LOAD EXPECTED VALUE

401 004152 017737 175570 001126 MOV aCSR,$BDDAT ;READ CSR REG.

402 004160 023737 001124 001126 CMP $GDDAT , $BDDAT ; COMPARE THE VALUES

403 004166 001401 BEQ TST4 ;:BR IF EQUAL

28‘; 004170 104002 ERROR 2 ;"BUS INIT'' FAILED TO CLEAR (SR REG.
L06 IR R R A P AR AR R AR AR R AR RN R RN R AR R R RN R AR RN AR AN RN RN
(3) s*TEST & VERIFY THAT '"'CLEAR ALL'' CLEARS THE CSR REGISTER
(3) IR AR R R AR AR AR R AR A R RN R R AR R AR R AR AR AR AR RN R RN RAR AR ORI R AR
(2) 004172 000004 TST4:  SCOPE

(1) 004174 012737 000010 001160 MOV #10,8TIMES ;:D0 10 ITERATIONS

407 004202 012777 007776 175536 MOV #7776,3CSR ;LOAD CSR REG.

408 004210 012777 004000 175540 MOV #CLRALL ,aSFR ;GENERATE "'CLR ALL L'
409 004216 012737 000200 001124 MOV #8177 ,3GDDAT ;LOAD EXPECTED VALUE

410 004224 017737 175516 001126 MOV @CSR,$8DDAT ;READ THE CSR REG.

411 004232 023737 001124 001126 (MP $GDDAT , $BDDAT ; COMPARE VALUES

412 004240 001401 BEQ TSTS ;:BR IF SAME

413 004242 104002 ERROR 2 ;"'CLR ALL L'" FAILED TO CLEAR (SR REG.




CZNCCB  NCVIT
CZNCCB.P1T

416

(3)

(3)

(2) 004244

(1) 004246

417 004254
262

DIAGNOST
31-AUG=79

000004
012737
012777
012737
105077
017737
023737
001401
104002
012777
012737
105077
017737
023737
001401
104002

000004
012737
012737

013777
017737
013737
023737
001401
104003
006237
022737
001354

1C
11:

004372
000020

002004
175352
001124

002004
000001

H 3
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001160
175464
001124

001126
001126

175424
001124

001126
001126

001160
175276
001124

001126
001126

VERIFY LOW BYTE OPERATION OF THE ''CSR'' REGISTER SEQ 0033
::t'tttttttttttttt'ttti.t".iittQﬁitttt.tttiti."tt.tit'tt'tii.tt
;*TEST S VERIFY LOW BYTE OPERATION OF THE '‘CSR'' REGISTER
;:ttttt't'tt!ttttt'ttttttt't.tttttttt.tttittttltttttt.t'*tttttttt
TSTS: SCOPE

MOV #100,$TIMES ;:D0 100 ITERATIONS

MOV #3636,aCSR :LOAD CSR REGISTER

MOV #3600,SGDDAT ;LOAD EXPECTED VALUE

CLRB aCSR sCLEAR LOW BYTE

MOV aCSR,$BDDAT :READ STATUS REG.

CMP $GDDAT ,$8DDAT ;COMPARE VALUES

BEQ 1% ;:BR IF SAME

ERROR 2 :CLEARING LOW BYTE OF THE CSR CHANGED THE HIGH B
1%: MOV #3636,aCSR JLOAD CSR REGISTER

MOV #236,3GDDAT ;LOAD EXPECTED VALUE

CLRB aCSRHB ;CLEAR HIGH BYTE OF THE CSR

MOV aCSR,$8DDAT ;READ STATUS

CMP $GDDAT ,$SBDDAT :COMPARE VALUES

BEQ TIST6 ;:BR IS SAME

ERROR 2 :CLEARING HIGH BYTE OF CSR CHANGED THE LOw BYTE
:;ttttttttttttttttttﬁttttittitttttttttttttttttttttitttttttttti'tt
:«TEST 6 FLOAT A 1 ACROSS &4 BITS OF THE SPECIAL FUNCTION REGISTER
;:t‘ttttttttttt‘ttttttllﬁttttttttttttt.tttl'ﬁﬁ""tttﬁﬁttt.ttt!'ﬁ
TST6: SCOPE

MOV #18 _,SLPERR ;LOAD LOOP ADDRESS

MOV MBITL, STEMP ;LOAD INITIAL REG. VALUE
1%: MOV S$TEMP,aSFR ;LOAD SFR REG.

MOV aSFR,SBDDAT ;READ SFR

MOV STEMP,SGDDAT ;LOAD EXPECTED

(MP $GDDAT , $BDDAT ;COMPARE THE VALUES

BEQ 23 ;:BR IF SAME

ERROR 3 JUNEXPECTED VALUE IN THE SFR REGISTER
2%: ASR STEMP :TRY THE NEXT DATA BIT

CMP #1,S$TEMP ;TEST IF NOW BIT 0

BNE 1% ;BR IF NOT
;:ttttt.ﬁtttttttittttttttttttttttttittttttittttttitttﬁtti*tittttt
;*TEST 7 VERIFY THAT CLEARING HIGH BYTE OF SFR DOES NOT CLEAR LOW BYTE
;:tlttttt'tttttt'tlﬁttttttttltttittﬁt"tttttﬁ'ttﬁtttitttttttﬁtttt
TST7: SCOPE

MOV #10,8STIMES ;:D0 10 ITERATIONS

MOV #14 ,3SFR ;LOAD THE S.F. REGISTER

MOV #14 ,SGDDAT ;LOAD THE EXPECTED VALUE

CLRB aSFRHB :CLEAR HIGH BYTE OF S.F. REG.

MOV aSFR,$8DDAT JREAD THE REGISTER

(MP $GDDAT , $SBDDAT :COMPARE THE VALUES

BEQ TST10 ;:BR IF SAME

ERROR 3 ;CLEARING HIGH BYTE OF CSR REG. CHANGED THE LOwW
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CINCCB.P11 31=-AUG=79 11:21 0 VERIFY THAT "INIT'' CLEARS THE SFR REGISTER SEQ 003~
4SS R R e e e L e L e i e ety '
(3 ;*TEST 10 VERIFY THAT '‘INIT'' CLEARS THE SFR REGISTER
(3 P L e e e L
(2) 004512 000004 TST10: SCOPE
(1) 004514 012737 000010 001160 MOV #10,8STIMES ;:D0 10 ITERATIONS
456 0045%5 012777 000016 175226 MOV #16,a8SFR ;LOAD SFR REG.

457 0045 RESET JINITILIZE THE REGISTER

458 004532 005037 001124 CLR $GDDAT :LOAD EXPECTED

459 004536 017737 175214 001126 MOV @SFR,$BDDAT :READ SFR REG.

460 004544 001401 BEQ 1sT1i ::BR IF EQUAL

22} 004546 104003 ERROR 3 :"BUS INIT'' FAILED TO CLEAR SFR REG.
1,63 .-:ttttttttttttttt'ttttttttttttt.ttt'ttttttttttttttttttttttt'titt'

(3) J*«TEST N VERIFY THAT '‘CLEAR ALL'' CLEARS THE SFR REGISTER

(3) :"ttttttlttttttttﬁt'ttttt'ttttttttttttﬁtttttttttttttttttttttttttt

(2) 004550 000004 TST11: SCOPE

(1) 004552 012737 000010 001160 MOV #10,8$TIMES ;:D0 10 ITERATIONS

464 004560 012777 000016 175170 MOV #16,aSFR ;LOAD SFR REG.

465 004566 052777 004000 175162 BIS #CLRALL ,@SFR sGENERATE 'CLR ALL L'’

466 004574 005037 001124 CLR SGDDAT ;LOAD EXPECTED VALUE

467 004600 017737 175152 001126 MOV aSFR, $BDDAT ;READ THE SFR REG.

468 004606 001401 BEQ TST12 ::BR IF SAME

469 004610 104003 ERROR 3 ;'"'CLR ALL L'' FAILED TO CLEAR SFR REG.
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CINCCB.P1T  31-AUG=79 11:21 FLOAT A 1 ACROSS THE WORD COUNT REGISTER SEQ 0035
1.72 .';ttttttttttttttttttttl‘tttt'ttttiﬁ.ttttttltti'.tlt.tlttlttt'ttttt
(3) TRTEST 12 FLOAT A 1 ACROSS THE WORD COUNT REGISTER
(3) . : L 223233333 3 33333 3 3333 33333 303333333333 3333333333333 3 3333333322332 3]
(2) 004612 000004 T§T12: SCOPE
(1) 004614 012737 000100 001160 MOV #100,STIMES ::D0 100 ITERATIONS
473 % 012737 000001 001124 MOV #8170, SGDDAT ;LOAD EXPECTED VALUE
’z%‘s' 012737 004636 001110 MOV #18,SLPERR *LOAD LOOP ADDRESS ON ERROR
476 004636 012777 004000 175112 18: MOV #CLRALL ,@SFR :RESET THE DEVICE
477 004644 013777 001126 175100 MOV $GDDAT, aWCR :LOAD WORD COUNT 'A"’

478 004652 017737 175074 001126 MOV aWCR, SBDDAT *READ WORD COUNT

479 004660 023737 001124 001126 CMP $GDDAT , S8DDAT :COMPARE VALUES

480 004666 001401 BEQ 28 ::BR IF SAME

:.‘g; 004670 104004 ERROR & ::WORD COUNT REG. IN ERROR
483 004672 006337 001124 28: ASL $GDDAT ;CHANGE THE DATA

484 004676 001357 BNE 1$ *BR IF MORE DATA TO LOAD
485 ::tttttttttttttl’t!ttttttt!ttttttttttittt..ﬁtl'ttl".tttt"ttﬁtttt
(3) T*TEST 13 FLOAT A 1 ACROSS THE BUS ADDRESS REGISTER

(3) B L 332323 33 33 3 3 33333333 3333333333333 333333 332333333333 33333333323233]
(2) 004700 000004 TST13: SCOPE

(1) 004702 012737 000100 001160 MOV #100,STIMES ::D0 100 ITERATIONS

486 004710 012737 000001 001124 MOV #8170, SGDDAT :LOAD EXPECTED VALUE

% 004716 012737 004724 001110 MOV #1$,SLPERR :LOAD LOOP ADDRESS ON ERROR
489 004724 012777 004000 175024 18: MOV #CLRALL ,@SFR ;RESET THE DEVICE
490 004732 013777 001124 175014 MOV $GDDAT , 3BAR *LOAD BUS ADDRESS ‘A

491 004740 017737 175010 001126 MOV aBAR , SBDDAT *READ BUS ADDRESS

492 004746 023737 0011264 001126 CMP $GDDAT , SBDDAT *COMPARE VALUES

493 004754 001401 BEQ 2% ::BR IF SAME

2345 004756 104005 ERROR S :BUS ADDRESS REG. IN ERROR
49 004760 006337 001124 28: ASL $GDDAT ;CHANGE THE DATA ,
497 004764 001357 BNE 1 *BR IF MORE DATA TO LOAD
4% .' : 2 3 223 3 22 2 3323 3333333333333 333333 3333333333333 3333323233333 23332333
(3) T*TEST 14 FLOAT A 1 ACROSS THE OFFSET REGISTER

3 DI ARRARAAARA NN ERAAAARARRRAARARAARRRAANARAANRRRRARRRANR
(2) 004766 000004 7ST14: SCOPE

(1) 004770 012737 000100 001160 MOV #100,STIMES ::D0 100 ITERATIONS

499 004776 012737 000001 001124 MOV #8170, SGDDAT :LOAD EXPECTED VALUE

558? 005004 012737 005012 001110 MOV #18,SLPERR :LOAD LOOP ADDRESS ON ERROR
502 005012 012777 004000 174736 1$: MOV #CLRALL ,@SFR ;RESET THE DEVICE

503 88%52 013777 001126 174722 MOV $GDDAT , 30F F *LOAD OFFSET "A"

504 017737 174716 001126 MOV S0FF , SBDDAT *READ OFFSET

505 005034 023737 0011264 001126 CMP $GDDAT , SBDDAT *COMPARE VALUES

506 005042 001401 BEQ 2% ::BR IF SAME

558; 005044 104006 ERROR 6 :OFFSET REG. IN ERROR

509 005046 006337 001124 28: ASL $GDDAT :CHANGE THE DATA

510 005052 001357 BNE 18 :BR IF MORE DATA TO LOAD
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31-AUG=79 13:10 PAGE 15
VERIFY NO DUAL REGISTER SELECTION

e i i i i i it dididddddddidddddidididididiitidiiiitid sl

S#TEST 15 VERIFY NO DUAL REGISTER SELECTION

P e AR R RARA R AR AN AN AN ANAAN AN AN AN AN AR AR AR AR AR AR

T8§T15: SCOPE
MOV #10,$TIMES ;:D0 10 ITERATIONS
:LOAD DIFFERENT NUMBERS INTO THE “WCR, BAR AND OFF REGISTERS
MOV #CLRALL ,@SFR :CLEAR THE DEVICE
MOV #11111, 30FF *LOAD OFFSET REGISTER
MOV & “aWCR *LOAD W.C. REGISTER
MOV & aBAR *LOAD B.A. REGISTER
MOV #36_aSFR *LOAD SPECIAL FUNCTION REGISTER
MOV #7636 :LOAD COMMANC/STATUS REGISTER

7636, aC
:NOW READ EACH REGISTER
711111

SR ;
AND CHECK THE VALUE

MOV +SGDDAT ;LOAD EXPECTED VALUE

MOV S0FF ,$BDDAT :READ A OFFSET REG.

(o, o S$SGDDAT ,SBDDAT ; COMPARE

BEQ 18 ::BR IF SAME

ERROR 7 ;DUAL ADDRESS ERROR
1%: MOV #22222 ,8GDDAT ;LOAD EXPECTED VALUE

MoV WCR,$SBDDAT JREAD W.C. REG.

cMP $GDDAT ,$8DDAT ; COMPARE

BEQ ;:BR IF SAME

ERROR ;DUAL ADDRESS ERROR
2$: MOV #33333,$GDDAT JLOAD EXPECTED VLAUE

MOV aBAR, SBDDAT JREAD B.A. REG.

(o, SGDDAT ,$S8DDAT : COMPARE

BEQ 3s ;:BR IF SAME

ERROR 7 ;DUAL ADDRESS ERROR
3s: MOV #36,8GDDAT ;LOAD EXPECTED VALUE

MOV @SFR,$8DDAT ;READ SPECIAL FUNCTION REG

WP $GDDAT ,$BDDAT : COMPARE

BEQ 43 ::BR IF SAME

ERROR 7 ;DUAL ADDRESS ERROR
4S: MOV #7636 ,8GDDAT ;LOAD EXPECTED VALUE

MOV aCSR,$BDDAT ;READ COMMAND/STATUS REGISTER

(0, S$GDDAT ,$BDDAT ; COMPARE

BEQ 5% :;BR IF SAME

ERROR 7 ;DUAL ADDRESS ERROR
5%: MOV #CLRALL ,aSFR :CLEAR THE DEVICE

SEQ 0036




CINCCB NCVIN

CZNCCB.P1
(3)
(3)
(2) 005314
(1) 005316
549 005
550 005
551 005
SS§ 005
553 005352
554 005360
555 005362
556
557
(3)
(3)
(2) 005364
558 005366
559 005374
560 005402
561 005404
% 005406

005410

564
% 005416
567 00545‘2'
568 005440
569 005446
570 005450
571 005456
572
573 005460
576 005466
575 005474
576 005502
577 005510
578 005512
579
580
581 005514
582 oossg
583 0055
584 005536
585 005564
586 005552
587 0055

DIAGNOSTIC

31=-AUG=-79 11: 21

000010
001124

004000
000003
004000
174372

004000
000010

000022
000022

000001
174310
001124

000400

000200

1746204
001124

L 3
MACY11 3??é1063) 31-AUG=79 13:10 PAGE 16

001160

174420
1746404
174404
001126

174362
174354

VERIFY ''CLR ALL'' CLEARS THE EXTENDED OFFSET BITS SEQ 0037
:.'t'iﬁ‘.t!."tﬁtt.ttttltttttt'ttttt!ttﬁtt'.tttttttttttt.ttttitttt
+«TEST 16 VERIFY '‘CLR ALL'' CLEARS THE EXTENDED OFFSET BITS
':ttﬁ'.t.'..'t*tttﬁ!ttttﬁﬁtttttﬁtttt'.Qtitttt'tt!t.ttit'tt'ﬂiQ.QQ
T§T16: SCOPE

MOV #10,$TIMES ::D0 10 ITERATIONS

CLR $GDDAT ;CLEAR EXPECTED VALUE

MOV #CLRALL ,@SFR :CLEAR THE DEVICE

MOV #3,30FF :LOAD EXTENDED OFFSET REGISTER

MOV #CLRALL ,@SFR *CLEAR THE EXTENDED OFFSET REG.'S

MOV a0FF ,$SBDDAT :READ EXTENDED OFFSET REG.

BEQ TST17 ::BR IF CLEARED

ERROR 6 :CLEAR ALL FAILED TO CLEAR EXTENDED OFFSET REGIS
.':it'ittttttiitttittitttttitttttttttttttttttittttttttitttt*tttttt
S*TEST 17 TEST THE ''ACTIVE'' FLOP CAN SET AND CLEAR
::!ttttttt*tttttttttttttttttttttttttttttttttttﬁt'ttttttttttttQttt
TST17: SCOPE

MOV #CLRALL .@SFR :CLEAR THE DEVICE

Bég #TSTDMA.@SFR  :SET THE '‘TEST DMA"* TO PREVNT DATA TRANSFERS

NOP

NOP

BIS #BIT4'BIT1,aCSR :SET "MATRIX MODE'’ AND ‘BYTE'' MODE
:NOW SET THE '"'ACTIVE'' FLOP AND VERIFY ''INTERFACE IDLE'' GOES LOW

MOV #BIT4'BIT1,$GDDAT :LOAD EXPECTED VALUE

BIS #81T0,aCSR ZSET "ACTIVE' TO A 1

MOV aCSR, $BDDAT *READ STATUS

cMP $GDDAT , SBDDAT :COMPARE VALUES

BEQ 18 ::BR IF EXPECTED

BIS #ENDDMA , @SFR :STOP DMA IF POSSIBLE

ERROR 2 S"ACTIVE'* FLOP FAILED TO SET
-POKE THE 'END DMA'' SIGNAL AND VERIFY "ACTIVE'' CLEARS
is: BIS #ENDDMA , 3SFR :SEND "END DMA'' SIGNAL

MOV #BIT7'BIT4'BIT1,8GDDAT :SET ‘'INTERFACE IDLE'' INTO EXPECTED

MOV aCSR,$BDDAT :READ STATUS

CMP $GDDAT , S8DDAT : COMPARE

BEQ 2% ::BR IF SAME

ERROR 2 :"END DMA'' AGAIN FAILED TO CLEAR ‘‘ACTIVE'* FLOP

:POKE "ENABLE DMA'' AND THEN ISSUE ‘‘CLR ALL"* SIGNAL TO
: ENSURE THE 'ACTIVE'' FLOP CLEARS
2s: MOV #B1T7.SGDDAT :LOAD EXPECTED
BIS #1T0.aCSR “POKE "ENABLE DMA''
BIS #CLRALL ,@SFR *GENERATE "‘CLR ALL'"

MOV @CSR,$BDDAT ;READ STATUS
CMP $GDDAT , $BDDAT ; COMPARE
BEQ TST20 ;:BR IF SAME

ERROR 1 ;"'CLR ALL'® FAILED TO CLEAR "'ACTIVE'' FLOPS
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CINCCB.P1T  31-AUG=79 11:21 120 VERIFY 7 INPUTS CAUSE THE LOW 8 BITS OF 32 BIT COUNTER TO CHANGEIN MATRIX SEQ 0038

592 IR AR AR AR AR R AN AR R AR AR AN AR AR RN AR RN RN AR RN AR NS
(3) :«TEST 20 VERIFY Z INPUTS CAUSE THE LOW 8 BITS OF 32 BIT COUNTER TO CHANGEIN MATRI
3 RN AR R AR AR AR AR AN AR AR RN AR AR RN RN AR RN,
(2) 005556 TST20: SCOPE
(1) 005560 000100 001160 MOV #100,$TIMES ;:D0 100 ITERATIONS
593 oosggs 004000 174162 MOV #CLRALL ,aSFR ;CLEAR THE DEVICE
594 005574 000010 174154 MOV #TSTDMA,aSFR sSET TEST DMA FLOP
595 000000 174142 MOV #0,aWCR ;LOAD W.C. REG
596 00561 000000 174136 MOV #0 ,aBAR ;LOAD B.A. REG
597 005616 000022 174122 MOV #MIT4!BIT1,a(CSR JENTER MATRIX MODE
598 000001 174114 BIS #B8170,aCSR ;GO "ACTIVE"'
599 174116 BIS #TESTZ,aSFR :ENABLE "TEST 2'‘ PULSES
1) 176110 BIC #TESTZ ,aSFR :DISABLE °''TEST Z'' PULSES
600 005546 000001 001124 MOV #1,8GDDAT sLOAD EXPECTED
601 005654 176076 001126 MOV aBAR, $8DDAT JREAD LOW 16 BITS
gg% 005662 BNE 1% ;;BR IF NON-ZERO

005664 ERROR 10 ;2 INPUT FAILED TO CAUSE THE LOwW BYTE OF 32 BIT
604 oose% BR TST21 33
605 0056 1764056 001126 1$: MOV aWCR, $8DDAT JREAD HIGH 16 BITS
606 005676 BEQ 2% ;:BR IF CLEARED
607 005700 ERROR 11 JHIGH 16 BIS CHANGED IN ERROR
608 005702 000020 001124 2%: MOV #BIT4 _ SGDDAT sLOAD EXPECTED
609 005710 1764032 001126 MOV aCSR,$8DDAT JREAD STATUS
610 005716 040000 001126 BIT #81T14,88DDAT JTEST IF "*CELL OVERFLOW''
611 005724 BEQ T§T21 ;2BR IF CORRECT
612 005726 ERROR 12 :"'CELL OVERFLOW'' FLOP SET IN ERROR
613 ":ttt*ttttttttt*ttﬁt'ttlt'*tlttl‘tﬁttttl’tttt'!tittittttttttﬁt't.tt
(3) ;*TEST 21 VERIFY Z INPUTS CAUSE THE LOW 16 BITS OF 32 BIT COUNTER TO CHANGE
3) IR AR AR AR AR AR AR AR RN AR RN RN RANA AR RAARANRARCR RN RS
(2) 005730 TST21: SCOPE
(1) 005732 012737 000100 001160 MOV #100,8TIMES ;:D0 100 ITERATIONS
614 005740 012777 004000 174010 MOV #CLRALL ,aSFR sCLEAR THE DEVICE
61S 005746 012777 000010 174002 MOV #TSTDMA ,aSFR JSET TEST DMA FLOP
616 005754 012777 000000 173770 MOV #0 _ awWCR ;LOAD W.C. REG
617 oosr% 012777 000376 173764 MOV #376,3BAR :LOAD B.A. REG
618 012777 000022 173750 MOV #MIT4(!BITT1,aCSR JENTER MATRIX MODE
619 005776 052777 000001 173742 BIS #8I1T70,aCSR ;GO "ACTIVE'' ;
620 w 052777 000002 173744 BIS #TESTZ,aSFR :ENABLE “TEST Z'' PULSES
(1) 777 000002 173736 BIC #TESTZ ,aSFR :DISABLE ‘‘TEST Z'' PULSES
é&21 737 000400 001124 MOV #B178,3GDDAT ;LOAD EXPECTED
g 01 173722 001126 MOV aBAR, $8DDAT :READ LOW 16 BITS

105737 001127 TSTB $8DDAT+1 sTEST HIGH BYTE
624 001002 1% ;BR IF NON-ZERO
& 10401 EER(R }(S)TZZ ;7 INPUT FAILED TO CAUSE THE HIGH BYTE OF THE LO
8‘ 1;77;7 000000 001124 1%: MOV #0,$GDDAT ;LOAD EXPECTED
1 7 173672 001126 MOV aWCR, $BDDAT sREAD HIGH 16 BITS

& 14601 BEQ 2% ;:BR IF CLEARED

006064 104011 ERROR 11 JHIGH 16 BITS CHANGED IN ERROR
631 w 01;;337 000020 001124 2%: MOV #8174 ,SGDDAT ;LOAD EXPECTED
g & 017737 173646 001126 MOV aCSR,$BDDAT JREAD STATUS

006102 032737 040000 001126 BIT #B]1T14,88DDAT sTEST IF "'CELL OVERFLOW''
634 006110 001401 BEQ 1ST122 ;:BR IF CORRECT
635 006112 104012 ERROR 12 ;"'CELL OVERFLOW'® FLOP SET IN ERROR
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CINCCB.P1T  31-AUG=79 11:21 122 VERIFY Z INPUTS CAUSE THE LOW 24 BITS OF 32 BIT COUNTER TO CHANGE SEQ 0039
7 :.-tttttttttttttttttttttttttttttttttltttttttttitttttttttﬁttttttttt
?i) S*TEST 22 VERIFY Z INPUTS CAUSE THE LOW 24 BITS OF 32 BIT COUNTER TO CHANGE
( ) :.'ttttﬁtttttttttttttttttttttttttttttttttttttttttttttttttttitttttt
(2) 006114 000004 78§122: SCOPE
(1) 006116 012737 000100 001160 MOV #100,$TIMES ::D0 100 ITERATIONS
ggg 006124 012777 004000 173624 MOV #CLRALL ,@SFR :CLEAR THE DEVICE
0061 012777 000010 173616 MOV #TSTDMA,aSFR ;SET TEST DMA FLOP
640 %1 012777 000000 173604 MOV #0,aWCR :LOAD W.C. REG
641 146 012777 177776 173600 MOV #-2,3BAR :LOAD B.A. REG
006154 012777 000022 173564 MOV aam'am acSR *ENTER MATRIX MODE
&4 006195 052777 000001 173556 BIS #81T0.aCSR 26O "ACTIVE'
644 8321 052777 000002 173560 BIS #TESTZ,SFR :ENABLE "‘TEST 2'' PULSES
1) 126 042777 000002 173552 BIC #TESTZ.aSFR :DISABLE '‘TEST 2'* PULSES
645 006206 012737 000001 001124 MOV #1,$GDDAT :LOAD EXPECTED
646 006212 017737 173534 001126 1%: MOV awWCR, $BDDAT *READ HIGH 16 BITS
647 001002 BNE 2$ :BR IF SET
648 006222 104011 ERROR 1 ;LOW BYTE OF THE HIGH 16 BITS FAILED TO CHANGE
649 006224 000413 BR TST23 ¥
650 006226 012737 000020 001124 2%: MOV #MBIT4,SGDDAT ;LOAD EXPECTED
651 006234 017737 173506 001126 MOV aCSR,$BDDAT READ STATUS
65% 006242 032737 040000 001126 BIT #MIT14,88DDAT :TEST IF "'CELL OVERFLOW''
653 006250 001401 BEQ TST23 ::BR IF CORRECT
654 006252 104012 ERROR 12 :"'CELL OVERFLOW'' FLOP SET IN ERROR
655 .'.'t'ttttﬁ!tttttttttttttttttt'tttttttti!tttttttt!tttttt'tttlttttt'
(3 «TEST 23 VERIFY Z INPUTS CAUSE THE HIGH 8 BITS OF THE 32 BIT COUNTER TO CHANGE
(3) ;;ttﬁﬁtttttttttttttttttttttttttttttttttttﬁ*tttttttttttttttttttttt
(2) 006254 000004 T$T23: SCOPE
(1) 006256 012737 000100 001160 MOV #100,STIMES ::DO 100 ITERATIONS
656 006264 012777 004000 173464 MOV #CLRALL ,aSFR :CLEAR THE DEVICE
657 006272 012777 000010 173456 MOV #TSTDMA,aSFR :SET TEST DMA FLOP
658 006300 012777 000377 173444 MOV #377 ,aWCR *LOAD W.C. REG
659 006306 012777 177776 173440 MOV #-2,3B8AR :LOAD B.A. REG
660 006314 012777 000022 173424 MOV #MITL&!BITT1,aCSR ;ENTER MATRIX MODE
661 006322 052777 000001 173416 BIS #B1T0,aCSR :GO "'ACTIVE"'
662 006330 052777 000002 173420 BIS #TESTZ,aSFR *ENABLE ‘‘TEST 2°' PULSES
(1) 006336 042777 000002 173412 BIC ATESTZ.aSFR :DISABLE '‘TEST 2'* PULSES
663 006344 012737 000400 001124 MOV #B1T8, $GDDAT *LOAD EXPECTED
664 006352 017737 173374 001126 1%: MOV aWCR, $BDDAT :READ HIGH 16 BITS
665 006360 105737 001127 TSTB  $BDDAT+1 “TEST HIGH BYTE
666 006364 001001 BNE TST24 ::BR IF SET
667 006366 104011 ERROR 1 HIGH 8 BITS OF THE 32 BIT COUNTER FAILED TO CHANGE
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CZNCCB.P1T 31-AUG~-79 11:21 T24 VERIFY Z INPUTS DO NOT CAUSE THE LOW 8 BITS OF 32 BIT COUNTER TO CHANGE I SEQ 0040
669 R 2222232223333 3 2233333322222 2332323233333 2322332323233 33232332323232323233;
(3 tTEST 24 VERIFY Z INPUTS DO NOT CAL.c THE LOW 8 BITS OF 32 BIT COUNTER TO CHANGE
(3) ;:ttttitttitt.ttttttttﬁtttttttttttttﬁtttﬁttttttttttttttﬁttttttttt
(2) 006370 000004 TST24: SCOPE
(1) 006372 012737 000100 001160 MOV #100,8TIMES ;:D0 100 ITERATIONS
670 006400 012777 004000 173350 MOV #CLRALL ,aSFR ;CLEAR THE DEVICE
671 006406 012777 000000 173336 MOV #0,aWCR ;LOAD W.C. REG
672 006414 012777 000000 173332 MOV #0 ,3BAR ;LOAD B.A. REG
673 006422 005077 173320 CLR a(SR ;ENSURE LIST nog;
674 006426 052777 000002 173322 BIS NTESTZ,aSFR ;ENABLE "TEST 2"’ PULSES
(1) 006434 042777 000002 173314 BIC #TESTZ,aSFR DISABLE TEST Z'' PULSES
675 006442 012737 000000 001124 MOV #0,3GDDAT LOAD EXPECTED
676 006450 017737 173300 001126 MOV aBAR , SBDDAT ;READ LOW 16 BITS
677 006456 001401 BEQ 15125 ;:BR IF 2ERO
g;g 006460 104010 ERROR 10 ;7 INPUT CAUSE THE 32 BIT COUNTER TO CHANGE IN LIST MODE
680 PR A R AR AR RN AR AR AR AR AR AR AN ARR AR AR AR A AR AR AR AT RIS
(3) J*TEST 25 TEST THAT 'WCA OVFL'' SETS Z/WC OVERFLOW FLOP AND ‘'CLR ALL'' CLEARS IT
(%) PIRERA R AR A AR AR AR A AN R AR A A AR A AR RN RARAARR A AN RARRAA AR AR AR
(2) 006462 000004 TST25: SCOPE
(1) 006464 012737 000010 001160 MOV #10,$TIMES ;:D0 10 ITERATIONS
681 006472 012777 004000 173256 MOV #CLRALL ,aSFR sCLEAR DEVICE
682 006500 012777 000010 173250 MOV #TSTDMA ,aSFR ;SET TEST DMA FLOP
683 006506 012777 177777 1732 MOV 0-1.8UCR ;LOAD Z COUNTER
684 006514 012777 177776 173232 MOV #-2,aBAR sLOAD Z COUNTER
685 006522 012777 000022 173216 MOV 08174'8171 aCSR JENTER 'MATRIX'' MODE
686 006530 052777 000001 173210 BIS #B1T0,aCSR JENABLE NCV11
687 JNOW ENABLE '‘TEST 2’ INPUTS
688 006536 052777 000002 173212 BIS #TESTZ ,aSFR JENABLE °"‘TEST Z'' PULSES
(1) 006544 042777 000002 173204 BIC #TESTZ ,aSFR ;DISABLE '‘TEST Z'' PULSES
689 006552 013700 002006 MOV CPUDLO,RO ;LOAD GROSS TIMER
690 006556 005001 (LR R1
23} 006560 012737 040020 001124 MOV #MIT14!BITS ,$GDDAT sLOAD EXPECTED STATUS
693 006566 032777 040000 173152 1%: BIT #MIT14,9CSR sTEST FOR Z/WC OVERFLOW
694 006574 001011 BNE 2% ;BR IF SET
695 006576 005301 DEC R1 ;DELAY
696 006600 001372 BNE 1%
697 006602 005300 DEC RO ;DELAY
698 006604 001370 BNE 1%
699 006606 012777 000400 173142 MOV #ENDDMA ,aSFR ;STOP DMA TRANSFERS
700 006614 104012 ERROR 12 JAFTER A GROSS TIME, THE Z/WC OVERFLOW FLOP FAILED TO SE
;85 006616 000416 BR TST26 33
703 :NOW GENERATE ‘‘CLR ALL'' TO CLEAR Z/WC OVERFLOW BIT
704 006620 052777 004000 173130 2%: BIS #CLRALL ,@SFR ;CLEAR Z/WC FLOP
705 006626 012737 000200 001124 MOV #IT7, $GDDAT ;LOAD EXPECTED
706 006634 017737 173106 001126 MOV BCSR.SBDDAT :READ STATUS
707 006642 023737 001124 001126 CMP $GDDAT, $BDDAT ; COMPARE
708 006650 001401 BEQ T1ST26 ;:BR IF SAME

709 006652 104012 ERROR 12 ;"'CLR ALL'" FAILED TO CLEAR "Z/WC'’ FLOP
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TEST THAT 'WCA OVFL'' SETS Z/WC OVERFLOW FLOP AND ''CLR WC OVFL'' CLEARS IT  SEQ 0041

Qﬁ"t..l'."t'tt.ttt"ittttlt'tﬁﬁ""t.'ttt'tt.ﬁt.tﬁ'.ﬁtittt'.'

-rEsr 26 TEST THAT 'WCA OVFL'' SETS Z/WC OVERFLOW FLOP AND ''CLR WC OVFL'* CLEARS IT
B 2332322333332 33333323332332323333233333323323333232332323323233232323322323322233]
TST26: SCOPE
MOV #10,8TIMES ;:D0 10 ITERATIONS
MOV #CLRALL ,aSFR ;CLEAR DEVICE
MOV #TSTDMA,aSFR :SET TEST DMA FLOP
MOV #-1,aWCR ;LOAD Z COUNTER
MOV #-2 ,38AR sLOAD Z COUNTER
MOV #MITL!BITT,aCSR ;ENABLE ‘MATRIX'' MODE
BIS #1T0,aCSR :SET NCV11 ACTIVE
:NOW ENABLE "‘TEST Z'' INPUTS
BIS #TESTZ,aSFR JENABLE ''TEST Z2'' PULSES
BIC #TESTZ ,aSFR ;DISABLE 'TEST Z'' PULSES
?8; g?UDLO.RO ;LOAD GROSS TIMER
MOV #MIT14!BIT4,$GDDAT :LOAD EXPECTED STATUS
1%: BIT #MIT14,3CSR :TEST FOR Z/WC OVERFLOW
BNE % :BR IF SET
DEC R1 ;DELAY
BNE %
DEC RO ;DELAY
BNE 1%
MOV #ENDDMA ,aSFR ;STOP DAM TRANSFERS
BIC #TESTZ ,aSFR :STOP “‘Z7'' INPUTS
ERROR 12 ;AFTER A GROSS TIME, THE Z/WC OVERFLOW FLOP FAILED TO SET
BR TST27 i3
:NOW GENERATE ''CLR WC OVFL'' TO CLEAR Z/WC OVERFLOW BIT
2%: BIS #CLRWCO,aSFR :CLEAR Z/WC FLOP
MOV #MIT7'BIT4'BIT1,$GDDAT ;LOAD EXPECTED
MOV aCSR,$8DDAT :READ STATUS
cMP $GDDAT , $BDDAT ; COMPARE
BEQ TST27 ;:BR [F SAME
ERROR 12 -*'CLR WC OVFL'' FA]

i LED TO
; CLEAR "Z/WC'* FLOP (BIT 14)
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TEST THAT "WCA OVFL'' GENERATES AN INTERRUPT

i 2323322222222t Rttt idiiiiidi iRttt iRttt dll )

:«TEST 27 TEST THAT 'WCA OVFL'' GENERATES AN INTERRUPT
::ttttttttttttﬁﬁittttitittttttttttt'ttttttttﬁttttttttttt'ttiitttt
TST27: SCOPE
MOV #10,8TIMES ;:D0 10 ITERATIONS
MOV #CLRALL ,aSFR ;CLEAR DEVICE
MOV #TSTDMA ,aSFR :SET TEST DMA FLOP
MOV #-1,aW(R ;LOAD Z COUNTER
MOV #-2 ,aBAR ;LOAD Z COUNTER
MOV #MIT4&'BITT1,aCSR :SET MATRIX MODE
BIS #81T0,aCSR JSET NCV11 ACTIVE
:NOW ENABLE '‘TEST Z'' INPUTS
BIS #TESTZ,aSFR ;ENABLE "TEST 2'' PULSES
BIC #TESTZ,aSFR ;DISABLE '‘TEST Z'' PULSES
?(L)F! gl;UDLO.RO ;LOAD GROSS TIMER
MOV #MIT14!BIT4,SGDDAT ;LOAD EXPECTED STATUS
1%: BIT #MiT14,a(CSR :TEST FOR Z/WC OVERFLOW
BNE 2% :BR IF SET
DEC R1 ;DELAY
BNE 1%
DEC RO ;DELAY
BNE 1%
MOV #ENDDMA ,aSFR :STOP DMA TRANSFERS
BIC #TESTZ,aSFR ;STOP "‘7'' INPUTS
ERROR 12 JAFTER A GROSS TIME, THE Z/WC OVERFLOW FLOP FAILED TO SET
B8R 5% ;;BR TO CLEAN UP
:NOW EMNABLE THE WC/Z OVERFLOW INTERRUPT BIT AND WAIT FOR AN INTERRUPT
2%: MOV #0,-(SP)
:?Y #3%,-(SP) ;LSI=11 HACK
3%: MOV #4% ,aVECTAOD :LOAD INTR. VECTOR
BIS #MIT6,aCSR ;ENABLE INTERRUPT
NOP
NOP
NOP
NOP
MOV aCSR,$8DDAT ;READ STATUS
MOV #CLRALL ,aSFR :CLEAR THE DEVICE
ERROR 13 :WC/7 OVERFLOW FAILED TO GENERATE INTERRUPT
BR 5% ;:BR TO CLEAN UP
4%: CMP (SP)+,(SP)+
5%: CLR a(CSR
MOV #CILRALL ,aSFR JCLEAR THE DEVICE
MOV VECTA1 ,aVECTAO
(LR aVE(CTAI

SEQ 0042
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CZNCCB.PIT 31-AUG=79 11: 21 30 VERIFY "WCA OVFL'' CLEARS "ACTIVE"' SEQ 0043
791 :.'ttt.t'ﬁt.t.Qiiil.ttttt'.tit.it.ii..'i'tttttttltt.Qtt.tttttﬁttt.
(3) ;*TEST 30 VERIFY "WCA OVFL'' CLEARS "'ACTIVE'

(3\ ";ttt'.t't't...Q**‘Qiitﬁ.i'ﬁ.tit..iti.ti.it.iit..i'iit.tﬁttiitttt
(2) 007324 000004 TST30: SCOPE

(1) 007326 012737 000010 001160 MOV #10,STIMES ;:D0 10 ITERATIONS

792 007334 012777 004000 172414 MOV #CLRALL ,@SFR ;CLEAR DEVICE

793 007342 012777 000014 172406 MoV #TSTDMA!TSTCON,aSFR ;SET TEST DMA

794 007350 012777 177777 172374 MOV #=1,aWCR ;LOAD W.C. REG.

795 007356 012777 177776 172370 MoV #-2 ,aBAR ;LOAD BAR REG.

796 007364 005077 172360 CLR aOF F ;CLEAR OFFSET REG.

797 007370 012777 000022 172350 MOV #BIT4!BIT1,aCSR sENABLE MATRIX MODE

798 007376 052777 000001 172342 BIS #BIT0,aCSR sSET "ACTIVE''

799 007404 052777 000002 172344 BIS WHTESTZ,aSFR ;ENABLE '‘TEST Z'' PULSES
(1) 007412 042777 000002 172336 BIC #TESTZ,aSFR ;DISABLE '‘TEST 2'" PULSES
800 007420 017737 172322 001126 MOV (SR, $BDDAT ;READ STATUS

801 007426 012737 040222 001124 MOV #MIT14!BIT7!BIT4!RIT1,$GDDAT ;LOAD EXPECTED
802 007434 023737 001124 001126 CMP $GDDAT ,$BDDAT . COMPARE

803 007442 001402 BEOQ 1% ;:BR IF SAME

804 007444 104012 ERROR 12 :"WCA OVFL'' FAILED TO
805 ;CLEAR "'ACTIVE'® (BIT 7 SET)

ggg 007446 000407 BR TST31 33

808 007450 005037 001124 1%: CLR $GDDAT ;CLEAR THE EXPECTED

809 007454 017737 172270 001126 MOV aOF F , $8DDAT READ THE ACTUAL

810 007462 001401 BEQ TST31 ;:BR IF CLEARED

811 007464 104012 ERROR 12 :"WCA INC X OFF"" IN MATRIX MODE C(HANGED

812 ;THE OFFSET REGISTER
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001126

VERIFY JOYSTICK DONE FLOP SETS SEQ 0044
:"iQtt.ttt.tt'tt.ltt.tt..t'!.ttil'...ﬁltlt'ttttttlQtt.ltt'ttttﬁtt
S*TEST 31 VERIFY JOYSTICK DONE FLOP SETS
:.'ttttttttt'ttﬁit.ﬁ'liﬁﬁi'ttiﬁtﬁ.ﬁt'tttﬁ'tﬁ'ttt'ﬁtt't.ttt.ttﬁttt.
7§731: SCOPE

MOV #40,8TIMES ::DO 40 ITERATIONS

MOV #CLRALL ,@SFR :CLEAR THE DEVICE

BIS #REDJOY . aSFR :REQUEST JOYSTICK DATA

MOV CPUDL1.RO :LOAD DELAY COUNTER
1%: TSTB  @SFR ‘WAIT FOR JOYSTICK READY

BM] 2% ‘BR IF SET

DEC RO *DELAY

BNE 18 *BR IF NOT EXHAUSTED

MOV aSFR, $SBDDAT *READ STATUS

MOV #B1T7,$GDDAT :LOAD EXPECTED

ERROR 14 ST JOYSTICK READY'' FAILED TO SET
<NOW PERFORM A '‘TST'' INSTRUCTION TO THE JOYSTICK REGISTER
; THE ACCESS OF THIS BUS ADDRESS SHOULD CLEAR JOY READY FLOP''
2s: ST 3JoyY ;ADDRESS THE REGISTER

MOV aSFR,$BDDAT :READ STATUS

TSTB  $BDDAT STEST IF THE BIT CLEARED

BPL 1ST32 ::BR IF YES

CLR $GDDAT :LOAD EXPECTED

ERROR 14 *ADDRESSING THE JOYSTICK ADDRESS FAILED TO CLEAR
.'.'tttttttttltttittitt.tttttttltQttttttiilt.tﬁt.tﬁi..‘.t.'lttitt't.
;*TEST 32 VERIFY THAT "RESET'' INSTRUCTION CLEARS THE JOY READY FLOP
:."lﬁ"!t'.tttt'tttﬁ..tt'lt..lt..tﬁ'..'l.ﬁt..'...t.ﬁtt.titt'!ttﬁ.
TST32: SCOPE

MOV #40,$TIMES ::DO 40 ITERATIONS

MOV #CLRALL ,@SFR :CLEAR THE DEVICE

BIS #REDJOY . @SFR “REQUEST OYSTICK DATA

MOV CPUDL1,RO :LOAD DELAY
1$: ISTB  aSFR *WAIT FOR JOYSTICK READY

BM] 2s ‘BR IF SET

DEC RO :DELAY

BNE 1% *BR IF NOT EXHAUSTED

MOV aSFR, SBDDAT *READ STATUS

MOV #B1T7.$GDDAT :LOAD EXPECTED VALUE

ERROR 14 *JOY READY FAILED TO SET
-NOWw ISSUE A ''CLR ALL'® AND VERIFY THE ''JOY READY'' DOES NOT CLEAR
2%: BIS #CLRALL ,@SFR :GENERATE ‘'CLR ALL''

MOV aSFR, $BDDAT “READ STATUS

MOV #B1T7,$GDDAT :LOAD EXPECTED VALUE

cMP $GDDAT , $BDDAT - COMPARE

BEQ 3s ::BR IF SAME

ERROR 14 -“'CLR ALL'' CLEARED THE ‘'JOY READY'' FLOP IN ERROR
-NOW ISSUE A BUS 'RESET'' AND VERIFY THE JOY READY'' CLEARS
3s: RESET :BUS "INIT"

MOV aSFR,SBDDAT *READ STATUS

MOV #0,$GDDAT *LOAD EXPECTED

MOV aSFR, SBDDAT “READ STATUS

BEQ TST3% ::BR IF CLEARED

ERROR 14 ;BUS INIT FAILED TO CLEAR JOY READY
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(ZNCCB.PT 31-AUG=79 11:

21 132 VERIFY THAT ‘RESET'* INSTRUCTION CLEARS THE JOY READY FLOP SEQ 0045

7
372 .'.'ﬁ".tit.t.i..'.i't...."tit.ttt'tQtit.tl‘li.i'.itt'tttt'tt.'t'.t
(3) S«TEST 33 JOYSTICK DATA PATH = GAIN =0 7B FNABLE =0 RES. = 000
(3) ;.'ttt'tQtt't'.'tt.ttt"t.ttl.t.t't..tt'l.t"tt't't'tt.'tttttttt'.
(2) 007740 000004 TST33: SCOPE

(1) 007742 012737 000010 001160 MOV #10,$TIMES ::DO 10 ITERATIONS
875 007750 012777 004CN0 172000 MOV #CLRALL ,@SFR :CLEAR THE DEVICE

(1) 907756 012777 000014 171772 MOV NTSTCON! TSTDMA,aSFR “SET TEST CONTROLLER FLOP
(1) 007764 012777 000000 171754 MOV #0,aCSR :LOAD CSR REGISTER

(1) 007772 052777 000001 171756 BIS #REDJOY , @SFR :REQUEST JOYSTICE DATA
(1) 010000 105777 171752 18: 1STB  @SFR “WAIT FOR JOYSTICE READY
(1) 01000¢4 100375 BPL 18

(1) 010006 017737 171750 001126 MOV aJOY,$S8DDAT :READ THE REGISTER

(1) 010014 012737 000000 001124 MOV #0,$GDDAT :LOAD EXPECTED

(1) 010022 023737 001124 001126 CMP SGDDAT , SBDDAT - COMPARE
876 010030 001401 BEQ TST34 ;:BR IF SAME
g;g 010032 104015 ERROR 15 S JOYSTICK DATA PATH BIT SET
879 :.'ttt'tﬁttt'ttt.tttt.titititliittittttittttttt't‘tﬁﬁ'litttﬁtttttt
(3) SwTEST 34 JOYSTICK DATA PATH = GAIN =1

(3) .'.'ttt?t't'tﬁttﬁttttttlittttttttt.it.tttﬁtttttttt'ttttttttttttttt'
(2) 010034 000004 TST34: SCOPE

(1) 010036 012737 000010 001160 MOV #10,STIMES ::D0 10 ITERATIONS
880 010044 012777 004000 171704 MOV #CLRALL ,@SFR :CLEAR THE DEVICE

(1) 010052 012777 000014 171676 MOV #TSTCON! TSTDMA, aSFR *SET TEST CONTROLLER FLOP
(1) 010060 012777 002000 171660 MOV #2000, aCSR :LOAD CSR REGISTER

(1) 010066 052777 000001 171662 BIS #REDJOY , aSFR *REQUEST JOYSTICE DATA
(1) 010074 105777 171656 18: TSTB  a@SFR ‘WAIT FOR JOYSTICE READY
(1) 010100 100375 BPL 1%

(1) 010102 017737 171654 001126 MOV aJ0Y,SBDDAT :READ THE REGISTER

(1) 010110 012737 124250 001124 MOV #126250, SGDDAT *LOAD EXPECTED

(1) 010116 023737 0011264 001126 P $GDDAT , $BDDAT - COMPARE
881 010124 001401 ‘ BEQ TST3S ::BR IF SAME
ggg 010126 104015 ERROR 15 “JOYSTICK DATA PATH ERROR
w ;"tttttttt.tlttttttttttttttltttt.ﬁtﬁtttttt'tttﬁ'tltﬁttttt.ttt!tlt
(3) S*TEST 35 JOYSTICK DATA PATH = ZB ENABLE =1

3 IR RN AR AN AR R AR AN AR AR R AR AR AN R AR AR AR AR AR AR AR AR RN R R AR
(2) 010130 TST35: SCOPE

(1) 010132 012737 000010 001160 MOV #10,8TIMES ;:D0 10 ITERATIONS
885 010140 012777 004000 171610 MGV #CLRALL ,@SFR :CLEAR THE DEVICE

(1) 010146 012777 000014 171602 MOV #TSTCON! TSTDMA, aSFR “SET TEST CONTROLLER FLOP
(1) 010156 012777 004000 171564 MOV #4000, 3CSR *LOAD CSR REGISTER

(1) 010162 052777 000001 171566 BIS #REDJOY , aSFR *REQUEST JOYSTICE DATA
(1) 010170 105777 171562 18: TSTB  a@SFR ‘WAIT FOR JOYSTICE READY
(1) 0101764 100375 BPL 18

(1) 070176 017737 171560 001126 MOV aJOY, SBDDAT :READ THE REGISTER

(1) 0102064 012737 050120 001124 MOV #050120, SGDDAT *LOAD EXPECTED

(1) 010212 023737 001124 001126 c™P $GDDAT , $BDDAT : COMPARE
886 010220 001401 BEQ T1ST36 ;:BR [F SAME
887 010222 104015 ERROR 15 :JOYSTICK DATA PATH FRROR
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CINCCB.P11 31-AUG=79 11:21 JOYSTICK DATA PATH RES. = 001 SEQ 0046

.'"'."ﬁ'ﬁ'.""......‘..".'QI‘..'QQQ.Q'.QQl.lﬁtt.ttit'.."!'....'

(3) ;*TEST 36 JOYSTICK DATA PATH RES. = 001

(3) .':ttttit'tttttttttiitttttttttt'tttttttttttﬁtttﬁtttt'ttt'tttttQitt

(2) 010224 000004 TST36: SCOPE

(1) 010226 012737 000010 001160 MOV #10,8TIMES ;:D0 10 ITERATIONS

890 010234 012777 004000 171514 MOV #CLRALL ,aSFR :CLEAR THE DEVICE

(1) 010242 012777 000014 171506 MOV #TSTCON!TSTDMA ,aSFR JSET TEST CONTROLLER FLOP

(1) 010250 012777 000023 171470 MOV #23,aCSR :LOAD CSR REGISTER

(1) 010256 052777 000001 171472 BIS #REDJOY ,aSFR :REQUEST JOYSTICE DATA

(1) 010264 105777 171466 1%: TSTB aSFR JWAIT FOR JCYSTICE READY

(1) 010270 100375 BPL 1%

(1) 010272 017737 171464 001126 MOV aJOY ,$8DDAT JREAD THE REGISTER

(1) 010300 012737 000401 001124 MOV #6401 ,3GDDAT ;LOAD EXPECTED

(1) 010306 023737 001124 001126 CMP SGDDAT ,$BDDAT ; COMPARE

891 010314 001401 BEQ TST37 ::BR IF SAME

89% 010316 104015 ERROR 15 :JOYSTICK DATA PATH ERROR RES. = 001

é.&. ""ﬁﬁtﬁﬁ...ﬁ*'.i*tt*ttﬁttt'*tﬁtﬁtttttttitttt.tit'ttttttttﬁtt"'iit

(3) ;«TEST 37 JOYSTICK DATA PATH RES. = C10

(3) ;.'tttttttttttﬁﬁtltﬁtttttQﬁtttttttttQtttttttt*tlttttttlttlQtttttt.

(2) 010320 000004 TST37: SCOPE

(1) 010322 012737 000010 001160 MOV #10,8TIMES ;:D0 10 ITERATIONS

895 010330 012777 004000 171420 MOV #CLRALL ,aSFR :CLEAR THE DEVICE

(1) 010336 012777 000014 171412 MOV #TSTCON!TSTDMA,aSFR :SET TEST CONTROLLER FLOP

(1) 010344 012777 000025 171374 MOV #25,3CSR :LOAD CSR REGISTER

(1) 010352 052777 000001 171376 BIS #REDJOY ,aSFR JREQUEST JOYSTICE DATA

(1) 010360 105777 171372 1%: TSTB aSFR JWAIT FOR JOYSTICE READY

(1) 010364 100375 BPL 18

(1) 010366 017737 171370 001126 MOV aJOY ,$BDDAT ;READ THE REGISTER

(1) 010374 012737 001002 001124 MOV #1002, SGDDAT *LOAD EXPECTED

(1) 010402 023737 001124 001126 cMP $SGDDAT , $BDDAT : COMPARE

89 010410 001401 3EQ TST40 ;:BR IF SAME

ggg 010412 104015 ERROR 15 :JOYSTICK DATA PATH ERROR RES. = 010

BGQ IR AR AR R AR AR R AR AR AR R AR R RN R RN RN R R AR R AN R AR R RAR R RN RS

(3) ;*TEST 40 JOYSTICK DATA PATH RES. = 100

(3 SRR RN AR AR AR AR A AN R AN A AN AR AR AN AN AN AR AN RN AR R AR RO RN RN

(2) 010414 000004 TS740: SCOPE

(1) 010416 012737 000010 001160 MOV #10,8TIMES ::D0O 10 ITERATIONS

900 010424 012777 004000 171324 MOV #CLRALL ,aSFR ;CLEAR THE DEVICE

(1) 010432 012777 000014 171316 MOV #TSTCON!TSTDMA,aSFR ;SET TEST CONTROLLER FLOP

(1) 010440 012777 000031 1771300 MOV #3171 ,a(SR :LOAD CSR REGISTER

(1) 010446 052777 000001 171302 BIS #REDJOY ,aSFR ;REQUEST JOYSTICE DATA

(1) 010454 105777 171276 1%: TSTB aSFR ;WAIT FOR JOYSTICE READY

(1) 010460 100375 BPL 1%

(1) 010462 017737 171274 001126 MOV aJOY,$8DDAT ;READ THE REGISTER

(1) 010470 012737 002004 001124 MOV #2004 ,$GDDAT :LOAD EXPECTED

(1) 010476 023737 001124 001126 CMP $GDDAT , $BDDAT : COMPARE

901 010504 001401 BEQ TST41 ;:BR IF SAME

902 010506 104015 ERROR 15 :JOY STICK DATA PATH FRROR RES. = 100
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T41 VERIFY THE DATA INCREMENT FUNCTION
::tit.tt..ttttt'.ttttttttt'lQttt'tt!tt.ttt.tt'ttt.ttttt't'tttttt'
:«TEST 41 VERIFY THE DATA INCREMENT FUNCTION
::ttti'ttﬁtttttttQttttttt"'ttitﬁtttttﬁt..ttt't..ttt.tﬁ..t'nttQtt
TST41: SCOPE

MOV #10,8TIMES ;:D0 10 ITERATIONS

MOV #CLRALL ,aSFR :CLEAR THE DEVICE

MOV #TSTCON'TSTDMA ,aSFR ;SET TEST CONTROLLER FLOP

MOV #421,aCSR :LOAD CSR REGISTER

BIS #REDJOY ,aSFR :REQUEST JOYSTICE DATA
1%: ;gle ?grR JWAIT FOR JOYSTICE READY

MOV aJOY,$8DDAT JREAD THE REGISTER

MOV #4017 ,8GDDAT ;LOAD EXPECTED

CMP $GDDAT , $BDDAT ; COMPARE

BEQ TST42 ;:BR IF SAME

ERROR 16 JMAINT. CAMOT1 FAILED TO INCREMENT DATA REGISTER
:;ttttl.tttttttttt.'t'tttttttttttt.ttttttt'itttﬁttt't'tﬁ"t't.'tt
;*TEST &2 VERIFY THE DATA INCREMENT CARRY BIT

':t**'ﬁ*..*t...t'ttt.ttt.i'!lt.t".t!tttt"."i.'tl'.ttt.t""'.t

TST42: SCOPE

MOV #10,STIMES ;:D0 10 ITERATIONS

MOV #CLRALL ,aSFR ;CLEAR THE DEVICE

MOV #TSTCON!TSTDMA ,aSFR sSET TEST CONTROLLER FLOP

MOV #2437 ,aCSR ;LOAD CSR REGISTER

BIS #REDJOY ,aSFR sREQUEST JOYSTICE DATA
1$: ;STB ?gFR JWAIT FOR JOYSTICE READY

L

MOV aJOY,$8DDAT ;READ THE REGISTER

MOV #130260, SGDDAT ;LOAD EXPECTED

CMP SGDDAT , $BDDAT . COMPARE

BEQ TST43 ;:BR IF SAME

ERROR 16 ;MAINT. CAMO1 WITH RES.=7, G=1, ZB =0

sFAILED TO CAUSE DATA INCREMENT CARRY PROPERLY

:'ltttttttlttttttttl"Q'tttﬁtttt't*ﬁﬁﬁ'ﬁﬁt..'Q.Qtﬁttt'it'!i'i'tiI

S*TEST 43 VERIFY THE DATA INCREMENT FUNCTION IS INHIBITED

e i 2322232322223 22323323323233323 322322 2022 022 2 2R 222200220

TST43: SCOPE

MOV #10,$TIMES ::DO 10 ITERATIONS

MOV #CLRALL ,@SFR :CLEAR THE DEVICE

MOV #TSTCON' TSTDMA, aSFR *SET TEST CONTROLLER FLOP

MOV #6437 ,aCSR *LOAD CSR REGISTER

BIS #REDJOY , @SFR *REQUEST JOYSTICE DATA

1$: égrs ?irn ‘WAIT FOR JOYSTICE READY
L

MOV 3JOY, $BDDAT :READ THE REGISTER

MOV #177777 ,$GDDAT :LOAD EXPECTED

CMP $GDDAT, $BDDAT : COMPARE

BEQ TSThé4 ::BR I5 SAME

ERROR 16 “FAILED TO INHIBIT DATA INCREMENT FUNCTION
“IF THE BAD DATA WAS 0

SEQ 0047
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000004
012737
012777
012777
012777
052777
105777
100375
017737
012737
023737
001401
104017

000004
012737
012777
012777
012777
052777
105777
100375
017737
012737
023737
001401
104017

000004
012737
012777
012777
012777
052777
105777
100375
017737
012737
023737
001401
104017

000010
004000
000014
001023
000001
170716

170714
000000
001124

000010
004000
000014
007037
170622
170620

177376
001124

000010
004000
000014
001021
000001
170526
170524
000000

001124

LR
MACY11 30G(1063) 31-AUG=79 13:10 PAGE 27
T4b VERIFY THE DATA DECREMENT FUNCTION SEQ 0048

e iiii2323 22202230230 il iRl iRl RRRRRRdRRRRRRdd)

TRTEST 44 VERIFY THE DATA DECREMENT FUNCTION

2222232332222 2202202 2R R Rl d )

TST44: SCOPE

001160 MOV #10,8TIMES ;.D0 10 ITERATIONS
170744 MOV #CLRALL ,aSFR ;CLEAR THE DEVICE
170736 MOV HTSTCON!TSTDMA ,aSFR sSET TEST CONTROLLER FLOP
170720 MOV #1023,aCSR ;LOAD CSR REGISTER
170722 BIS #REDJOY ,aSFR JREQUEST JOYSTICE DATA
1$: ggTB ?gFR JWAIT FOR JOYSTICE READY
L
001126 MOV aJOY,$8DDAT ;READ THE REGISTER
001124 MOV #0,$GDDAT ;LOAD EXPECTED
001126 CMP $GDDAT , $BDDAT . COMPARE
BEQ TST45 ;.BR IF SAME
ERROR 17 ;IF DATA WAS 401, THE DATA DECREMENT FUNCTION FAILED

;OTHERWISE DECREMENTED DATA ERROR

f AR A A A AR A A A A A A A AR A A A AR A A A A AR A AR A AR A AR AR AR A AR A A AR A AR AW

S*TEST 45 VERIFY THE DATA DECREMENT BORROW

a2 2232222222222 2220332222222ttt Rl d R

TST4S: SCOPE

001160 MOV #10,$TIMES ::DO 10 ITERATIONS
170650 MOV #CLRALL ,@SFR :CLEAR THE DEVICE
170642 MOV #TSTCON' TSTDMA, aSFR :SET TEST CONTROLLER FLOP
170624 MOV #7037 .,aCSR :LOAD CSR REGISTER
170626 BIS #REDJOY , aSFR *REQUEST JOYSTICE DATA
1$: ;gra ?gfn *WAIT FOR JOYSTICE READY
L

001126 MOV aJOY, SBDDAT :READ THE REGISTER
001124 MOV #177%76,$GDDAT :LOAD EXPECTED
001126 CMP $GDDAT, $BDDAT - COMPARE

BEQ TST46 ::BR IF SAME

ERROR 17 :DECREMENTED DATA ERROR

;'tQﬁttttt'ttttw‘lt**.tt'tttﬁttt"!*ﬁttttt.tit*'*l!t"ﬁit.ittt!tt

S*TEST 46 VERIFY THE DATA DECREMENT FUNCTION IS INHIBITED

T A AR AR A A AN A A A AR AR AR A A AR A A AR A AR AR A AR A AR AR AR A A AR AR AR A AR AR

TST46: SCOPE

001160 MOV #10,STIMES ;:D0 10 ITERATIONS
170554 MOV #CLRALL ,aSFR ;CLEAR THE DEVICE
170546 MOV #TSTCON!TSTDMA,aSFR sSET TEST CONTROLLER FLCP
170530 MOV #1021,aCSR ;LOAD CSR REGISTER
170532 BIS #REDJOY ,aSFR sREQUEST JOYSTICE DATA
1%: éng ?gFR ;WAIT FOR JOYSTICE READY
001126 MOV aJOY , $8DDAT ;READ THE REGISTER
001124 MOV #0,$GDDAT sLOAD EXPECTED
001126 CMP $GDDAT , $BDDAT . COMPARE
BEQ TST47 ;:BR IF SAME
ERROR 17 ;INHIBIT DECREMENT FUNCTION ERROR

:1F DATA WAS 177777




K 4
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CZNCCB.P11 31-AUG=79 11:21 TEST ADDRESS MAKER =~ MATRIX MODE - RES = 7 GAIN = 0 ZB ENABLE = 0 SEQ 0049
956 AR R AR AR AN RN AR AR AN AR AR AR AR AR AR AR RN AN AN RR AR R AR
(4) J*TEST &7 TEST ADDRESS MAKER = MATRIX MODE - RES = 7 GAIN = 0 7B ENABLE = 0
((') :.-ttt'ﬁttttttttttttt!tttttttt*ttttlttttttttttttttlttttttttttttttQ
(3Y 011260 000004 TST47: SCOPE
(2" 011262 012737 000010 001160 MOV #10,8TIMES ;:D0 10 ITERATIONS
(1) 011270 012777 004000 170460 MOV #CLRALL ,aSFR ;CLEAR DEVICE =
(1) 011276 012777 000014 170452 MOV #TSTDMA! TSTCON,aSFR sSET ""TEST DMA AND CONTROL
(1) 011304 012777 000036 170434 MOV #36,aCSR :LOAD RESOLUTION, GAIN, 2B ENABLE VALUE
(1) 011312 052777 000002 170436 BIS #TESTZ,aSFR sJENABLE "‘TEST Z'' PULSES
(1) 011320 052777 000001 170420 BIS #IT70,aCSR ;SET ENABLE NCV11
(1) 011326 042777 000002 170422 BIC #TESTZ,3SFR ;DISABLE “TEST Z'' PULSES
(1) 011334 017737 170420 001126 MOV aADM_S$BDDAT JREAD THE ADDRESS DATA MAKER
(1) 011342 012737 003407 001124 MOV #3407, SGDDAT :LOAD EXPECTED VALUE
(1) 011350 023737 001126 001126 CMP $GDDAT ,$BDDAT :COMPARE EXPECTED TO READ
(3) 011356 001401 BEQ TSTS0O ;:BR IF SAME
(1) 011360 104020 ERROR 20 ;s INCORRECT ADDRESS MAKER DATA
(1) 3 RESOLUTION = 7 GAIN = 0 2B ENABLE = 0
957 .'.'tttittttttttttttttttttt'tt'ttttt.ttttﬁtttiit!tttttttttttttttttt
(4) S*TEST 50 TEST ADDRESS MAKER =~ MATRIX MODE - RES = 7 GAIN = 1 7B ENABLE = 0
(l.) :.'ttlttttttttttﬁtlt*tttt"t*t*t*.tttittttttttt!tttttttttttttttttt
(3) 011362 000004 TST50: SCOPE
(2) 011364 012737 000010 001160 MOV #10,STIMES ;:D0 10 ITERATIONS
(1) 011372 012777 004000 170356 MOV #CLRALL ,aSFR ;CLEAR DEVICE
(1) 011400 012777 000014 170350 MOV #TSTDMA!TSTCON,aSFR sSET ""TEST DMA AND CONTROL''
(1) 011406 012777 002036 170332 MOV #2036,aCSR ;LOAD RESOLUTION, GAIN, ZB ENABLE VALUE
(1) 011414 052777 000002 170334 BIS #TESTZ,aSFR ;ENABLE '‘TEST 2'' PULSES
(1) 011422 052777 000001 170316 BIS #81T70,aCSR ;SET ENABLE NCV11
(1) 011430 042777 000002 170320 BIC #TESTZ,aSFR ;DISABLE '‘TEST 2'' PULSES
(1) 011436 017737 170316 001126 MOV aADM, SBDDAT JREAD THE ADDRESS DATA MAKER
(1) 011444 012737 127657 001124 MOV #127657 ,8$GDDAT ;LOAD EXPECTED VALUE
(1) 011452 023737 001124 001126 CMP $GDDAT , $BDDAT ; COMPARE EXPECTED TO READ
(3) 011460 001401 BEQ TSTS51 ;:BR IF SAME
(1) 011462 104020 ERROR 20 s INCORRECT ADDRESS MAKER DATA
(1) - RESOLUTION = 7 GAIN = 1 7B ENABLE = 0
958 :-ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt
(4) ;*TEST 51 TEST ADDRESS MAKER = MATRIX MODE = RES = 7 GAIN = 0 ZB ENABLE = 1
(l.) .-.-ttt*tttttttttttttttttttttttttltttltll'tttt'ttttt!ttttttttt'tttt
(3) 011464 000004 TST51: SCOPE
(2) 011466 012737 000010 001160 MOV #10,8TIMES ;:D0 10 ITERATIONS
(1) 011474 012777 004000 170254 MOV #CLRALL ,aSFR ;CLEAR DEVICE
(1) 011502 012777 000014 170246 MOV #TSTDMA!TSTCON,aSFR ;SET ""TEST DMA AND CONTROL''
(1) 011510 012777 004036 170230 MOV #4036,aCSR ;LOAD RESOLUTION, GAIN, ZB ENABLE VALUE
(1) 011516 052777 000002 170232 RIS #TESTZ ,aSFR sJENABLE “‘TEST Z'' PULSES
(1) 011524 052777 000001 170214 BIS #81T0,aCSR sSET ENABLE NCV11
(1) 011532 042777 000002 170216 BIC #TEST2,aSFR ;DISABLE “TEST Z'' PULSES
(1) 011540 017737 170214 001126 MOV @ADM_$BDDAT ;READ THE ADDRESS DATA MAKER
(1) 011546 012737 053527 001124 MOV #053527 , SGLDAT :LOAD EXPECTED VALUE
(1) 011554 023737 0011246 001126 CMP $GDDAT , $BDDAT ;COMPARE EXPECTED TO READ
(3) 011562 001401 BEQ TSTS2 ;:BR IF SAME
(1) 011564 104020 ERROR 20 s INCORRECT ADDRESS MAKER DATA
(1) . RESOLUTION = 7 GAIN = 0 2B ENABLE = 1




L 4
CZNCCB NCV11 _ DIAGNOSTIC MACY11 3??51063) 31-AUG=-79 13:10 PAGE 29

CINCCB.P1T  31-AUG=79 11:21 TEST ADDRESS MAKER =- MATRIX MODE = RES = 6 GAIN = 0 ZB ENABLE = 0 SEQ 0050
%0 ::tititi.lit'tt*ltttﬁﬁl"ﬁtttitﬁﬁﬁl'ﬁﬁﬁtﬁttﬁ'.ﬁﬁﬁtiﬁﬁtﬁt'ﬁﬁ"'tttﬁ ‘
(4) S*TEST 52 TEST ADDRESS MAKER =- MATRIX MODE - RES = 6 GAIN = 0 ZB ENABLE = 0
(4) 2 :tt*'tttﬁitt'ﬁttlti*itttitittt.itﬁtiiiiitiitttiiti'i'ﬁtiitttiti.

(3) 011566 000004 T§7T52: SCOPE

(2) 011570 012737 000010 001160 MOV #10,$TIMES ;:D0 10 ITERATIONS

(1) 011576 012777 004000 170152 MOV #CLRALL ,@SFR :CLEAR DEVICE 3

(1) 011604 012777 000014 170144 MOV #TSTDMA! TSTCON,aSFR *SET ‘‘TEST DMA AND CONTROL

(1) 011612 012777 000034 170126 MOV #34,3CSR :LOAD RESOLUTION, GAIN, ZB ENABLE VALUE
(1) 011620 052777 000002 170130 BIS #TESTZ ,aSFR :ENABLE 'TEST Z'*PULSES

(1) 011626 052777 000001 170112 BIS #BIT0,aCSR :SET ENABLE NCV11

(1) 011634 042777 000002 17011, BIC #TESTZ,aSFR :DISABLE ""TEST Z'' PULSES

(1) 011642 017737 170112 001126 MOV @ADM, SBDDAT :READ THE ADDRESS DATA MAKER

(1) 011650 012737 001406 001124 MOV #1406, $GDDAT :LOAD EXPECTED VALUE

(1) 011656 023737 001124 001126 CMP $GDDAT , SBDDAT : COMPARE EXPECTED TO READ

(3) 011664 001401 BEQ TSTS3 ::BR IF SAME

(1) 011666 104020 ERROR 20 : INCORRECT ADDRESS MAKER DATA

(1) ; RESOLUTION = 6 GAIN = 0 2B ENABLE = 0

961 IR AA AR AR AR AR AR AR AR AR AN RN RRARARRARRRRRRNRAR AR

(4) S*TEST 53 TEST ADDRESS MAKER = MATRIX MODE - RES = 6 GAIN = 1 7B ENABLE = 0
(l’) :"ittit**tt*iiitttﬁtl‘itttﬁttttt’ttititﬁittt*i*tttt..ii'tiﬁﬁttttitt

(3) 011670 000004 TST53: SCOPE

(2) 011672 012737 000010 001160 MOV #10,STIMES ;:D0 10 ITERATIONS

(1) 011700 012777 004000 170050 MOV #CLRALL ,@SFR :CLEAR DEVICE

(1) 011706 012777 000014 170042 MOV #TSTDMA! TSTCON,aSFR :SET "‘TEST DMA AND CONTROL'’

(1) 011714 012777 002034 170024 MOV #2034 ,aCSR :LOAD RESOLUTION, GAIN, ZB ENABLE VALUE
(1) 011722 052777 000002 170026 BIS #TESTZ ,aSFR *ENABLE '‘TEST 2'“PULSES

(1) 011730 052777 000001 170010 BIS #81T0,aCSR :SET ENABLE NCV1]

(1) 011736 042777 000002 170012 BIC #TESTZ ,aSFR :DISABLE "TEST Z'* PULSES

(1) 011744 017737 170010 001126 MOV @ADM , SBDDAT :READ THE ADDRESS DATA MAKER

(1) 011752 012737 053656 001124 MOV #53656,$GDDAT :LOAD EXPECTED VALUE

(1) 011760 023737 001124 001126 CMP $GDDAT , SBDDAT :COMPARE EXPECTED TO READ

(3) 011766 001401 BEQ TST54 ;:BR IF SAME

(1) 011770 104020 ERROR 20 : INCORRECT ADDRESS MAKER DATA

(1) ; RESOLUTION = 6 GAIN = 1 2B ENABLE = 0

%2 > "Iﬁttﬁltttﬁtﬁttttﬁttﬁtt'ﬁﬁﬁtﬁQ!"ﬁQQ"*'*..‘ﬁ*"ﬁ.t"ﬁiﬁt‘ﬁt"ﬁ.t

(4) S*TEST 54 TEST ADDRESS MAKER =- MATRIX MODE - RES = 6 GAIN = 0 ZB ENABLE = 1
(l.) 2 s 132233333333 33333333 3333333333333 33333333333333383333333333332323233%8]

(3) 011772 000004 TSTS4: SCOPE

(2) 011774 012737 000010 001160 MOV #10,STIMES ;:D0 10 ITERATIONS

(1) 012002 012777 004000 167746 MOV #CLRALL ,@SFR :CLEAR DEVICE .

(1) 012010 012777 000014 167740 MOV #TSTOMA! TSTCON, @SFR :SET "“TEST DMA AND CONTROL''

(1) 012016 012777 004034 167722 MOV #4034 ,aCSR :LOAD RESOLUTION, GAIN, 7B ENABLE VALUE
(1) 012026 052777 000002 167724 BIS #TESTZ ,aSFR :ENABLE '‘TEST Z'“PULSES

(1) 012032 052777 000001 167706 BIS #BIT0,aCSR :SET ENABLE NCV11

(1) 012040 042777 000002 167710 BIC #TESTZ ,@SFR *DISABLE "TEST Z'* PULSES

(1) 012046 017737 167706 001126 MOV @ADM  SBDDAT :READ THE ADDRESS DATA MAKER

(1) 012054 012737 125526 001124 MOV #125526,$GDDAT *LOAD EXPECTED VALUE

(1) 012062 023737 001124 001126 CMP $GDDAT , $BDDAT :COMPARE EXPECTED TO READ

(3) 012070 007401 BEQ TSTSS ::BR IF SAME

(1) 012072 104020 ERROR 20 : INCORRECT ADDRESS MAKER DATA

(1) ; RESOLUTION = 6 GAIN = 0 2B ENABLE = 1
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012176
012200
012206
012214
012222
012230
012236
012244
012252
012260
012266
012274
012276

DIAGNOSTIC

000004
012737
012777
012777
012777
052777
052777
042777
017737
012737
023737
001401
104020

000004
012737
012777
012777
012777
052777
052777
042777
017737
012737
023737
001401
104020

31-AUG=79 11: 21

000010

000014
004032

167400
052452
001124

MACY11 30G(1063)
T55

001160
167644
167636
167620
167622
167604
167606
001126
001124
001126

001160
167542
167534
167516
167520
167502
167504
001126
001124
001126

001160
167440
167432
167414
167416
167400
167402
001126
001124
001126

1$155:

M4
31-AUG=79 13:10 PAGE 30
TEST ADDRESS MAKER = MATRIX MODE = RES = 5 GAIN = 0 ZB ENABLE = 0

a3 i3 323038222 2ttt d ittt ittt dldddd ]

s*TEST 55

a2 2222322222222 R R iR iR iRttt Rt Rddddddddd])

SCOPE
MOV
MOV
MOV
MOV
BIS
BIS
BIC
MOV
MOV
CMP
BEQ
ERROR

TEST ADDRESS MAKER =~ MATRIX MODE - RES = 5 GAIN = 0 ZB ENABLE = 0

#10,STIMES ::D0 10 ITERATIONS

#CLRALL ,aSFR ;CLEAR DEVICE
#TSTDMA!TSTCON,aSFR ;SET "'TEST DMA AND CONTROL''
#32,3CSR ;LOAD RESOLUTION, GAIN, ZB ENABLE VALUE
N#TESTZ,aSFR JENABLE ‘‘TEST Z'' PULSES
#BIT0,aCSR sSET ENABLE NCV11

#TESTZ ,aSFR ;DISABLE '‘TEST Z'' PULSES
@ADM, SBDDAT ;READ THE ADDRESS DATA MAKER
#402 ,$GDDAT :LOAD EXPECTED VALUE

$GDDAT ,$BDDAT : COMPARE EXPECTED TO READ
TST56 ;:BR IF SAME

20 : INCORRECT ADDRESS MAKER DATA

RESOLUTION = 5 GAIN = 0 ZB ENABLE = 0

L4
a it 222222323ttt dddddddd

T*TEST 56

A AR AR A A A A A AR A A A A A A A A A A A A A A A A A A A A A A A A AR AR A AR A A A A A A A A Aok

TST56:

SCOPE
MOV
MOV
MOV
MOV
BIS
BIS
BIC
MOV
MOV
CMP
BEQ
ERROR

TEST ADDRESS MAKER - MATRIX MODE - RES = 5 GAIN = 1 ZB ENABLE = 0

#10,$TIMES ::DO 10 ITERATIONS

#CLRALL , @SFR :CLEAR DEVICE

#TSTDMA! TSTCON, aSFR *SET ''TEST DMA AND CONTROL''

#2032,aCSR :LOAD RESOLUTION, GAIN, ZB ENABLE VALUE
#TESTZ.aSFR *ENABLE '‘TEST 2'* PULSES

#8170, aCSR *SET ENABLE NCV11

ATESTZ,aSFR *DISABLE '‘TEST 2'* PULSES

@ADM, SSDDAT :READ THE ADDRESS DATA MAKER
#25526,$GDDAT :LOAD EXPECTED VALUE

$GDDAT , $BDDAT :COMPARE EXPECTED TO READ
TST57 ;:BR IF

SAME
20 : INCORRECT ADDRESS MAKER DATA
RESOLUTION = 5 GAIN = 1 7B ENABLE = 0

;'i*.ﬁt*ttttﬁttttttt.t.t*'tttltl'iﬁﬁ'ﬁ.t'tt".*'ﬁ!titttiﬁ.t!ttﬁit

S*TEST 57

A A A A A A A A A A A A A A A A A A A A A A A A A AR AR AR A A AR AR A AR A A A AR A A AR AR A A A AR R A A

TST57:

SCOPE
MOV
MOV
MOV
MOV
BIS
BIS
BIC
MOV
MOV
CMP
BEQ
ERROR

TEST ADDRESS MAKER -~ MATRIX MODE - RES = 5 GAIN = 0 ZB ENABLE = 1

#10,STIMES ::D0 10 ITERATIONS

#CLRALL ,@SFR :CLEAR DEVICE

#TSTDMA! TSTCON,@SFR *SET ""TEST DMA AND CONTROL''

#4032,3CSR :LOAD RESOLUTION, GAIN, ZB ENABLE VALUE
#TESTZ,aSFR *ENABLE '‘TEST 2'“PULSES

#BIT0,3CSR :SET ENABLE NCV11

ATESTZ,aSFR :DISABLE '‘TEST 2'* PULSES

@ADM, SBDDAT *READ THE ADDRESS DATA MAKER

#52452 ., $GDDAT *LOAD EXPECTED VALUE

$GDDAT ,$BDDAT :COMPARE EXPECTED TO READ
TST60 ;:BR IF

SAME
20 . INCORRECT ADDRESS MAKER DATA
RESOLUTION = 5 GAIN = 0 7B ENABLE = 1

SEQ 0051




N &
CZNCCB NCV11 _ DIAGNOSTIC MACY11 3?2(()1063) 31-AUG=79 13:10 PAGE 31

CINCCB.P1T  31-AUG=79 11:21 TEST ADDRESS MAKER =~ MATRIX MODE = RES = 4 GAIN = 0 ZB ENABLE = 0 SEQ 0052
968 ::ttttttttttttttttttttttt'ttttttttttttttttttttttttttttttttttttttt
4) S*TEST 60 TEST ADDRESS MAKER =~ MATRIX MODE = RES = 4 GAIN = 0 7B ENABLE = 0
(4) :;'ttttttttt**tttttttttttttttttttttttttttitttttttttt'tttttttttitt
(3) 012402 000004 T$T60: SCOPE
(2) 012404 012737 000010 001160 MOV #10,$TIMES ::DO 10 ITERATIONS
(1) 012412 012777 004000 167336 MOV #CLRALL ,@SFR :CLEAR DEVICE »
(1) 012420 012777 000014 167330 MOV #TSTDMA! TSTCON,aSFR :SET "‘TEST DMA AND CONTROL
(1) 012426 012777 000030 167312 MOV #30,aCSR :LOAD RESOLUTION, GAIN, ZB ENABLE VALUE
(1) 012434 052777 000002 167314 BIS #TESTZ,aSFR :ENABLE '‘TEST 2'"PULSES
(1) 012442 052777 000001 167276 BIS #BIT0,aCSR :SET ENABLE NCV11
(1) 012450 042777 000002 167300 BIC #TESTZ,aSFR :DISABLE "‘TEST 2'* PULSES
(1) 012456 017737 167276 001126 MOV aADM, SBDDAT :READ THE ADDRESS DATA MAKER
(1) 012464 012737 000202 001124 MOV #202.$GDDAT :LOAD EXPECTED VALUE
(1) 012472 023737 001124 001126 CMP $GDDAT ,$8BDDAT ;COMPARE EXPECTED TO READ
(3) 012500 001401 BEQ TST61 ;:BR IF SAME
(1) 012502 104020 ERROR 20 ;INCORRECT ADDRESS MAKER DATA
1) 3 RESOLUTION = 4 GAIN = 0 7B ENABLE = 0
969 ;;tttttttttttttt*tittttttttttttttttttttttttttttttltttttttttttttﬁt
(4) ;=TEST 61 TEST ADDRESS MAKER = MATRIX MODE - RES = 4 GAIN = 1 7B ENABLE = 0
(4) ;:tttttttttttttttttttttttttttttttttttttttttttt*tttttttttttttttttt
(3) 012504 000004 7$T61: SCOPE
(2) 012506 012737 000010 001160 MOV #10,$TIMES ::D0O 10 ITERATIONS
(1) 012514 012777 004000 167234 MOV #CLRALL ,@SFR :CLEAR DEVICE ;
(1) 012522 012777 000014 167226 MOV #TSTDMA! TSTCON,aSFR :SET "‘TEST DMA AND CONTROL®
(1) 012530 012777 002030 167210 MOV #2030,aCSR :LOAD RESOLUTION, GAIN, ZB ENABLE VALUE
(1) 012536 052777 000002 167212 BIS #TESTZ,aSFR *ENABLE '‘TEST 2'* PULSES
(1) 012544 052777 000001 167174 BIS #81T0,aCSR *SET ENABLE NCV11
(1) 012552 042777 000002 167176 BIC #TESTZ,aSFR :DISABLE '‘TEST 2'* PULSES
(1) 012560 017737 167174 001126 MOV @ADM, SBDDAT *READ THE ADDRESS DATA MAKER
(1) 012566 012737 012726 001124 MOV #012726, SGDDAT :LOAD EXPECTED VALUE
(1) 012574 023737 001124 001126 CMP $GDDAT ,$BDDAT ;COMPARE EXPECTED TO READ
(3) 012602 001401 BEQ TST62 ;:BR IF SAME
(1) 012604 104020 ERROR 20 :INCORRECT ADDRESS MAKER DATA
(1) 3 RESOLUTION = & GAIN =1 ZB ENABLE = 0
970 ;:ttttttttttttttttltﬁItttttttttttttttttttttttttttttttttﬁttttttt‘t
(4) :*TEST 62 TEST ADDRESS MAKER - MATRIX MODE - RES = & GAIN = 0 ZB ENABLE = 1
(4) ;:t#ttttttttttttttttitttttttttttttttttttttttttttttttttttttttttttt
(3) 012606 000004 7ST62: SCOPE
(2) 012610 012737 000010 001160 MOV #10,$TIMES ::D0 10 ITERATIONS
(1) 012616 012777 004000 167132 MOV #CLRALL , @SFR :CLEAR DEVICE
(1) 012624 012777 000014 167124 MOV #TSTDMA'! TSTCON,aSFR :SET ""TEST DMA AND CONTROL''
(1) 012632 012777 004030 167106 MOV #4030,aCSR :LOAD RESOLUTION, GAIN, ZB ENABLE VALUE
(1) 012640 052777 000002 167110 BIS #TESTZ,aSFR *ENABLE '‘TEST 2'* PULSES
(1) 012646 052777 000001 167072 BIS #81T0,3CSR :SET ENABLE NCV11
(1) 012654 042777 000002 167074 BIC #TESTZ,aSFR *DISABLE '‘TEST 2'* PULSES
(1) 012662 017737 167072 001126 MOV @ADM, SBDDAT *READ THE ADDRESS DATA MAKER
(1) 012670 012737 025252 001124 MOV #025252 , $GDDAT :LOAD EXPECTED VALUE
(1) 012676 023737 001124 001126 cMP $GDDAT, $8DDAT -COMPARE EXPECTED TO READ
(3) 012704 001401 BEQ TST63 ;:BR IF SAME
(1) 012706 104020 ERROR 20 - INCORRECT ADDRESS MAKER DATA
(1) H RESOLUTION = & GAIN = 0 2B ENABLE =1




B 5
CINCCB NCVI1  DIAGNOSTIC MACY11 30G(1063) 31-AUG=79 13:10 PAGE 32

CINCCB.P11 31-AUG=79 11:21 163 TEST ADDRESS MAKER =~ MATRIX MODE - RES = 3 GAIN = 0 ZB ENABLE = 0 SEQ 0053
972 IR AR AR AR AR R A AR R AR A AR R A AR AR RN RN RN AR AN AR AR AR AR AR oh :
(4) J*TEST 63 TEST ADDRESS MAKER = MATRIX MODE - RES = 3 GAIN = 0 ZB ENABLE = 0
(4) JIARAA AR AR AR AR AR AR AR AR AR AR AN RN AR AR AR AR RARRARR AR AR AR
(3) 012710 000004 TST63: SCOPE
(2) 012712 012737 000010 001160 MOV #10,$TIMES ;:D0 10 ITERATIONS
(1) 012720 012777 004000 167030 MOV #CLRALL ,aSFR ;CLEAR DEVICE
(1) 012726 012777 000014 167022 MOV #TSTDMA!TSTCON,aSFR sSET '"'TEST DMA AND CONTROL''

(1) 012734 012777 000026 167004 MOV #26 ,aCSR ;LOAD RESOLUTION, GAIN, 7B ENABLE VALUE
(1) 012742 052777 000002 167008 BIS #TESTZ ,aSFR JENABLE '‘TEST Z'' PULSES

(1) 012750 052777 000001 166770 BIS #8170,aCSR :SET ENABLE NCV11

(1) 012756 042777 000002 166772 BIC #TESTZ,aSFR ;DISABLE 'TEST Z'' PULSES

(1) 012764 017737 166770 001126 MOV @ADM, SBDDAT JREAD THE ADDRESS DATA MAKER

(1) 012772 012737 000000 001124 MOV #0,SGDDAT ;LOAD EXPECTED VALUE

(1) 013000 023737 001124 001126 CMP $GDDAT ,$BDDAT s COMPARE EXPECTED TO READ

(3) 013006 001401 BEQ TST64 ;:BR IF SAME

(1) 013010 104020 ERROR 20 s INCORRECT ADDRESS MAKER DATA

(1) : RESOLUTION = 3 GAIN = 0 7B ENABLE = 0

973 IR AR AR R AR AR AR AR AR RN AR AR R RN AR AR AR NN AR AR R RN RN RN RN

(4) s*TEST 64 TEST ADDRESS MAKER =~ MATRIX MODE - RES = 3 GAIN = 1 7B ENABLE = 0
(4) IR A AR AR AR R AR AR AR AR AR AR A AN R AR R RN R AR AR RN AN

(3) 013012 000004 TST64: SCOPE

(2) 013014 012737 000010 001160 MOV #10,$TIMES ;:D0 10 ITERATIONS

(12 013022 012777 004000 166726 MOV #CLRALL ,aSFR :CLEAR DEVICE

(1) 013030 012777 000014 166720 MOV #TSTDMA! TSTCON,aSFR ;SET "TEST DMA AND CONTROL''

(1) 013036 012777 002026 166702 MOV #2026,a(CSR ;LOAD RESOLUTION, GAIN, ZB ENABLE VALUE
(1) 013044 052777 000002 166704 BIS #TESTZ ,aSFR ;ENABLE 'TEST 2'' PULSES

(1) 013052 052777 000001 166666 BIS #81T0,aCSR ;SET ENABLE NCV11

(1) 013060 042777 000002 166670 BIC #TESTZ,aSFR ;DISABLE ‘TEST Z'' PULSES

(1) 013066 017737 166666 001126 MOV @ADM, $BDDAT ;READ THE ADDRESS DATA MAKER

(1) 013076 012737 005252 001124 MOV #5252, $GDDAT :LOAD EXPECTED VALUE

(1) 013102 023737 001124 001126 CMP $GDDAT , $8DDAT ;COMPARE EXPECTED TO READ

(3) 013110 001401 BEQ TST6S ;:BR IF SAME

(1) 013112 104020 ERROR 20 ;s INCORRECT ADDRESS MAKER DATA

(1) 3 RESOLUTION = 3 GAIN = 1 7B ENABLE = 0

974 JINAR R R AR AR R AR AR R AN AR R AR AR RN AR AR AR AN AT AR R AR AR AR AR AN A AR

(4) ;*TEST 65 TEST ADDRESS MAKER =~ MATRIX MODE - RES = 3 GAIN = 0 7B ENABLE = 1
4) IR A AR AR RN AR AR AR RN RN R AR AR AR AR R AR AR AR n?

(3) 013114 000004 TST65: SCOPE

(2) 013116 012737 00001C 001160 MOV #10,8TIMES ;:D0 10 ITERATIONS

(1) 013124 012777 004000 166624 MOV #CLRALL ,a@SFR ;CLEAR DEVICE :

(1) 013132 012777 000014 166616 MOV #TSTDMA!TSTCON,aSFR JSET "‘TEST DMA AND CONTROL''

(1) 013140 012777 004026 166600 MOV #4026,aCSR ;LOAD RESOLUTION, GAIN, ZB ENA'LE VALUE
(1) 013146 052777 000002 166602 BIS #TESTZ ,aSFR JENABLE 'TEST Z'' PULSES

(1) 013154 052777 000001 166564 BIS #8170,aCSR ;SET ENABLE NCV11

(1) 013162 042777 000002 166566 BIC #TESTZ,aSFR ;DISABLE 'TEST Z'' PULSES

(1) 013170 017737 166564 001126 MOV aADM_ $BDDAT JREAD THE ADDRESS DATA MAKER

(1) 013176 012737 0124246 001124 MOV ﬁ12424.$GDDAT ;LOAD EXPECTED VALUE

(1) 013204 023737 001124 001126 CMP $GDDAT , SBDDAT ;COMPARE EXPECTED TO READ

(3) 013212 001401 BEQ T1ST66 ;:BR IF SAME

(1) 013214 104020 ERRCR 20 s INCORRECT ADDRESS MAKER DATA

(1) : RESOLUTION = 3 GAIN = 0 7B ENABLE = 1




CINCCB  NCVTT
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976

(4)

(4)

(3) 013216
(2) 013220
(1) 013226
(1) 013234
(1) 013242
(1) 013250
(1) 013256
(1) 013264
(1) 013272
(1) 013300
(1) 013306
(3) 013314
(1) 013316
(1)

977

(4)

(4)

(3) 013320
(2) 013322
(1) 013330
(1) 013336
(1) 013344
(1) 013352
(1) 013360
(1) 013366
(1) 013374
(1) 013402
(1) 013410
(3) 013416
(1) 013420
(1)

978

(4)

(4)

(3) 013422
(2) 013424
(1) 013432
(1) 013440
(1) 013446
(1) 013454
(1) 013462
(1) 013470
(1) 013476
(1) 013504
(1) 013512
(3) 013520
i}g 013522

DIAGNOSTIC

000004
012737
012777
012777
012777
052777
052777
042777
017737
012737
023737
001401
104020

000004
012737
012777
012777
012777
052777
052777
042777
017737
012737
023737
001401
104020

000004
012737
012777
012777
012777
052777
052777
042777
017737
012737
023737
001401
104020

31-AUG-79 11:21

C S
MACY11 30G(1063) 31-AUG=79 13:10 PAGE 33
TEST ADDRESS MAKER = MATRIX MODE - RES = 2 GAIN = 0 ZB ENABLE = 0
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S*TEST 66

';itttii*"itttﬁtﬁt*tiﬁtttittittﬁitIiﬁﬁtttﬁQt'tﬁﬁtﬁﬁtttﬁtttttﬁi'ﬁ

18166

SCOPE
MOV
MOV
MOV
MOV
BIS
BIS
BIC
MOV
MOV
CMP
BEQ
ERROR

TEST ADDRESS MAKER = MATRIX MODE - RES = 2 GAIN = 0 ZB ENABLE

#10,8$TIMES ::D0 10 ITERATIONS

#CLRALL ,@SFR :CLEAR DEVICE

#TSTDMA' TSTCON,@SFR ;SET "'TEST DMA AND CONTROL'
#24 ,3CSR :LOAD RESOLUTION, GAIN, ZB ENABLE VALUE
#TESTZ,aSFR :ENABLE '‘TEST 2'' PULSES
#81T0,aCSR :SET ENABLE NCV11

#TESTZ ,aSFR :DISABLE 'TEST 2'' PULSES
@ADM, SBDDAT :READ THE ADDRESS DATA MAKER
#0,$GDDAT :LOAD EXPECTED VALUE

$GDDAT ,$BDDAT :COMPARE EXPECTED TO READ
TST67 ;:BR IF SAME

20 : INCORRECT ADDRESS MAKER DATA

RESOLUTION = 2 GAIN = 0 ZB ENABLE = 0

e i it diiidiiidid ittt Rl ddl ]

T*TEST 67

';ttttttt*tQtttt*tﬁtttiitlttttiitﬁtttﬁttiltﬁtﬁt.ﬁﬁt.ﬁ'itﬁtﬁﬁ*titt

TS167:

SCOPE
MOV
MOV
MOV
MOV
BIS
BIS
BIC
MOV
MOV
CMP
BEQ
ERROR

TEST ADDRESS MAKER - MATRIX MODE - RES = 2 GAIN = 1 ZB ENABLE

#10,8TIMES ::DO 10 ITERATIONS

#CLRALL ,@SFR :CLEAR DEVICE

#TSTDMA| TSTCON, aSFR *SET "'TEST DMA AND CONTROL''
#2024 ,aCSR :LOAD RESOLUTION, GAIN, ZB ENABLE VALUE
#TESTZ.aSFR *ENABLE ''TEST 2'“PULSES
#81T0,aCSR *SET ENABLE NCV11

#TESTZ,aSFR *DISABLE ''TEST 2'' PULSES

@ADM, $BDDAT *READ THE ADDRESS DATA MAKER
#2552, $GDDAT :LOAD EXPECTED VALUE

$GDDAT, SBDDAT :COMPARE EXPECTED TO READ
1ST70 ::BR IF SAME

20 - INCORRECT ADDRESS MAKER DATA

RESOLUTION = 2 GAIN = 1 7B ENABLE = 0

L]
AR AR AR AR AR R AR AR AR AR AR A AR A AR AR AR A AR AR AR AR A AN

S*TEST 70

SRR AR A AAR A AR AN AAAAAARARAAAAAAARARAARAAARNARARAAAAAAA AR AR AR AL

78770:

SCOPE
MOV
MOV
MOV
MOV
BIS
BIS
BIC
MOV
MOV
CMP
BEQ
ERROR

TEST ADDRESS MAKER - MATRIX MODE - RES = 2 GAIN = 0 ZB ENABLE

#10,8TIMES ;:D0 10 ITERATIONS

#CLRALL ,aSFR ;CLEAR DEVICE

#TSTDMA! TSTCON,aSFR :SET "'TEST DMA AND CONTROL''
#6024 ,aCSR ;LOAD RESOLUTION, GAIN, ZB ENABLE VALUE
#TESTZ,aSFR ;ENABLE "‘TEST Z'' PULSES
#1T0,aCSR :SET ENABLE NCV1]

#TESTZ,aSFR :DISABLE "‘TEST Z'' PULSES
@ADM, $SBDDAT ;READ THE ADDRESS DATA MAKER
#5224 ,3GDDAT ;LOAD EXPECTED VALUE

$GDDAT ,$BDDAT ;COMPARE EXPECTED TO READ
TST71 ;;BR IF SAME

20 :INCORRECT ADDRESS MAKER DATA

RESOLUTION = 2 GAIN = 0 ZB ENABLE = 1

SEQ 0054

=0

=0

=1
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71 TEST ADDRESS MAKER = MATRIX MODE = RES = 1 GAIN = 0 ZB ENABLE = 0
::ttt'tttt.i'*ttﬁitti"tﬁi'tﬁtti*tittttt..ittit'ittltt..itt.ititi K
STEST 71 TEST ADDRESS MAKER = MATRIX MODE = RES = 1 GAIN = 0 2B ENABLE
::tt!i'.t‘t'ﬁ'.i*ﬁ.'ﬁ'..i'i.ﬁ!ltt.'ﬁtt.'ttﬁ.t.ﬁ'ﬁﬁ.t'ﬁtt'.l.ttt!t
T§T71: SCOPE

MOV #10,$TIMES ::D0 10 ITERATIONS

MOV #CLRALL ,aSFR ;CLEAR DEVICE

MOV #TSTDMA! TSTCON,aSFR *SET ''TEST DMA AND CONTROL''

MOV #22,aCSR :LOAD RESOLUTION, GAIN, ZB ENABLE VALUE

BIS #TESTZ ,@SFR *ENABLE ''TEST Z'*PULSES

BIS #81T0,aCSR :SET ENABLE NCV11

BIC #TESTZ,aSFR *DISABLE ""TEST 2'* PULSES

MOV @ADM, SBDDAT :READ THE ADDRESS DATA MAKER

MOV #0,$GDDAT :LOAD EXPECTED VALUE

CMP $GDDAT, SBDDAT :COMPARE EXPECTED TO READ

BEQ T1ST72 ::BR IF SAME

ERROR 20 : INCORRECT ADDRESS MAKER DATA
; RESOLUTION = 1 GAIN = 0 2B ENABLE = 0
::t*ttitttttt‘ttttt*t**i'ittiti.it.ititi.iﬁiili*tiﬁttﬁtttﬁ't't*tﬁ
S*TEST 72 TEST ADDRESS MAKER = MATRIX MODE = RES = 1 GAIN = 1 7B ENABLE

';ttttttttti'tt'ti*tit'ﬁ'ttiﬁttttﬁt*ﬁ'!ﬁtttﬁ!t"ttit'ti*titt.itit

7ST72: SCOPE

MOV #10,$TIMES ::DO 10 ITERATIONS
MOV #CLRALL ,aSFR :CLEAR DEVICE
MOV #TSTDMA| TSTCON, aSFR “SET 'TEST DMA AND CONTROL''
MOV #2022 ,aCSR :LOAD RESOLUTION, GAIN, ZB ENABLE VALUE
BIS #TESTZ,aSFR *ENABLE '‘TEST 2'“PULSES
BIS #BIT0,aCSR *SET ENABLE NCV11
BIC #TESTZ,@SFR *DISABLE ''TEST 2'' PULSES
MOV @ADM, SBDDAT *READ THE ADDRESS DATA MAKER
MOV #1265, SGDDAT :LOAD EXPECTED VALUE
CMP $GDDAT, SBDDAT :COMPARE EXPECTED TO READ
BEQ TST73 ;:BR IF SAME
ERROR 20 - INCORRECT ADDRESS MAKER DATA
; RESOLUTION = 1 GAIN = 1 ZB ENABLE = 0
;;ttttttttttttttttitti*iitttiitﬁitl.tt.itt'ﬁittﬁttttttﬁiﬁtttiit"
S*TEST 73 TEST ADDRESS MAKER - MATRIX MODE - RES = 1 GAIN = 0 ZB ENABLE

':tttttttﬂtttttt'tttlitttttﬁt*ttﬁttttttﬁtttitttﬁititttittitlttttt

TST73: SCOPE

MOV #10,$TIMES ::D0 10 ITERATIONS

MOV #CLRALL ,@SFR :CLEAR DEVICE

MOV #TSTDMA T TSTCON, aSFR *SET ‘‘TEST DMA AND CONTROL''
MOV #4022 ,aCSR *LOAD RESOLUTION, GAIN, ZB ENABLE VALUE
BIS #TESTZ,aSFR *ENABLE ''TEST 2'"PULSES

BIS #81T0,aCSR *SET ENABLE NCV11

BIC #TESTZ,aSFR *DISABLE "'TEST Z'' PULSES

MOV QADM, SBDDAT *READ THE ADDRESS DATA MAKER
MOV #2512 ,$GDDAT *LOAD EXPECTED VALUE

CMP $GDDAT, SBDDAT *COMPARE EXPECTED TO READ

BEQ 1ST74 ::BR IF SAME

ERROR 20 - INCORRECT ADDRESS MAKER DATA

: RESOLUTION = 1 GAIN = 0 2ZB ENABLE = 1

SEQ 0055




(ZNCCB

NCV11T

CZNCCB.P11

984
(3)
(3)
(2)
(1)

014032
014034
014042
014050
014056
014064
014072
014100
014106
014114
014122
014130
014132

014134
014136
014144
014152
014160
014166
014174
014202
014210
014216
014224
014232
014234

DIAGNOST
31-AUG-79

000004
012737
012777
012777
012777
052777
052777
042777
017737
012737
023737
001401
104021

000004
012737
012777
012777
012777
052777
052777
042777
017737
012737
023737
001401
104021

IC
11:

MACY11 3?6

001160
165706
165700
165662
165664
165646
165650
001126
001124
001126

160

—I—A—A—A—l—hg

800\0000

— = i -
— s ununununnos
NN BONONNNO
s sOO0NS

o0
QO

126

74

15774 :

(1063)

3
31-AUG=79 13:10 PAGE 35
TEST ADDRESS MAKER =~ LIST MODE - 7B ENABLE = 0 GAIN = 0

a2 3222333233333 2233222322232 3383332300323332333233283233082233232222222R 2232

TRTEST 74

a2 i2233 3223232222222 0 22202 R Rttt ddtldd

SCOPE
MOV
MOV
MOV
MOV
BIS
BIS
BIC
MOV
MOV
CMP
BEQ
ERROR

TEST ADDRESS MAKER =~ LIST MODE - ZB ENABLE = 0 GAIN = 0

#10,$TIMES ::D0 10 ITERATIONS

#CLRALL ,@SFR :CLEAR DEVICE

#TSTDMA! TSTCON,aSFR “SET TEST 'DMA AND CONTROL''
#0,3CSR *ENSURE LIST MODE

#TESTZ,aSFR *ENABLE "‘TEST Z'' PULSES
#8I1T0,aCSR :SET ENABLE NCV11

ATESTZ.@SFR *DISABLE "‘TEST Z'' PULSES
@ADM, SBDDAT *READ THE ADDRESS MAKER VALUE
#3407, $GDDAT :LOAD EXPECTED VALUE

$GDDAT, SBDDAT *COMPARE EXPECTED TO READ
TST75 ::BR IF SAME

21 - INCORRECT ADDRESS MAKER DATA

JRESOLUTION 7 <DEFAULT WHEN ZB IS NOT ENABLED>

':Q*Qt**lﬁ*t*tt'tt*tlttﬁ'*ttttttﬁt!tiQ'ﬁtttﬁtttitt*l.t'it.'..tt!.

S*TEST 75

e it id i it ittt ittt Rttt Rttt d R

1$T75:

ERROR

TEST ADDRESS MAKER =~ LIST MODE - ZB ENABLE = 1 GAIN = 0

#10,$TIMES ::DO 10 ITERATIONS

#CLRALL ,aSFR :CLEAR DEVICE

#TSTDMA! TSTCON,aSFR “SET TEST 'DMA AND CONTROL'
#4000,aCSR :ENSURE LIST MODE AND 7B ENABLED
#TESTZ,aSFR *ENABLE "TEST 2'' PULSES
#BIT0,aCSR *SET ENABLE NCV11

#TESTZ,aSFR :DISABLE 'TEST Z'* PULSES

QADM, $BDDAT *READ THE ADDRESS MAKER VALUE
#52452 , $GDDAT :LOAD EXPECTED VALUE

$GDDAT , $BDDAT ; COMPARE EXPECTED TO READ
TST76 :;BR IF SAME
21 ; INCORRECT ADDRESS MAKER DATA

;RESOLUTION 5 <DEFAULT WHEN ZB IS ENABLED>

AR AR AR AR A AR A A A A AR AR AR A AR A ARAAARAAAAARAARAAAARAAAAA AR AN AR RN

L*TEST 76

';ﬁttttttﬁttttttttittttttﬁtttt.tt*tﬁﬁtﬁﬁtﬁ'Qt.ﬁﬁ*ﬁ‘t.ﬁﬁi!i*iﬁtt!ﬁ

1S776:

TEST ADDRESS MAKER - LIST MODE - ZB ENABLE = 0 GAIN = 1

#10,8TIMES ;:D0 10 ITERATIONS

#CLRALL ,aSFR ;CLEAR THE DEVICE
#TSTDMA!TSTCON,aSFR ;SET TEST 'DMA AND CONTROL''
#2000,aCSR ;SET GAIN FLOP

N#TESTZ ,aSFR ;ENABLE '‘TEST Z'' PULSES
#BIT0,aCSR ;ENABLE THE NCV11
HTESTZ,aSFR ;DISABLE THE "‘TEST Z'' PULSES
@ADM, SBDDAT ;READ THE ADDRESS MAKER VALUE
#127657 ,8GDDAT ;LOAD THE EXPECTED

$GDDAT , $SBDDAT ; COMPARE

1S177 ::BR IF SAME

21 s INCORRECT ADDRESS MAKER DATA

;RESOLUTION 7 = GAIN FLOP SET

SEQ 0056
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ENABLE A ONE WORD TRANSFER

SECTION LIST MODE

e 2223822222222 2222222222202 2R 2R Rt Rdddl R )

SwTEST 77

) (2332232222222 20022222220 2R 2022222222222 222222220t R 20002202

185177:

4% :

1%:

2%:

3%:

SCOPE
MOV
MOV
MOV
MOV
MOV
MOV
MOV
BIS
BIS
BIC
NOP
NOP
NOP
BIS
NOP
NOP
NOP
MOV
MOV
MOV
CMP
BEQ
ERROR
BR
MOV
MOV
CMP
BEQ
ERROR

MOV
MOV
(MP
BEQ
ERROR

CLR
MOV
BEQ
ERROR

MOV
MOV
MOV
(MP
BEQ
ERROR

ENABLE A ONE WORD TRANSFER

#40,8TIMES
#CLRALL ,aSFR
#125252,BUF0
#11110,30FF
#-1,3W(R
#B8UF 0, @BAR

#TSTDMA!TSTCON,aSFR

#8170,aCSR
#TESTZ,@SFR
#TESTZ ,aSFR

#B1T12,aSFR

a(SR,$8DDAT

#CLRALL ,aSFR
#40200,$GDDAT
2&DDAT.$BDDAT

36

TST100

@BAR, $BDDAT
#BUF0+2, SGDDAT
?2DDAT.SBDDAT
22

aW(R,$BDDAT
#0,$GDDAT
$GDDAT , $BDDAT
2%

23

$GDDAT
ggFF,iBDDAT

24

BUF 0, $SBDDAT
#3407, $GDDAT
#BUF 0, $8DADR
$GDDAT , $BDDAT
§§r1oo

SECTION LIST MODE

;:D0 40 ITERATIONS

;CLEAR THE DEVICE

;PRIME TARGET BUFFER

;LOAD THE OFFSET VALUE WITH A NUMBER
;SET UP 1 WORD TRANSFER

;LOAD BUS ADDRESS FOR RESULT

JENABLE TEST CONTROL AND DMA FLOPS
;ENABLE DEVICE

JENABLE '‘TEST Z'' PULSES

:DISABLE '‘TEST Z'' PULSES

JALLOW 1 DMA TRANSFER

;READ STATUS

:RESET THE DEVICE

JLOAD EXPECTED

;TEST STATUS

EXPECTED

JUNEXPECTED STATUS AFTER A 1 WORD TRANSFER

;READ BUS ADDRESS
;LOAD EXPECTED
;s COMPARE VALUES
;:BR IF SAME
s INCORRECT BUS ADDRESS VALUE
JAFTER A 1 WORD TRANSFER !

JREAD W.C. REGISTER
;LOAD EXPECTED VALUE
:COMPARE VALUES
;:BR IF SAME
s INCORRECT WORD COUNT REGISTER VALUE
JAFTER A 1 WORD TRANSFER
:CLEAR THE EXPECTED VALUE
:READ THE OFFSET REGISTER
;:BR IF CLEARED
JOFFSET REG. FAILED TO CLEAR AFTER
;1 LIST MODE XFR.
:GET BUFFER DATA
JLOAD EXPECTED
:LOAD BAD ADDRESS
;S%PARE DATA
:STATUS WAS OK BUT DATA WAS [NCORREC?

;:BR IF

..
LN

;:BR [F

SEQ 0057
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21 T100  ENABLE A 512 WORD TRANSFER SECTION LIST MODE SEQ 0058
1077 ;.'ittt"ﬁ'.'ﬁ"'t..tﬁtlﬁ'.tQt.tﬁﬁ.!ﬁ'ﬁttl'.t.l't"..tt...'.i'..!t
(3) T*TEST 100 ENABLE A 512 WORD TRANSFER SECTION LIST MODE
(3) ;."Qt.t'.'tlll'i'..i..t.ttttt..ﬁtt.Q'.t...t.l'ititt."ittt.ttt'.t
(2) 014644 000004 T$T100: SCOPE _
(1) 014646 012737 000040 001160 MOV #40,8TIMES ::D0 40 ITERATIONS
1078 014654 012777 0064000 165074 MOV #CLRALL ,@SFR :CLEAR THE DEVICE
1079 014662 012700 060000 MOV #BUF 0 RO :LOAD BUFFER POINTER
1080 014666 012720 125252 1%: MOV 0125252.(R0)* :PRESET THE BUFFER WITH DATA
1081 014672 020027 062000 CMP RO, #BUF i “TEST IF DONE
1082 014676 001373 BNE 1% ‘BR IF NOT
1083 014700 012777 177000 165044 MOV #=512. ,aWCR “SET UP 512. WORD TRANSFER
1084 014706 012777 060000 165040 MOV #BUF 0, 3RAR :LOAD BUS ADDRESS FOR RESULT
1085 014714 012777 000014 165034 MOV #TSTDMA' TSTCON,3SFR "ENABLE TEST CONTROL AND DMA FLOPS
1086 014722 052777 000001 165016 BIS #81T70,aC SR *ENABLE DEVICE
}8gg 812%%2 012737 001000 002004 = MOV #512. . STEMP :LOAD THE COUNTER
(1) 014736 052777 000002 165012 BIS #TESTZ.aSFR ;ENABLE "TEST Z'* PULSES
(1) 014744 042777 000002 165004 BIC #TESTZ.9SFR *DISABLE '‘TEST 2'' PULSES
1089 014752 052777 010000 164776 BIS #MI1T12,8S5FR JALLOW 1 DMA TRANSFER
1090 014760 005337 002004 DEC STEMP ;FINISHED ALL WORDS?
1091 014764 001364 BNE 28 “BR UNTILL DONE
1092 ;THE TRANSFER IS NOW COMPLETE
1093 014766 017737 164754 001126 MOV ACSR, $BDDAT :READ STATUS
1094 0147764 012737 040200 001124 MOV #40200,8GDDAT ;LOAD EXPECTED STATUS
1095 015002 023737 001124 001126 CMP $GDDAT ,$BDDAT ;COMPARE DATA
1096 015010 001402 BEQ 3 ::BR IF EXPECTED STATUS
1097 015012 104036 ERROR 36 UNEXPECTED STATUS AFTER 512 WORD TRANSFER
1098 015014 000465 BR TST101 ¥
1099 015016 005037 001124 38 CLR $GDDAT :CLEAR EXPECTED
1100 015022 017737 164722 001126 MOV Q0FF , SBDDAT "READ OFFSET REG.
1101 015030 001401 BEQ 4 ::BR IF CLEARED
1102 015032 104006 ERROR 6 JUNEXPECTED OFFSET REGISTER BIT SET
1103 015034 012777 004000 164714 4$: MOV #CLRALL ,@SFR :CLEAR THE DEVICE
1106 015042 017737 164706 001126 MOV aBAR , SBDDAT *READ BUS ADDRESS |
1105 015050 012737 062000 001124 MOV #BUF 1, $GDDAT *LOAD EXPECTED BAR VALUE
1106 015056 023737 001124 001126 CMP $GDDAT , SBDDAT *COMPARE VALUES
1107 015064 001401 BEQ 5% ::BR IF SAME
}}83 015066 104022 ERROR 22 : INCORRECT BUS ADDRESS VALUE AFTER A 1 WORD TRANSFER
1110 015070 017737 164656 001126 58%: MOV aWCR, $8DDAT :READ W.C. REGISTER
1111 015076 012737 000000 001124 MOV #0,$GDDAT *LOAD EXPECTED W.C. VALUE
1112 015104 023737 0011246 001126 CMP $GDDAT ,$BDDAT ; COMPARE VALUES
1113 015112 001401 BEQ 6% ::BR IF SAME
1114 015114 104023 ERROR 23 - INCORRECT WORD COUNT REGISTER VALUE AFTER A 1 WORD TRANSFER
1115 015116 012737 003407 001124 6%: MOV #3407, $GDDAT :LOAD EXPECTED DATA
1116 015124 012737 060000 001122 MOV #BUF 0, $BDADR ;LOAD STARTING ADDRESS
1117 015132 017737 001126 7%: MOV a$BDADR , SBDDAT *READ DATA WORD
1118 015140 023737 001126 CMP $GDDAT ,$BDDAT ;COMPARE DATA
1119 015146 001401 BEQ 108 ::BR IF EXPECTED
1120 015150 104037 ERROR 37 ;INCORRECT DATA IN LIST MODE XFER.
1121 015152 062737 108:  ADD #2,$8DADR “UPDATE POINTER
1122 015160 022737 CMP #BUFO+1024. ,$8DADR ;TEST IF END OF BUFFER
1123 015166 001361 BNE 7% ::BR IF NOT DONE
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010000
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1101 VERIFY "‘TIMEOUT'' FLOP SETS AND ‘‘CLR ALL'' CLEARS IT SEQ 0059

e i 2232323222222 2Rl diiit iRt RlRRlll )

LSTEST 101

VERIFY "'TIMEOUT'® FLOP SE

TS AND "'CLR ALL'' CLEARS IT

et i3 2 3332322222002 2222 220220 2R R R R2R R Rl Rl

TST101: SCOPE
MOV
MOV
MOV
MOV
MOV
MOV
MOV
BIS
BIS
BIC
NOP
NOP
NOP
BIS
NOP
NOP
NOP
MOV
MOV
BM]
ERROR
BR

1%: CMP
BEQ
ERROR

2%: BIS
MOV
MOV
CMP
BEQ
ERROR

#40,$TIMES ;:D0 40
#CLRALL ,aSFR

#-1,aWCR

#3,a0FF

#160000, aBAR
#TSTCON!TSTDMA ,aSFR
#16,a(SR

#B1T0,aCSR

#TESTZ,aSFR

RTESTZ,aSFR

#B1T12,aSFR

#8IT15!BIT14!BIT7,$GDDAT

ITERATIONS

;CLEAR DEVICE

;LOAD W.C. REGISTER

;LOAD EXTENDED ADDRESS BITS

;LOAD BUS ADDRESS REGISTER TO A NON-EXIENT ADDRE
sSET TEST CONTROL AND DMA

;LOAD RESOLUTION TO VERIFY "'SFR INiT"" CLEARS
;ENABLE THE DEVICE

JENABLE '‘TEST 2'' PULSES

;DISABLE "‘TEST Z'" PULSES

JALLOW 7 DMA TRANSFER

;LOAD EXPECTED

a(SR,$8DDAT ;READ STATUS REG.

1% :BR IF "TIMEOUT'' FLOP IS SET

25 ;"'TIMEOUT'' FLOP FAILED TO SET

TST102

$GDDAT , $BDDAT . COMPARE VALUES

2% ::BR IF SAME

25 J"TIMEOUT'® FLOP DID SET BUT FAILED TO GENERATE '°
#CLRALL ,aSFR :GENERATE AN "'CLR ALL'' TO CLEAR TIMEOUT FLOP
#B1T7,8GDDAT ;LOAD EXPECTED

aCSR,$8DDAT ;READ STATUS

$GDDAT ,$BDDAT ;s COMPARE VALUE

1ST102 :;BR_IF SAME |

25 :"'CLR ALL'® FAILED TO CLEAR TIMEOUT FLOP

':l*ii.tlﬁ'ttitt.ittitlt.ﬁ'tt.tﬁiltti.ﬁﬁttﬁt.Qttﬁtt.tttltt'ttti‘t

STEST 102

VERIFY "‘TIMEOUT'' FLOP SE

TS AND "'CLR TIMEOUT'® CLEARS IT

a2 2222222222222 2R 2R RRdR Rt RARdR iRttt Rttt ]

TST102: SCOPE
MOV
MOV
MOV
MOV
MOV
MOV
BIS
BIS
BIC
NOP
NOP
NOP
BIS
NOP
NOP
NOP
MOV

#60,8TIMES ::D0 40
#CLRALL ,aSFR

#-1,aW(R

#3,90FF

#160000, aBAR
#TSTCON'TSTDMA,QSFR
#1T0,aCSR

#TESTZ,aSFR

#TESTZ,aSFR

#IT12,aSFR

#BITIS!BIT14!B]IT7 ,$GDDAT

ITERATIONS

;CLEAR DEVICE

;LOAD W.C. REGISTER

;LOAD EXTENDED ADDRESS BITS

;LOAD BUS ADDRESS REGISTER TG A NON-EXIENT ADDRE
sSET TEST CONTROL AND DMA

sENABLE THE DEVICE

JENABLE "‘TEST 2°' PULSES

;DISABLE "TEST 2'' PULSES

;ALLOW 1 DMA TRANSFER

.LOAD EXPECTED
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CINCCB NCVI1  DIAGNOSTIC MACY11 3??6}063) 31-AUG=79 13:10 PAGE 38-1

CINCCB.P1T  31-AUG=79 11:21 VERIFY “TIMEOUT'* FLOP SETS AND ‘'CLR TIMEOUT'' CLEARS IT SEQ 0060
1171 015520 017737 164222 001126 MOV @CSR,SBDDAT :READ STATUS REG.
1172 015526 100402 BMI 18 :BR IF ""TIMEOUT'" FLOP IS SET
1173 013530 104025 ERROR 25 :"TIMEOUT™ FLOP FAILED TO SET
1174 015532 000423 ar TST103 3
1175 015534 023737 001124 001126 1$:  CMP  S$GDDAT,S$BDDAT ; COMPARE VALUES
1176 015542 007401 BEQ 28 ::BR IF SAME ¢
1177 015544 104025 ERROR 25 ;"'TIMEOUT'* FLOP DID SET BUT FAILED TO GENERATE
1178 015546 052777 100000 164202 2$:  BIS  #BIT15,aSFR :GENERATE AN "'CLR TIMEOUT™ TO CLEAR TIMEOUT FLOP
1179 015554 012737 040200 001124 MOV #BIT14/BIT7,$GDDAT :LOAD EXPECTED
1180 015562 017737 164160 001126 MOV QCSR,S$BDDAT :READ STATUS
1181 015570 023737 001124 001126 CMP  $GDDAT,$BDDAT : COMPARE VAL UE
1182 015576 001401 BEQ  TST103 :;BR IF SAME
1183 015600 104025 ERROR 25 :"CLR TIMEOUT'' FAILED TO CLEAR TIMEOUT FLOP
118‘. ".'t.Q*tItt..i'..t.t'.’..".t'...Q.ttt'!t.tﬁt.'ttt.t'tt....'tt..."
(3) SATEST 103 VERIFY ‘‘TIMEOUT'' INTERRUPT
(3) .-.'tﬁtt..'l’.'t.'tﬁ.ﬁﬁt"*t'ﬁtﬁQt.l.t*ﬁ.ttii'..Q.l"'.“ﬁ.t.""!t.
(2) 015602 000004 T§T103: SCOPE
(1) 015604 012737 000040 001160 MOV 440 STIMES ::D0 40 ITERATIONS
1185 015612 012777 004000 164136 MOV ACLRALL,aSFR :CLEAR DEVICE
1186 015620 012777 177777 164124 MOV #=1,awWCR :LOAD W.C. REGISTER
1187 015626 012777 000003 164114 MOV #3,30FF :LOAD EXTENDED ADDRESS BITS
1188 015634 012777 160000 164112 MOV #160000,aBAR :LOAD BUS ADDRESS REGISTER TO A NON-EXIENT ADDRE
1189 015642 012777 000014 164106 MOV #TSTCON!TSTDMA ,aSFR ;SET TEST CONTROL AND DMA
1190 015650 012746 000000 MOV #0,-(SP)
1191 015654 012746 015662 MoV #1§,-(SP)
1192 015660 000002 RTI
1193 015662 012777 015754 164102 18: MOV #28,aVECTAO
1194 015670 000240 NOP
1195 015672 000240 NOP
1196 015674 000240 NOP
1197 015676 000240 NOP
1198 015700 052777 000101 164040 BIS  #BIT6!BITO,aCSR :ENABLE THE DEVICE
1199 015706 052777 000002 164042 BIS  ATESTZ,aSFR ZENABLE "'TEST Z'' PULSES
(1) 015714 042777 000002 164034 BIC  #TESTZ.aSFR :DISABLE 'TEST Z'* PULSES
1200 015722 000240 NOP
1201 015724 000240 NOP
1202 015726 000240 NOP
1203 015730 052777 010000 164020 BIS  #BIT12,@SFR ;ALLOW 1 DMA TRANSGFER
1204 015736 000240 NOP
1205 015740 000240 NOP
1206 015742 000240 _ NOP
1207 015744 005077 163776 (LR aCSR :CLEAR ENABLE
1208 015750 104026 ERROR 26 :"TIMEOUT'* FAILED TO INTERRUPT
1209 015752 000401 BR 38 ::BR TO CLEAN UP
1211 015754 022626 28:  (MP (SP)+,(SP)+ ;CLEAN THE STACK
1212 015756 005077 163764 33: (LR aCSR
1213 015762 012777 004000 163766 MOV WCLRALL,@SFR :CLEAR THE DEVICE
1214 015770 013777 001774 163774 MOV VECTAT,@VECTAQ :RESET VECTOR
1215 015776 005077 163772 (LR QVECTAT




CZNCCB

NCV1T

CZNCCB.P11

(2)

-
000~

b il e e D bl i ad i i i i
PINI AN ~ PN NI NI PI NI NI NN —~
= 00~ NOA NSNS W) =

5%
W

016150
016152
016160
016166
016174
016176
016204
016212

016314
016322
016324

DIAGNOST
31-AUG=79

000004
012737
012777
023727
103450
012777
012777
005077
012777
012777
052777
052777
042777
052777
000240
000240
000240
012737
017737
023737
001401
104006

IC
11:21

000040
004000
036404

177777
177776
163700

000040
004000
036404

177777
177776
000001
000014
000016
000001
000002
000002

010000

000002
163436
001124

J S
MACY11 30G(1063) 31-AUG=79 13:10 PAGE 38-2
T104  VERIFY INCREMENTING INTO EXTENDED ADDRESS BIT 16

AR A AR A A AR A AR A A AR AT AR AR AR A AR AR AR A AR AR AR AR AR AR

S*TEST 104 VERIFY INCREMENTING INTO EXTENDED ADDRESS BIT 16
;:ttttttttttttttttttit'ﬁQt'ttQttQﬁtttttttﬁﬁtttttttttﬁtt'tttttt.'t
T$T104: SCOPE
001160 MOV #40,8$TIMES ::DO 40 ITERATIONS
163736 MOV #CLRALL ,@SFR :CLEAR THE DEVICE
002140 CMP $LSTBK , #2140 :TEST IF ENOUGH MEMORY
BLO TST105 ;:BR IF NOT ENOUGH MEMORY
163714 MOV #-1,aWCR :LOAD 1 WORD XFR
163710 MOV #177776,38AR :LOAD LAST ADDRESS
CLR a0FF *ENSURE CLEARED EXTENDED ADDRESS BITS
163700 MOV #TSTCON!TSTDMA,aS7R :ENABLE CONTROLER
163662 MOV #16,aCSR :ENABLE THE MODE
163654 BIS #81T0,aCSR :ENABLE THE NCV11
163656 BIS #TESTZ,aSFR *ENABLE ''TEST Z'' PULSES
163650 BIC ATESTZ.aSFR :DISABLE ‘‘TEST 2'' PULSES
163642 gég #BIT12.3SFR SALLOW 1 DMA TRANSFER
NOP
NOP
001124 MOV #1,8GDDAT :LOAD EXPECTED VALUE
001126 MOV Q0FF , $BDDAT *READ ACUTAL VALUE
001126 CMP $GDDAT, SBDDAT - COMPARE
BEQ TST105 ::BR IF SAME
ERROR & *EXTENDED ADDRESS BIT 16 FAILED TO SET
::ttttttttttttttttttttﬁtﬁttttttti!ﬁtttttttlttt*tttttitl'ttttttt't
S*TEST 105 VERIFY INCREMENTING INTO EXTENDED ADDRESS BIT 17
:;ttttt*ttﬁtlﬁtttttltttttttt*tttttQﬁtt.itttﬁ'lttttttlttttittttttﬁ
TST105: SCOPE
001160 MOV #40,$TIMES ::D0 40 ITERATIONS
163570 MOV #CLRALL ., @SFR :CLEAR THE DEVICE
006140 CMP $LSTRK , #6140 *TEST MEMORY SPACE >100K
BLO TST106 ;:BR IF NOT ENOUGH MEMORY
163546 MOV #-1,3WCR :LOAD 1 WORD XFR
163542 MOV #177776.,aBAR *LOAD LAST ADDRESS
163530 MOV #1,30FF :LOAD EXTENDED ADDRESS BIT
163530 MOV #TSTDMA! TSTCON,aSFR *ENABLE TEST CONTROL
163512 MOV #16,aCSR *ENABLE THE MODE
163504 8IS #B81T0,aCSR :ENAVLE THE DEVICE
163506 BIS NTESTZ,aSFR *ENABLE 'TEST Z'' PULSES
163500 Eéﬁ #TESTZ.RSFR *DISABLE ‘‘TEST 2'' PULSES
NOP
NOP
163464 ﬁéﬁ #BIT12,3SFR ;ALLOW 1 DMA TRANSFER
NOP
NOP
001124 MOV #2,8GDDAT ;LOAD EXPECTED
001126 MOV Q0FF , $BDDAT *READ ACTUAL
001126 CMP $GDDAT , SBDDAT * COMPARE
BEQ TST106 ::BR IF SAME

ERROR 6 JEXTENDED ADDRESS BIT 17 FAILED TO SET

SEQ 0061




CZNCCB

NCV1T

CZNCCB.P11

1262

1293

SSEER AR

DIAGNOSTIC
31-AUG=79 11:21

000004
012737
012777
012777
012777
012777
012737
052777
000240
000240
000240
052777
052777
000240
000240
000240
013737
012737
023737
001401
104027

000004
012737
012777
012777
012777
012777
012737
052777
000240
000240
000240
052777
052777
000240
000240
000240
013737
012737
023737
001401
104027

000040
004000
177777
060000
000014
007070
000001

001000
010000

060000
000000
001124

MACY11 B?G

;*TEST 106

TST106: SCOPE
001160 MOV
163412 MOV
163400 MOV
163374 MOV
163370 MOV
0000 MOV
163344 BIS
NOP
NOP
NOP
163340 8IS
163332 BIS
NOP
NOP
NOP
001126 MOV
001124 MOV
001126 CMP
BEQ

ERROR

001160
163260
163246
163242
163236
060000
163212

163206
163200

001126
001124
001126

K S
(1063) 31-AUG=79 13:10 PAGE 39
106  VERIFY '‘'SET EVENT'' DATA GENERATES A 177777 DATA WORD

:'ti.tiititt.ttt'ﬁtQﬁttﬁttt'ttﬁﬁ't'**lt.t'!Q!Qﬁ.'t.t"ﬁ"'i.t'lQﬁ

VERIFY "'SET EVENT'' DATA GENERATES A 177777 DATA WORD

e i i3 2228222020000 2R 2R R 2Rt dRdddRRdd )

#40,STIMES ;:D0 40 ITERATIONS

#CLRALL ,aSFR ;CLEAR THE DEVICE

#-1,aWCR ;SFT UP 1 WORD TRANSFER

#BUF 0, aBAR .LCAD BUS ADDRESS FOR RESULT
#TSTDMA!TSTCON,aSFR JENABLE TEST CONTROL AND DMA FLOPS
#7070,BUF0 ;PRESET DATA

#BIT0,aCSR ;ENABLE DEVICE

#81T710,aSFR ;SET "EVENT'' FLOP

#B1T12,a5FR JALLOW 1 DMA TRANSFER

BUF 0, $BDDAT ;READ DATA

#-1,8GDDAT ;LOAD EXPECTED

$GDDAT , $BDDAT . COMPARE VALUES

1ST107 ;;BR IF SAME

27 2 INCORRECT DATA VALUE FOR "EVENT'' MARK

JAFTER A 1 WORD TRANSFER

e AR AR AR AR AR A AN A AN A AN AR AR AAAAAA AR AAARCAAARAARA AR AN AR A AR AW

“*TEST 107

VERIFY "'SET TIME'' DATA GENERATES A 000000 DATA WORD

C AR AR AR A A A AR A A A A A A A AR AR A A AR A A A AT AR A AR AR A AR A AR AR AR A AR A A A

TST107: SCOPE
MOV
MOV
MOV
MOV
MOV
MOV
BIS

83355538

MOV
MOV
(MP

ERROR

#40,8TIMES ::D0 40 ITERATIONS

#CLRALL ,aSFR :CLEAR THE DEVICE

#-1,aWCR ;SET UP 1 WORD TRANSFER
#BUF0,aBAR ;LOAD BUS ADDRESS FOR RESULT
#TSTDMA! TSTCON,aSFR :ENABLE TEST CONTROL AND DMA FLOPS
#7070 ,BUF0 :PRESET THE DATA

#IT0,aCSR ;ENABLE DEVICE

#]T9,aSFR ;SET "'TIME'' FLOP

#BIT12,aSFR JALLOW 1 DMA TRANSFER

BUFO,$8DDAT JREAD DATA

#0,8GDDAT :LOAD EXPECTED

$GDDAT , $BDDAT ;COMPARE VALUES

TST110 ;:BR IF SAME

27 :INCORRECT DATA VALUE FOR '‘TIME'' MARK

;AFTER A 1 WORD TRANSFER

SEQ 0062




CZNCCB

NCVTT

CZNC(B.P1N

1305
(3)

EERG
;?JRJUG
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35

WWWWWWANWWWWW
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VONOVSWN=O

S
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(3)

1340

oo~

016706
016714
016716
016720
016726
016734
016742
016744

016746
016750
016756
016764
016770
016772
017000
017006
017014

017114

DIAGNOSTIC

31-AUG=-79

000004
012737
012777
005737
001052
012777
012777
012777
012737
052777
005077
012777
012777
105777
100375
052777
000240
000240
013737
012737
023737
001401
104040

11:21

000040
004000
004020

177777
060000
000014
007070
000001

000400
010000

060000
177777
001124

000040
004000
004020
177777
060000

000014
0070??

00000

162704
177776
000011
162664

010000

060000
000000
001124

MACY11 30G(1063)

001160
163126

163106
163102
163076
060000
163052

163032
163042

001126
001124
001126

001160
162772

162752
162746
162742
060000

162716
162702
162670
162672

001126
001124
001126

L 5
31-AUG=79 13:10 PAGE 40

T110  VERIFY ''CLOCK ST1'' GENERATES A EVENT (177777) DATA WORD SEQ 0063
::ttlt'ttiti"ﬁﬁi.'tit*t'titt.t'ﬁi*t.ti.ﬁt'ti'ﬁ.tii..'ttttt.t.t'i
S*TEST 110 VERIFY "'CLOCK ST1'' GENERATES A EVENT (177777) DATA WORD
.'.'l’.ﬁ*.l"'!"t*t.ﬁ!t..l‘.t‘tﬁﬁ‘t.tﬁ.tt'...'.Qt'..".""ﬁt".tlﬁt'
78§7T110: SCOPE

MOV #40,$TIMES ::DO 40 ITERATIONS

MOV #CLRALL ,@SFR :CLEAR THE DEVICE

TST DEADKW STEST IF NCV11 CLOCK IS PRESENT

BNE TIST111 ::BR IF NOT

MOV #-1,3WCR :SET UP 1 WORD TRANSFER

MOV #BUF 0, 3BAR *LOAD BUS ADDRESS FOR RESULT

MOV #TSTDMA! TSTCON,aSFR “ENABLE TEST CONTROL AND DMA FLOPS

MOV #7070 .,BUF 0 :PRESET THE DATA

BIS #81T0.aCSR *ENABLE THE DEVICE

NOP

BIS #BIT8,aKWCSR :GENERATE CLOCK ST1 TO SET "EVENT'' FLOP

BIS #BIT12,aSFR CALLOW 1 DMA TRANSFER

NOP

NOP

MOV BUF0, SBDDAT :READ BUFFER DATA

MOV #-1,$GDDAT :LOAD EXPECTED DATA

cMP $GDDAT, SBDDAT - COMPARE

BEQ TST111 ::BR IF EXPECTED

ERROR 40 :CLOCK ST1 FAILED TO GENERATE EVENT FLAG

“CHECK THE M8026 TO M7952 JUMPERS

:;tﬁttttﬁtttititttttttttttt*ttiiﬁﬁ*ti.iiﬁii.ﬁtﬁﬁit.iﬁtﬁiﬁ'ﬁﬁ*ttit
S+TEST 111 VERIFY "'CLOCK OVERFLOW'' GENERATES A TIME (000000) DATA WORD
::ttt*ttittttttttttttttt*ttttttiﬁtiiittttitititttttt*tttittt*.iti
TST111: SCOPE

MOV #40,$TIMES ::DO 40 ITERATIONS

MOV #CLRALL . @SFR :CLEAR THE DEVICE

ST DEADKW STEST IF NCV11 CLOCK IS PRESENT

BNE TST112 ;:BR IF NOT

MOV #=1,3WCR :SET UP 1 WORD TRNSFER

MOV #BUF 0, aBAR :LOAD BUS ADDRESS FOR RESULT

MOV #TSTDMA' TSTCON,aSFR “ENABLE TEST CONTROL AND DMA FLOPS

MOV #7070.BUF0 *PRESET THE DATA

BIS #B1T0.aCSR *ENABLE THE DEVICE

CLR aKWCSR :CLEAR STATUS

MOV #-2 . 3KWPSR :LOAD COUNTER PRESET

MOV #11.3KWCSR *ENABLE 1 MHZ. RATE AND CLOCK GO
1%: gg{e ?§ucsn *WAIT FOR CLOCK

BIS #BIT12,aSFR :ALLOW 1 DMA TRANSFER

NOP

NOP

MOV BUF 0, $BDDAT :READ DATA

MOV #0,$GDDAT *LOAD EXPECTED

CMP $GDDAT, SBDDAT :COMPARE VALUES

BEQ TST112 ::BR IF SAME

ERROR 40 “CLOCK OVERFLOW FAILED TO GENERATE ‘‘TIME MARKS''

;CHECK THE M8026 TO M7952 JUMPERS
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CZNCCB.P1T 31-AUG=79 11:21 T112 VERIFY "'SET TIME'' OVERRIDES ''SET EVENT'' DATA SEQ 0064
1350 IR AR AR RRRRR AR AR R AR RN AR R AR
(3 ;*TEST 112 VERIFY "'SET TIME'' OVERRIDES ''SET EVENT'' DATA
(3 IR AR AR AR AR R AR RRAR R AR AR AR R AR AR R AR AR RN AR AR RR AR AR AR AR
(2) 017116 000004 TST112: SCOPE
(1) 017120 012737 000040 001160 MOV #40,8$TIMES :;D0 40 ITERATIONS
1351 017126 012777 004000 162622 MOV #CLRALL ,aSFR ;CLEAR THE DEVICE
1352 017134 012777 177777 162610 MOV #=1,aWCR ;SET UP 1 WORD TRANSFER
1353 017142 012777 060000 162604 MOV #BUF 0, aBAR ;LOAD BUS ADDRESS FOR RESULT
1354 017150 012777 000014 162600 MOV #TSTDMA!TSTCON,QSFR ;ENABLE TEST CONTROL AND DMA FLOPS
1355 017156 012737 007070 060000 MOV #7070,8UF0 ;PRESET THE DATA
1356 017164 052777 000001 162554 BIS #BITO,aCSR ;ENABLE DEVICE
1357 017172 000240 NOP
1358 017174 000240 NOP
1359 017176 000240 NOP ,
1360 017200 052777 003000 162550 BIS #BIT10!BIT9,aSFR ;SET "'TIME AND EVENT'® FLOPS
1361 017206 052777 010000 162542 BIS #BIT12,aSFR JALLOW 1 DMA TRANSFER
1362 017214 000240 NOP
1363 017216 000240 NOP
1364 017220 000240 NOP
1365 017222 013737 060000 001126 MOV BUF 0, $8DDAT ;READ DATA
1366 017230 012737 000000 001124 MOV #0,S$GDDAT :LOAD EXPECTED
1367 017236 023737 001124 001126 CMP $GDDAT , SBDDAT ; COMPARE VALUES
1368 017244 001401 BEQ TST113 ::BR IF SAME , N
1369 017246 104027 ERROR 27 ;"TIME'" MARK FAILED TO OVERIDE "EVENT'® OR DATA M
1370 IIRAREARR AR A RN AANR AN AN A ARRA AR R AR AR RRANRANRRARRARARARARRNRRRRRRRRRAR
(3) J*TEST 113 DO A ONE WORD MATRIX MODE TRANSFER =CHECK FOR INCREMENT FUNCTION
3 DI A AR AR AR AR AR AR RRRARRRARARARARRARRARACARARRARNRRRRAAS
(2) 017250 000004 TST113: SCOPE
(1) 017252 012737 000040 001160 MOV #40,STIMES ::D0 40 ITERATIONS
1371 017260 012777 004000 162470 MOV #CLRALL ,aSFR ;CLEAR THE DEVICE
1372 017266 005037 060000 CLR BUFO ;CLEAR INITIAL INREMENT LOCATION
1373 017272 012777 060000 162450 MOV #BUFO ., a0F F ;LOAD INITIAL OFFSET REGISTER
1376 017300 012777 000022 162440 MOV #B81T4!BIT1,aCSR sENABLE MATRIX MODE
1375 017306 012777 000014 162442 MOV #TSTDMA!TSTCON,aSFR sSET TEST DMA AND CONTROL
1376 017314 052777 000001 162424 BIS #BIT0,aCSR -ENABLE THE DEVICE
1377 017322 052777 000002 162426 BIS WTESTZ ,aSFR sENABLE "TEST Z'' PULSES
(1) 017330 042777 000002 162420 BIC #TESTZ ,aSFR ;DISABLE "TEST Z'" PULSES
1378 017336 000240 NOP
1379 017340 000240 NOP
1380 017342 000240 NOP
1381 017344 052777 010000 162404 BIS #BIT12,aSFR ;ALLOW 1 TRANSFER
1382 017352 000240 NOP
1383 017354 000240 NOP
1384 017356 240 NOP
1385 017360 013737 060000 001126 MOV BUF 0, $8DDAT ;READ THE BUFQ LOCATION
1386 017366 012737 000001 001124 MOV #1,$GDDAT ;LOAD EXPECTED VALUE
1387 017374 023737 001124 001126 CMP $GDDAT, $8DDAT : COMPARE VALUES
1388 017402 001401 BEQ TST114 ::BR IF SAME
1389 017404 104030 ERROR 30 : INCORRECT DATA IN MATRIX MODE
1390 ;IF DATA WAS O, THE ADDRESS ACCESSED WAS PROBLY WRONG
1391 ;IF DATA WAS NON ZERO, THE "'INCR'* REGISTER IS STUCK TO A 1




CZNCCB

NCV11

CZNCCB.P11

1393
(3)
(3)
(2)
(1)

1394

1395

1396

1397

1398

1399

1400

16401

1402

1403

1404

1405

1406

1407

1408

1409

1410

1411

1412

1413
(1)

1414

1415

1416

1417

1418

1419

1420

1421

1422

1423

1424

1425

1426

1427

017406
017410

017416
017424

017432
017440
017446
017454
017462
017470
017476
017502
017510
017516
017524
017532
017540
017546
017550
017552
017560
017566
017570
017576
017600
017606
017612

DIAGNOSTI
31-AUG-79

000004
012737

012737
012737

012777
012777
012777
012777
052777
013737
005337
052777
042777
052777
013737
013737
023737
001401
104030
017737

C
11:21

000040

017432
000002
004000
060000
000024
000014
000001
002004
069000
000002
000002

010000
002004

060000
001124
162170
020000
000024

020000
002004

N S
MACY11 30G(1063) 31-AUG-79 13:10 PAGE 42

114 VERIFY EACH BIT OF THE INCREMENT REG. DATA PATH

SRR R AR AR A AR A AN A AR AR AR AN RAAAAAAAAAAAAAAAAAARAAAAAA AR AT A AR ®

;*TEST 114 VERIFY EACH BIT OF THE INCREMENT REG. DATA PATH

T AR AR A AR AR A AR A A A AR AR A AR AR AR A AR A AR A A AR AR A AR A A A AR AR

T§T114: SCOPE

001160 MOV #40,$TIMES ::D0 40 ITERATIONS
;CHECK FOR A '‘CARRY"' INTO EACH BIT
; IE:  000002-000001
; 000004-000003
: 000010-000007
: 000020-000017
; 000040-000037
3 000100-000077
3 000200-000177
001110 MOV #1S,SLPERR ;LOAD RETURN ADDRESS IF ERROR
002004 mov 42, STEMP :LOAD INITIAL VALUE
162316 1% MOV WCLRALL,@SFR :CLEAR THE DEVICE
162302 MOV #BUFO.a0FF :LOAD INITIAL OFFSET REGISTER
162272 MOV #BIT4IBIT2,aCSR :ENABLE WORD MATRIX MODE
162274 MOV ATSTDMA!TSTCON,@SFR  :SET TEST DMA AND CONTROL
162256 BIS  #BITO,aCSR :ENABLE THE DEVICE
060000 MOV STEMP.BUFO :LOAD PRESET VALUE
DEC  BUFO :TO EXPECTED =1
162246 BIS  ATESTZ,@SFR :ENABLE "TEST Z'' PULSES
162240 BIC  WTESTZ.3SFR :DISABLE ‘TEST Z'* PULSES
162232 BIS  #BIT12,aSFR :ALLOW 1 TRANSFER
001124 MOV  STEMP,S$GDDAT :LOAD TYPEOUT EXPECTED
001126 MOV BUFO,S$BDDAT :READ THE BUFO LOCATION
001126 CMP  SGDDAT,SBDDAT : COMPARE VALUES
BEQ 2% ::BR IF SAME
ERROR 30 ; INCORRECT DATA IN THE INCREMENT REGISTER
001126 2$: MOV @CSR,$BDDAT :READ STATUS |
001126 BIT  #BITi3,$BDDAT :TEST FOR UNEXPECTED CELL OVERFLOW
BEQ 3% :BR _IF_NOT
001124 MOV #BIT4!BIT2,SGDDAT :LOAD THE EXPECTED TYPEOUT
ERROR 31 :UNEXPECTED ''CELL OVERFLOW'' STATUS
162150 BIS  #BIT13,aSFR :TRY TO CLEAR THE FLAG
3%:  ASL  STEMP :CHANGE THE EXPCTED
BNE 18 :BR IF MORE DATA BITS

SEQ 0065
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CINCCB.P1T  31-AUG=79 11:21 T115  CHECK FOR LOW BYTE '‘INC OVFL'' TO SET CELL OVERFLOW AND ‘‘CLR CELL'' TO CLEA SEQ 0066
1‘29 .'.'ﬁ'QQ!QQ.QQQ*Q'*.Q*Q'Q'Q'Q'lQQ.QQI.QQ'.t.'.itt.i'ﬁit..Q'QQQQQ." :
(3) J*TEST 115 CHECK FOR LOW BYTE “INC OVFL'' TO SET CELL OVERFLOW AND ‘‘CLR CELL'' TO CLE
(3) .'"t'ttttitttit'.i'iitlttt'ittttt.ﬁﬁ.ttt..ti.ttttitﬁﬁtﬁiii.ﬁtttttt
(2) 017614 000004 t§7115: SCOPE
(1) 017616 012737 000040 001160 MOV #40,8$TIMES ::D0 40 ITERATIONS
1430 017626 012777 004000 162124 MOV #CLRALL ,@SFR ;CLEAR THE DEVICE
1431 017632 005077 162114 CLR aWCR :CLEAR WC
1432 017636 005077 162112 CLR aBAR :CLEAR BAR
1433 017642 012777 060000 162100 MOV #BUF 0, 3OF F :LOAD INITIAL OFFSET REGISTER
1434 017650 012777 000022 162070 MOV #8IT4IBIT1,aCSR :ENABLE BYTE MATRIX MODE
1435 017656 012777 000014 162072 MOV #TSTDMA! TSTCON, aSFR :SET TEST DMA AND CONTROL
1436 017664 052777 000001 162054 BIS #81T0,aCSR :ENABLE THE DEVICE
1437 017672 052777 000002 162056 BIS #TESTZ,aSFR :ENABLE "'TEST Z'* PULSES
(1) 017700 042777 000002 162050 BIC #TESTZ.aSFR :DISABLE '‘TEST 2'* PULSES
1438 017706 000240 NOP
1439 017710 000240 NOP
1440 017712 000240 NOP
1441 017714 112737 000377 060000 MOVB  #377.BUFQ ;SET LOW BYTE OF BUFO LOC. TO BYTE =1
1442 017722 112737 000200 060001 MOVB  #200,BUF0+1 SET HIGH BYTE OF BUFO TO KNOWN VALUE
1443 017730 052777 010000 162020 BIS #BIT12,aSFR :ALLOW 1 TRANSFER
1444 017736 000240 NOP
1445 017740 000240 NOP
1446 017742 000240 NOP
1447 017744 017737 161776 001126 MOV aCSR, SBDDAT ;READ STATUS
1448 017752 012737 020022 001124 MOV #81T13'B1T4'BIT1,$GDDAT :LOAD EXPECTED STATUS
1449 017760 023737 001124 001126 cMP $GDDAT , $BDDAT : COMPARE VALUES
1450 017766 001401 BEQ 18 ::BR IF SAME .

1451 017770 104031 ERROR 31 :"'CELL OVERFLOW'' FLOP FAILED TO SET

1452 ;IN BYTE MODE FROM A LOW BYTE OVERFLOW

i

1455 ;NOW GENERATE ''CLR CELL'' TO CLEAR CELL OVERFLOW FLOP

1456 017772 052777 020000 161756 1$: BIS #81T13,aSFR ; GENERATE '‘CLR CELL''

1457 020000 017737 161742 001126 MOV @CSR, SBDDAT :READ STATUS

1458 020006 012737 000022 001124 MOV #8174 'BIT1,SGDDAT :LOAD EXPECTED

1459 020014 023737 001124 001126 P $GDDAT , $BDDAT : COMPARE VALUES

1460 020022 001401 BEQ 28 ::BR IF SAME . .
1461 020024 104031 ERROR 31 :"'CLR CELL'* FAILED TO CLEAR ‘‘CELL OVFL'' FLOP
1463 ;NOW VERIFY THE BYTE DATA CELL

1464 020026 013737 060000 001126 2%: MOV BUF 0, SBDDAT ;READ DATA

1465 020034 012737 100377 001124 MOV #100377 , $GDDAT :LOAD EXPECTED

1466 020042 023737 001124 001126 CMP $GDDAT , $BDDAT : COMPARE

1467 020050 001401 BEQ 1ST116 ::BR IF SAME

1468 020052 104031 ERROR 31 . :OVERFLOW FROM INC. REG. FAILED TO INWIBIT
1469 :'INC CNT'' FROM CHANGING THE DATA OR

1470 ;"'CSR BYTE CELLS'' FAILED TO INHIBIT "'INC ENA HI''




CZNCCB

(ZNCCB.

1472
(3)
(3)
(2)
(M)

1473

1474

1475

1476

1477

1478

1479

1480
(1)

1481

1482

1483

1484

1485

1486

1487

1488

1489

1490

1491

1492

1493

1494

1495

1496

1497

1498

1499

1500

1501

1502

1503

1504

1505

1506

NCV1T
P11

020172
020174
020176
020204
020212
020220
020222

020224
020232
020240
020246
020254
020256

020260
020266
020274
020302
020304

DIAGNOSTIC
31-AUG=79 11:21

052777
017737
012737
023737
001401
104031

013737
012737
023737
001401
104031

177777
010000

161544
020024
001124

060000
177777
001124

MACY11 30G(1063) 31-AUG=79
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T116 CHECK FOR WORD ‘‘INC OVFL'' TO SET CELL OVERFLOW AND ‘‘CLR ALL'' TO CLEAR IT  SEQ 0067

i3 333233 22232282222 000080 320222 20 2R R0 002 dddR Rl

CHECK FOR WORD ''INC OVFL'' TO SET CELL OVERFLOW AND ''CLR ALL'' TO CLEAR IT

:;ttttttttQt*ﬁititiitiiiﬁ'*tt**'.*t.ﬁ..i.iittttitttttttttﬁtttiiﬁt

'TEST 116
TST116: SCOPE

#40,8TIMES
#CLRALL ,aSFR
aBAR

awCR

#BUF 0, a0F F
#BIT4!BIT2,aCSR

::D0 40 ITERATIONS
;CLEAR THE DEVICE

;LOAD INITIAL OFFSET REGISTER
;ENABLE MATRIX MODE

#TSTDMA!TSTCON,aSFR ;SET TEST DMA AND CONTROL

#MIT0,aCSR
#TESTZ,aSFR
#TESTZ,aSFR

#-1,BUF0
#BIT12,aSFR

aCSR, $8DDAT

sENABLE THE DEVICE
;ENABLE '‘TEST 2'' PULSES
;DISABLE '‘TEST Z'' PULSES

;:SET BUFO LOC. TO WORD =1
;ALLOW 1 TRANSFER

;READ STATUS

#MIT13!B1T4!BIT2,$GDDAT ;LOAD EXPECTED STATUS

SgDDAT,SBDDAT
31

. COMPARE VALUES
;:BR IF SAME
;"'CELL OVERFLOW'' FLOP FAILED TO SET

;NOW GENERATE ''CLR ALL'' TO CLEAR CELL OVERFLOW FLOP

001160 MOV
161664 MOV
CLR
CLR
161640 MOV
161630 MOV
161632 MOV
161614 BIS
161616 BIS
161610 BIC
NOP
NOP
NOP
060000 MOV
161566 BIS
NOP
NOP
NOP
001126 MOV
001124 MOV
001126 CMP
BEQ
ERROR
161524 18: BIS
001126 MOV
001124 MOV
001126 cMP
BEQ
ERROR
;:NOW VERIFY THE
001126 2$%: MOV
001124 MOV
001126 CMP
BEQ

ERROR

#CLRALL ,@SFR
aCSR,$BDDAT
#B1T7,$GDDAT
$GDDAT , SBDDAT
2%
31
WORD CELL DATA
BUF 0, $BDDAT
#-1,8GDDAT
$GDDAT , SBDDAT
§§r117

;GENERATE ''CLR ALL"
:READ STATUS
:LOAD EXPECTED
s COMPARE VALUES
;:BR IF SAME
J"'CLR ALL'® FAILED TO CLEAR "'CELL OVFL'®' FLOP

;READ DATA
;LOAD EXPECTED
; COMPARE

;:BR IF SAME
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CINCCB.P1T  31-AUG=79 11:21 T117  CHECK FOR “‘CELL OVERFLOW'' INTERRUPT SEQ 0068
1508 IR R AR AR R AR R AR RN R AR AR RN R AR RN R AR R R RRRRR AR AR RN
(3) ;*TEST 117 CHECK FOR '‘CELL OVERFLOW'' INTERRUPT
(%) IR AR R AR AR AR AR AR AR R AR AR AR AR AR RA RN R RRRRRR AR R,
(2) 306 TST117: SCOPE
(1) 020310 012737 000040 001160 MOV #40,8TIMES ;:D0 40 ITERATIONS
1509 020316 012777 004000 161432 MOV #CLRALL ,aSFR ;CLEAR THE DEVICE
1510 020324 005077 161424 CLR aBAR
1511 020330 005077 161416 CLR awCR
1512 020334 012777 161406 MOV #BUFQ, a0F F ;LOAD INITIAL OFFSET REGISTER
1513 020342 012777 000064 161376 MOV #BIT5!BIT4!BIT2,a(SR sENABLE INTR. AND MATRIX MODE
1514 020350 012777 000014 161400 MOV #TSTDMA!TSTCON,aSFR sSET TEST DMA AND CONTROL
1515 020356 052777 000001 161362 BIS #8170,aCSR ;ENABLE THE DEVICE
1516 020364 052777 000002 161364 BIS #TESTZ,aSFR ;ENABLE "TEST Z'' PULSES
(1) 020372 042777 000002 161356 BIC #TESTZ,aSFR ;DISABLE '‘TEST Z'' PULSES
1517 020400 000240 NOP
1518 020402 000240 NOP
1519 020404 000240 NOP
1520 020406 012737 177777 060000 MOV #-1,BUFO ;SET BUFO LOC. TO WORD -1
1521 020414 012746 000000 MOV #0,-(SP)
1522 020420 012746 020426 MoV #1%,-(SP)
1523 020424 000002 RTI
1524 020426 012777 020454 161342 1%: MOV #2% ,aVECTBO ;LOAD RETURN VECTOR
1525 020434 052777 010000 161314 BIS #BIT12,aSFR ;ALLOW 1 TRANSFER
1526 020442 000240 NOP
1527 020444 000240 NOP
1528 020446 000240 NOP
1529 020450 104032 ERROR 32 ;"'CELL OVERFLOW'' FAILED TO CAUES AN INTERRUPT
1530 020452 000414 BR 3% ::BR TO CLEAN UP
1531 020454 022626 2%: CMP (SP)+,(SP)+
1532 020456 017737 161264 001126 MOV a(SR,$BDDAT :READ STATUS
1533 020464 012737 020264 001124 MOV #BIT13!BIT7!BITS!BIT4!BIT2,SGDDAT ;LOAD EXPECTED
1534 020472 023737 001126 001126 CMP $GDDAT, $BDDAT ; COMPARE VAL UE
1535 020500 001401 BEQ 3% ;:BR IF "ACTIVE'' CLEARED
1536 020502 104031 ERROR 31 ;"ACTIVE'' FAILED TO CLEAR
1537 020504 012777 004000 161244 3%: MOV #CLRALL ,aSFR ;CLEAR THE DEVICE
1538 020512 013777 002000 161256 MOV VECTB1,aVECTBO JRESET THE VECTORS
1539 020520 005077 161254 CLR aVECTBI
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VERIFY CORRECT BR LEVEL THE NCv=11

S 2222322222222 233222 0232200020 2R 2R R0 2 )

;*TEST 120 VERIFY CORRECT BR LEVEL THE NCV=11
AR AR R AR AR R RAR R ARRR AR R AR R RN AR RARN RN RRC R RS
TST120: SCOPE
MOV #40,8TIMES ;:D0 40 ITERATIONS
MOV BRLEV,=(SP) sPUSH THE EXPECTED BR LEVEL ON STA(CK
MOV #18,-(SP) JPUST THE RETURN ADDRESS ON STACK
RT] :FAKE AN INTERRUPT TO BE LSI=11 AND PDP=-11 COMPATABLE
1%: MOV #CLRALL ,a@SFR ;CLEAR THE DEVICE
MOV #10%,aVECTBO sLOAD UNEXPECTED INTERRUPT RETURN
MOV #340,aVECTR
CLR aBAR JINIT THE LOW Z COUNT
CLR aWCR JINIT THE HIGH Z COUNT
MOV #8UF 0, a0F F :PRIME THE OFFSET REGISTER
MOV #64 ,a(CSR ;SELECT INTR. AND MATRIX MODE
MOV #TSTDMA' TSTCON,aSFR ;MAINT. MODE
MOV #-1,BUF0 :PRIME THE TARGET LOCATION
BIS #31T70,aCSR ;ENABLE THE NCv-11
BIS #TESTZ,aSFR JENABLE ''TEST Z2'' PULSES
Ség #TESTZ,aSFR :DISABLE '‘TFST 2'' PULSES
NOP
NOP
BIS #B1T12,aSFR JENABLE 1 TRANSFER
NOP
NOP
NOP
NOP
NOP
NOP
MOV BRLEV,RO :GET CURRENT BR I.EVEL
SuB #40,R0 ;AND MAKE IT 1 LEVEL LOWER
TST NLSIT1 JTEST IF LSI-11 CPU
BEQ 2% :BR IF NOT
CLR RO ;LOAD BR LEVEL 0O
2%: MOV #20% ,aVECTBO :RELOAD TO EXPECTED VECTOR
MOV RO,-(SP) ;PUSH ADJUSTED BR LEVEL
MOV #3%,-(SP) JPUSH RETURN ADDRESS
RTI ;LOWER CPU BR LEVEL
1%: zgz
ERROR &? :NCV11 FAILED TO INTERRUPT = INCORRECT NCV11 BR LEVEL?
BR 21% ;:BR TO CLEAN-UP
JUNEXPECTED INTERRUPT WITH BR LEVEL INDICATED
10%: CMP (SP)+,(SP)+ :CLEAN THE STACK
ERROR 42 JNCV11 INTERRUPTED ON AN INCORRECT BR LEVEL
BR 21% ;:BR TO CLEANUP
JEXPECTED INTERRUPT DID OCCUR
20%: CMP (SP)+,(SP)+ ;CLEAN THE STACK
21%: MOV #CLRALL ,aSFR :CLEAN THE DEVICE
MOV VECTB1,aVECTB0) ;RESET THE VECTOR

(LR

aVECTRI

SEQ 0069
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001122
001124
001126
001126

F 6
$1-AUG=79 13:10 PAGE 47

T121 VERIFY A 1 WORD MATRIX MODE XFR USING OFFSET = 13

et iiiiii ittt ittt ittt Rt RRd Rl ]

S*TEST 121

VERIFY A 1 WORD MATRIX MODE XFR USING OFFSET = 13

e 2222232232222 2222220202202 2 02 RdRdR Rl dR )

TST121: SCOPE
MOV
MOV
MOV
MOV
MOV
BIS
BIS
BIC
CLR
BIS
MOV
MOV
MOV
CMP
BEQ
ERROR

#100,$TIMES :;D0 100 ITERATIONS

#CLRALL ,@SFR :CLEAR THE DEVICE

#60000, 90F F :LOAD THE OFFSET REG.
#TSTDMA' TSTCON,@SFR *SET TEST DMA AND CONTROL
#BIT4!'BIT2,aCSR *SELECT MATRIX WORD MODE
#B1T0.aCSR *ENABLE NCV11

#TESTZ,aSFR *ENABLE "‘TEST 2'' PULSES
#TESTZ.aSFR :DISABLE 'TEST 2'' PULSES
a#60000 :CLEAR THE TARGET LOCATION
#B1T12,3SFR CALLOW 1 WORD TRANSFER
#60000 . $8DADR :LOAD EXPECTED ADDRESS
#1,$GDDAT *LOAD EXPECTED DATA
a$BDADR , SBDDAT *READ THE ACTUAL DATA
$GDDAT , $BDDAT * COMPARE

TST122 ::BR IF SAME

33 COFFSET INPUT TO MATRIX MUX. SELECTED

:THE WRONG ADDRESS - EXPECTED ADR. WAS 60000

AR AR R AR R AR A AR AR A AR A A AR AR AR A AR AR AR A AR A AR A AR A ARk

TRTEST 122

VERIFY A 1 WORD MATRIX MODE XFR USING OFFSET - 12

T AN R ARA AR A AR AT A A AAR AR AR AR AR AR AR AR AR AR AR AR AR AR AR

TST122: SCOPE
MOV
MOV
MOV
MOV
MOV
BIS
BIS
BIC
CLR
BIS
MOV
MOV
MOV
CMP
BEQ
ERROR

#100,8TiMES ;:D0 100 ITERATIONS

#CLRALL ,aSFR ;CLEAR THE DEVICE
#70000,a0F F ;LOAD THE OFFSET REG.
#TSTDMA!TSTCON,aSFR sSET TEST DMA AND CONTROL
#BIT4!BIT2,aCSR ;SELECT MATRIX WORD MODE

#B1T0,aCSR *ENABLE NCV11
#TESTZ,aSFR *ENABLE "‘TEST 2'* PULSES

ATESTZ.@SFR *DISABLE '‘TEST 2'' PULSES

a# 70000 :CLEAR THE TARGET LOCATION
#81T12.3SFR *ALLOW 1 WORD TRANSFER

#70000 . $8DADR *LOAD EXPECTED ADDRESS

#1,8GDDAT *LOAD EXPECTED DATA

a$BDADR, $BDDAT *READ THE ACTUAL DATA

$GDDAT , $BDDAT - COMPARE

1ST123 ::BR IF SAME

33 COFFSET INPUT TO MATRIX MUX. SELECTED

;THE WRONG ADDRESS = EXPECTED ADR. wAS 70000

SEQ 0070
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1123 VERIFY A 1 WORD MATRIX MODE XFR USING OFFSET = 11

e 2322222222222 2R 2002 RRRRRdRddRRiRdiitRiRRRRRtRRRdd Rl Rl

TRTEST 123

VERIFY A 1 WORD MATRIX MODE XFR USING OFFSET = 11

e iiii232 232222002 22 2R 022022 22 22 2 R RRRtRRRRddl 2

TST123: SCOPE
MOV
MOV
MOV
MOV
MOV
BIS
BIS
BIC
CLR
BIS
MOV
MOV
MOV
(MP
BEQ
ERROR

#100,$TIMES ;:D0O 100 ITERATIONS

#CLRALL ,aSFR ;CLEAR THE DEVICE

#64000, a0F F ;LOAD THE OFFSET REG.
#TSTDMA!TSTCON,aSFR ;SET TEST DMA AND CONTROL
#BIT4!BIT2,a(SR sSELECT MATRIX WORD MODE

#81T0.aCSR *ENABLE NCV11

#TESTZ,aSFR *ENABLE "‘TEST 2'' PULSES
#TESTZ.@SFR :DISABLE 'TEST 2'' PULSES
64000 *CLEAR THE TARGET LOCATION
#BIT12.3SFR CALLOW 1 WORD TRANSFER
#64000 . $8DADR *LOAD EXPECTED ADDRESS
#1.$GDDAT *LOAD EXPECTED DATA
a$ADADR, SBDDAT *READ THE ACTUAL DATA
$GDDAT, $8DDAT * COMPARE

TST124 ;:BR IF SAME

33 COFFSET INPUT TO MATRIX MUX. SELECTED

;THE WRONG ADDRESS - EXPECTED ADR. WAS 64000

';l'ttt'tt'ttQtttt.ttt..tttttttit.ttttﬁtt'it'titiﬁtt.ﬁt"*'it'ltt

CeTEST 124

VERIFY A 1 WORD MATRIX MODE XFR USING OFFSET = 10

‘:tt.ltt'Qt'lt.'itl.‘Q.ti.t.t'.t*.tﬁt..t...""...*'Qtt..'lt'l".

7ST124: SCOPE

#100,$TIMES ;:D0 100 ITERATIONS

#CLRALL ,aSFR ;CLEAR THE DEVICE
#62000,a0F F ;LOAD THE OFFSET REG.
#TSTDMA!TSTCON,aSFR ;SET TEST DMA AND CONTROL
#BI1T4!BIT2,a(CSR sSELECT MATRIX WORD MODE

#B1T0.aCSR “ENABLE NCV11

#TESTZ,aSFR “ENABLE 'TEST Z'* PULSES
#TESTZ.aSFR *DISABLE '‘TEST 2'' PULSES
a#62000 “CLEAR THE TARGET LOCATION
#B1T12,3SFR “ALLOW 1 WORD TRANSFER
#62000 . $8DADR *LOAD EXPECTED ADDRESS
#1,$GDDAT *LOAD EXPECTED DATA
a$SBDADR , $SBDDAT ‘READ THE ACTUAL DATA
$GDDAT, $8DDAT * COMPARE

TST125 ::BR IF SAME

33 COFFSET INPUT TO MATRIX MUX. SELECTED

:THE WRONG ADDRESS = EXPECTED ADR. wAS 62000

SEQ 0071
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T125 VERIFY A 1 WORD MATRIX MODE XFR USING OFFSET = 09
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S*TEST 125

VERIFY A 1 WORD MATRIX MODE XFR USING OFFSET = 09

a2 i 2222322222202 RRRRR R iRt RlRiRi iRl sl ]

TST125: SCOPE
MOV
MOV
MOV
MOV
MOV
BIS
BIS
BIC
CLR
BIS
MOV
MOV
MOV
CMP
BEQ
ERROR

#100,$TIMES ;;D0 100 ITERATIONS

#CLRALL ,aSFR :CLEAR THE DEVICE
#61000, 30F F :LOAD THE OFFSET REG.

#TSTDMA' TSTCON, @SFR “SET TEST DMA AND CONTROL
#BIT4'BIT2,aCSR “SELECT MATRIX WORD MODE

#81T0,aCSR :ENABLE NCVIT

#TEST2,aSFR *ENABLE ‘‘TEST 2'' PULSES

#TESTZ.aSFR :DISABLE ‘‘TEST 2'* PULSES

a#61000 “CLEAR THE TARGET LOCATION
#BIT12,aSFR SALLOW 1 WORD TRANSFER

#61000 . SBDADR :LOAD EXPECTED ADDRESS

#1,$GDDAT *LOAD EXPECTED DATA

a$BDADR , $BDDAT *READ THE ACTUAL DATA

$GDDAT , $BDDAT : COMPARE

TST126 ::BR IF SAME

33 COFFSET INPUT TO MATRIX MUX. SELECTED

;THE WRONG ADDRESS - EXPECTED ADR. WAS 61000

C AR A A AR A AR A AR AR A AR AR A AR R A A AR A AR A A AR A AR AR AR A AR AR AR AR A A AW

TRTEST 126

VERIFY A 1 WORD MATRIX MODE XFR USING OFFSET - 08

a2 2222223332232 2 2R 22 2202202 R R RRdd } 2

TST126: SCOPE
MOV
MOV
MOV
MOV
MOV
BIS
BIS
BIC
CLR
BIS
MOV
MOV
MOV
CMP
BEQ
ERROR

#100,$TIMES ;:D0 100 ITERATIONS

#CLRALL ,aSFR ;CLEAR THE DEVICE
#60400,a0F F ;LOAD THE OFFSET REG.
#TSTDMA!TSTCON,aSFR ;SET TEST DMA AND CONTROL
#BIT4!BIT2,aCSR ;SELECT MATRIX WORD MODE
#81T0,aCSR ;ENABLE NCV11

#TESTZ,aSFR ;ENABLE "‘TEST 2'' PULSES
#TESTZ ,aSFR ;DISABLE 'TEST Z'' PULSES
a#60400 ;CLEAR THE TARGET LOCATION
#BIT12,aSFR ;ALLOW 1 WORD TRANSFER
#60400, $BDADR ;LOAD EXPECTED ADDRESS
#1,8GDDAT ;LOAD EXPECTED DATA
a@$BDADR, $BDDAT sREAD THE ACTUAL DATA
$GDDAT , $BDDAT . COMPARE

T1ST127 ;:BR IF SAME

33 ;OFFSET INPUT TO MATRIX MuUX. SELECTED

;THE WRONG ADDRESS = EXPECTED ADR. WAS 60400

SEQ 0072
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1127 VERIFY A 1 WORD MATRIX MODE XFR USING OFFSET = 07

e 2232222322222 2R3 R iR 2Rl Rl ]

S*TEST 127

VERIFY A 1 WORD MATRIX MODE XFR USING OFFSET = 07

2222223222222 22022 R0ttt iRttt RRRRRdddd sl S ]

TST127: SCOPE
MOV
MOV
MOV
MOV
MOV
BIS
BIS
BIC
CLR
BIS
MCV
MOV
MOV
CMP
BEQ
ERROR

#100,$TIMES ;:D0 100 ITERATIONS

#CLRALL ,aSFR ;CLEAR THE DEVICE

#60200, a0F ;LOAD THE OFFSET REG.
HTSTDMA!TSTCON,aSFR sSET TEST DMA AND CONTROL
#BIT4!BIT2,aCSR ;SELECT MATRIX WORD MODE

#81T0.aCSR *ENABLE NCV11

#TESTZ,aSFR *ENABLE 'TEST Z'* PULSES
#TESTZ .@SFR :DISABLE '‘TEST Z'' PULSES
a60200 “CLEAR THE TARGET LOCATION
#BIT12,aSFR “ALLOW 1 WORD TRANSFER
#60200 , $8DADR *LOAD EXPECTED ADDRESS
#1,$GDDAT *LOAD EXPECTED DATA
@$BDADR, SBDDAT *READ THE ACTUAL DATA
$GDDAT , $BDDAT * COMPARE

TST130 ::BR IF SAME

33 COFFSET INPUT TO MATRIX MUX. SELECTED

:THE WRONG ADDRESS - EXPECTED ADR. WAS 60200

';tttttttttttttttttttiﬁttttttttttit.ittﬁit.littﬁ*ﬁttttﬁﬁtﬁtttﬁitt

SxTEST 130

VERIFY A 1 WORD MATRIX MODE XFR USING OFFSET = 06

S 2222222333323 22323233 3233323222322 223230232023222232222 22222002223 22

TST130: SCOPE
MOV
MOV
MOV
MOV
MOV
BIS
BIS
BIC
CLR
BIS
MOV
MOV
MOV
CMP
BEQ
ERROR

#100,8TIMES ;:DO 100 ITERATIONS

#CLRALL ,aSFR ;CLEAR THE DEVICE
#60100,a0FF ;LOAD THE OFFSET REG.
#TSTDMA!TSTCON,aSFR ;SET TEST DMA AND CONTROL
#BIT4!BIT2,aCSR ;SELECT MATRIX WORD MODE

#B1T0,aCSR *ENABLE NCV11

#TESTZ,aSFR *ENABLE ''TEST 2'' PULSES
#TESTZ.aSFR :DISABLE '‘TEST 2'' PULSES
a#60100 *CLEAR THE TARGET LOCATION
#B]T12.aSFR *ALLOW 1 WORD TRANSFER
#60100 . SBDADR *LOAD EXPECTED ADDRESS
#1.$GDDAT *LOAD EXPECTED DATA
aSBDADR, $BDDAT *READ THE ACTUAL DATA
$GDDAT , $BDDAT : COMPARE

TST131 ::BR IF SAME

33 COFFSET INPUT TO MATRIX MUX. SELECTED

;THE WRONG ADDRESS - EXPECTED ADR. wAS 60100

SEQ 0073
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052777
042777
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012737
017737
023737
001401
104033
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001401
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"N VERIFY A 1 WORD MATRIX MODE XFR USING OFFSET = 05

e 2222232323222 2222222222222 2202222222 20 RRRddRdldl )l

VERIFY A 1 WORD MATRIX MODE XFR USING OFFSET = 05

a2 2232333323232 222222222 2222022002220 d2222d02 0 2]

TRTEST 131
T$T131: SCOPE

CMP
BEQ
ERROR

#100,$TIMES
#CLRALL ,aSFR
#60040,a0F F

;:D0O 100 ITERATIONS
sCLEAR THE DEVICE
;LOAD THE OFFSET REG.

#TSTDMA!TSTCON,aSFR ;SET TEST DMA AND CONTROL

#BIT4'BIT2,aCSR
#B1T0.aCSR
#TESTZ,aSFR
#TESTZ ,aSFR
a#60040
#IT12,.3SFR
#60040, $8DADR
#1,8GDDAT
a$8DADR, $SBDDAT
$GDDAT ,$BDDAT
TST132

33

;SELECT MATRIX WORD MODE

sENABLE NCV11

;ENABLE "‘TEST Z'' PULSES

;DISABLE '‘TEST Z'' PULSES

;CLEAR THE TARGET LOCATION

;ALLOW 1 WORD TRANSFER

;LOAD EXPECTED ADDRESS

;LOAD EXPECTED DATA

sREAD THE ACTUAL DATA

; COMPARE
;:BR IF SAME

;OFFSET INPUT TO MATRIX MUX. SELECTED
;THE WRONG ADDRESS = EXPECTED ADR. WAS 60040

S 2233222332222 23 23323233323 8228232833208 23d300f2 2000202022300 200020320323]

VERIFY A 1 WORD MATRIX MODE XFR USING OFFSET = 04

SRR AR AR A AR A AR AN AR A AR A A A A A AAA AR R A AAAAARAAAARAAAAAA A AR AR AR AN RS

T*TEST 132

TST132: SCOPE
MOV
MOV
MOV
MOV
MOV
BIS
BIS
BIC
CLR
BIS
MOV
MOV
MOV
CMP
BEQ
ERROR

#100,8TIMES
#CLRALL ,aSFR
#60020,a0F F

;:D0 100 ITERATIONS
;CLEAR THE DEVICE
;LOAD THE OFFSET REG.

#TSTDMA!TSTCON,aSFR sSET TEST DMA AND CONTROL

#BI1T4'BIT2,3CSR
#81T0,aCSR
#TESTZ,3SFR
ATESTZ.aSFR
a#60020
#BIT12,aSFR
#60020 . SBDADR
#1,$GDDAT
a$BDADR , S8DDAT
$GDDAT, $8DDAT
§§r133

;SELECT MATRIX WORD MODE

sJENABLE NCV11

;ENABLE '‘TEST Z‘:PULSES

;:DISABLE '‘TEST Z'' PULSES

:CLEAR THE TARGET LOCATION

JALLOW 1 WORD TRANSFER

;LOAD EXPECTED ADDRESS

;LOAD EXPECTED DATA

;READ THE ACTUAL DATA

: COMPARE
;:BR IF SAME

:OFFSET INPUT TO MATRIX MUX. SELECTED
:THE WRONG ADDRESS = EXPECTED ADR. WAS 60020

SEQ 0074




CZNCCB  NCV11
CZNCCB.P11
1627
(4)
(4)
(3) 022560
(2) 022562
(1) 022570
(1) 022576
(1) 022604
(1) 022612
(1) 022620
(2) 022626
(2) 022634
(1) 022642
(1) 022646
(1) 022654
(1) 022662
(1) 022670
(1) 022676
(3) 022704
(1) 022706
(1)
1628
(4)
(4)
(3) 022710
(2) 022712
(1) 022720
(1) 022726
(1) 022734
(1) 022742
(1) 022750
(2) 022756
(2) 022764
(1) 022772
(1) 022776
(1) 023004
(1) 023012
(1) 023020
(1) 023026
(3) 023034
(1) 023036

DIAGNOSTIC

000004
012737
012777
012777
012777
012777
052777
052777
042777
005037
052777
012737
012737
017737
023737
001401
104033

31-AUG=79 11:21
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T133 VERIFY A 1 WORD MATRIX MODE XFR USING OFFSET = 03

AR AR A AR AR AR AR A AR A A AR AT AR A A AR AR AR A AR A A AR AR AR R AR AW

S*TEST 133

VERIFY A 1 WORD MATRIX MODE XFR USING OFFSET = 03

e 2222222220202 Rttt Rl ddd )

TST133: SCOPE
MOV
MOV
MOV
MOV
MOV
BIS
BIS
BIC
CLR
BIS
MOV
MOV
MOV
CMP
BEQ
ERROR

#100,$TIMES ;:D0 100 ITERATIONS

#CLRALL ,aSFR ;CLEAR THE DEVICF
#60010,90F F ;LOAD THE OFFSET REG.
#TSTDMA!TSTCON,aSFR sSET TEST DMA AND CONTROL
#BIT4!BIT2,aCSR sSELECT MATRIX WORD MODE

#81T0.aCSR *ENABLE NCV11
#TESTZ,aSFR *ENABLE '‘TEST 2'* PULSES

#TESTZ.aSFR *DISABLE '‘TEST 2'* PULSES

a#60010 *CLEAR THE TARGET LOCATION
#BIT12,3SFR SALLOW 1 WORD TRANSFER

#60010, $BDADR *LOAD EXPECTED ADDRESS

#1,$GDDAT :LOAD EXPECTED DATA

a$BDADR , SBDDAT :READ THE ACTUAL DATA

$GDDAT , $8DDAT : COMPARE

TST134 ;:BR IF SAME

33 COFFSET INPUT TO MATRIX MUX. SELECTED

;THE WRONG ADDRESS = EXPECTED ADR. WAS 60010

C AR AR AR AR A AR AR A AN A AR AR AR AR A AR AR AR AR AR AR AR AR AR AR AR AR AR A AR AR

SxTEST 134

VERIFY A 1 WORD MATRIX MODE XFR USING OFFSET = 02

TR AA A AR RAARAA AR AAAAARARAAAARA A AR A AR AR AR A A AR AR A A AR AR Ak

TST134: SCOPE
MOV
MOV
MOV
MOV
MOV
BIS
BIS
BIC
CLR
BIS
MOV
MOV
MOV
CMP
BEQ
ERROR

#100,$TIMES ;:DO 100 ITERATIONS

#CLRALL ,aSFR ;CLEAR THE DEVICE

#40004 ,a0F F ;LOAD THE OFFSET REG.
#TSTDMA!TSTCON,aSFR ;SET TEST DMA AND CONTROL
#BIT4!BIT2,aCSR ;SELECT MATRIX WORD MODE

#81T0,aCSR ;ENABLE NCV11

#TESTZ ,aSFR ;ENABLE '‘TEST 2'' PULSES
#TESTZ,aSFR ;DISABLE '‘TEST 2'' PULSES
a#40004 ;CLEAR THE TARGET LOCATION
#BI712,aSFR ;ALLOW 1 WORD TRANSFER
#40004 , $BDADR ;LOAD EXPECTED ADDRESS
#1,SGDDAT ;LOAD EXPECTED DATA
@$8DADR, $BDDAT READ THE ACTUAL DATA
$GDDAT, $BDDAT . COMPARE

1ST135 ;:BR IF SAME

33 ;OFFSET INPUT TO MATRIX MUX. SELECTED

:THE WRONG ADDRESS = EXPECTED ADR. WAS 40004

SEQ 0075




CZNC(CB

NCVTT

CZNCCB.P11

1633
(3
(3)
(2)
(1)

023040
023042

023050
023056
023064
023072
023100
023106
023114
023122
023126
023132
023140
023142
023144
023146
023154
023162
023170
023176
023200
023204
023206

023210
023212
023220
023224

DIAGNOSTIC
31-AUG=79 11:21

000004
012737

012777
012777
012777
012777
052777
052777
042777
005037
005037
052777
000240
000240
000240
012737
012737
017737
023737
001413
005737
001002
104033

000406
013737
005037
104033

000010
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T135  VERIFY THE ADM INPUT TO THE MATRIX MUX. USING GAIN ENABLE
: .'"iiitii..'ttit.i.ti.'t.ittittiiit*ttiﬁ.iiﬁﬁti.tt*..Q*'Qi.l.i..
T*TEST 135 VERIFY THE ADM INPUT TO THE MATRIX MUX. USING GAIN ENABLE
.' ; 122322333333 2333 3233333333333 3 3323333333323 33333233333323323333323233213]
TST135: SCOPE
001160 MOV #10,$TIMES ::D0 10 ITERATIONS
:WITH GAIN SET IN TEST CONTROL MODE, THE SELF TEST DATA SHOULD BE BYTE 250
‘WHEN PROCESSED THRU THE ADDRESS MAKER LOGIC THE NEW VALUE 1S ''2552"°
*VERIFY THAT THE MATRIX MUX CAN ADD 62550 AND 2552 CORRECTLY
156700 MOV #CLRALL ,@SFR :CLEAR THE DEVICE
156664 MOV #BUF0+2550, 30FF “LOAD THE OFFSET REG.
156664 MOV #TSTDMA! TSTCON, aSFR *SET TEST DMA AND CONTROL
156646 MOV #2024 ,aCSR *ENABLE GAIN, WORD MATRIX MODE
156640 BIS #8IT0.aCSR :ENABLE THE NCV11
156642 BIS #TESTZ,3SFR :ENABLE "TEST Z'' PULSES
156634 BIC #TESTZ.aSFR *DISABLE ‘‘TEST 2'' PULSES
CLR aNBUF 045322 “CLEAR THE TARGET ADDRESS
CLR MBUF 0+2722 “CLEAR THE TARGET ADDRESS IF "TESTX'* FAILS
156616 933 #BIT12,3SFR TALLOW 1 TRANSFER
N
<
001122 MOV #BUF 045322, $8DADR :LOAD THE EXPECTED ADDRESS
001124 MOV #1.$GDDAT :LOAD THE EXPECTED DATA
001126 MOV aSBDADR , SBDDAT *READ THE ACTUAL DATA
001126 CMP $GDDAT, $8DDAT * COMPARE
BEQ TST136 ;:BR IF SAME
ST MBUF 042722 STEST OTHER ADDRESS
BNE 1% ‘BR IF NON-ZERO
ERROR 33 *MATRIX MODE ADDER ERROR
A %g?{gg GAIN AND WORD MATRIX MODE, THE ADDRESSES SELECTED WAS INCORRECT
001126 1%: MOV SNBUF 042722, SBDDAT :LOAD INCORRECT DATA
CLR $GDDAT *CLEAR THE EXPECTED DATA
ERROR 33 *MATRIX MODE ADDER ERROR DUE TO

;"'TESTX'® LOGIC SET IN ERROR

SEQ 0076




M 6
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CZNCCB.P1T 31-AUG=79 11

:21 T136  VERIFY THE ADM INPUT TO THE MATRIX MUX. ADDER USING 2B ENABLE SEQ 0077
1“I‘ ::ttﬁlt'ﬁttttttttttﬂtttt'tttt*ttttt.'tttt*'ttttttt!tt!ttttﬁttttt' :
(3) T*TEST 136 VERIFY THE ADM INPUT TO THE MATRIX MUX. ADDER USING ZB ENABLE
(3) ::ttttttttﬁtﬁttﬁttttﬁttttttttttttttﬁﬁtttttt'tttﬁttttt"iﬁttttt.ﬁﬁ
(2) 023226 000004 TST136: SCOPE
(1) 023230 012737 000010 001160 MOV #10,8TIMES -:DO 10 ITERATIONS
1665 :WITH ZB ENABLE SET IN TEST CONTROL MODE, THE SELF TEST DATA SHOULD BE BYTE 224
1666 *WHEN PROCESSED THRU THE ADDRESS MAKER LOGIC THE NEW VALUE IS 12450
1667 :VERIFY THAT THE MATRIX MUX CAN ADD CORRECTLY
1668 023236 012777 004000 156512 MOV #CLRALL ,@SFR :CLEAR THE DEVICE
1669 023244 012777 065224 156476 MOV #BUF 0+5224 , 30F F ‘LOAD THE OFFSET REGISTER
1670 023252 012777 000014 156476 MOV #TSTDMA!TSTCON,aSFR :SET TEST DMA AND CONTROL
1671 023260 012777 004024 156460 MOV #4024 ,aCSR ;ENABLE ZB AND g-pRD MATRIX MODE
1672 023266 052777 000002 156462 BIS #TESTZ,aSFR *ENABLE 'TEST Z'' PULSES
1673 023274 052777 000001 156444 BIS #8IT0,aCSR :ENABLE NCV11
1674 023302 042777 000001 156446 BIC #81T0.aSFR :DISABLE '‘TEST 2'* PULSES
1675 023310 005037 072450 CLR aBUF 0+12450 *CLEAR THE TARGET LOCATION
1676 023314 052777 010000 156434 BIS #BIT12,aSFR :ALLOW 1 TRANSFER
1677 023322 012737 072450 001122 MOV #BUF0+12450,$8DADR :LOAD THE EXPECTED ADDRESS
1678 023330 012737 000001 001124 MOV #1.$GDDAT *LOAD THE EXPECTED DATA
1679 023336 017737 155560 001126 MOV a$8DADR, $SBDDAT JREAD THE ACTUAL DATA
1680 023344 023737 001124 001126 CMP $GDDAT, $BDDAT * COMPARE
1681 023352 001401 BEQ TST137 ::BR IF SAME
1682 023354 104033 ERROR 33 ;ADM INPUT TO THE MATRIX MUX SELECTED
1683 *WRONG ADDRESS - EXPECTED ADDRESS WAS BUFO + 2450
168{. ::t'ttttttttﬁtttttti*tttttttttttitttttttttttt*ttttttittt*tttttttt
(3 :*TEST 137 VERIFY LOW BYTE OPERATION OF THE '‘TESTX'' FLOP
(3) ;:tttttttttttttttttttttttttttttttttl’tt*tttt"ﬁﬁttttttttttt'ttttttt
(2) 023356 000004 1ST137: SCOPE
(1) 023360 012737 000010 001160 MOV #10,$TIMES ::D0 10 ITERATIONS
1685 023366 012777 004000 156362 MOV #CLRALL , @SFR :CLEAR THE DEVICE
1686 023374 012777 060000 156346 MOV #BUF 0, a0F F *LOAD OFFSET REG.
1687 023402 012777 000014 156346 MOV #TSTDMA!TSTCON,aSFR :LOAD TEST DMA AND CONTROL
1688 023410 012777 002024 156330 MOV #2024 ,3CSR :SET "GAIN'' AND WORD MATRIX MODE
1689 023416 052777 000001 156322 BIS #BIT0.aCSR :SET NCV11 ACTIVE
1690 023424 052777 000002 156324 BIS #TESTZ,aSFR :ENABLE "TEST 7' PULSES
(1) 023432 042777 000002 156316 BIC #TESTZ.aSFR :DISABLE '‘TEST 2'* PULSES
1691 023440 052777 000020 156310 BiS #BIT4,3SFR *SET "TESTX" FLOP
1692 023446 005037 062552 CLR a#BUF 0+2552 *CLEAR THE TEST FAILED LOCATION
1693 023452 005037 060152 CLR aMBUF 0+0152 *CLEAR THE TESTX WORKED LOCATION
1694 023456 052777 010000 156272 BIS #MIT12,aSFR :ALLOW 1 TRANSFER
1695 023464 000240 NOP
1696 023466 000240 NOP
1697 023470 000240 NOP
1698 023472 012737 000001 001124 MOV #1,$GDDAT :LOAD EXPECTED DATA
1699 023500 013737 060152 001126 MOV a#BUF0+0152, SBDDAT *READ THE ACTUAL DATA
1700 023506 023737 001124 001126 CMP $GDDAT , $BDDAT :COMPARE DATA
1701 023514 001413 BEQ TST140 ;:BR IF SAME
1702 023516 005737 062552 ST SNBUF 042552 :TEST TESTX FAILED LOCATION
1703 023522 001002 BNE 1$ ::BR IF YES : .
1704 023524 104034 ERROR 34 :TESTX FAILED TO INHIBIT BITS 8-15 OF THE ‘‘SUM ADDER''
1705 023526 000406 BR TST140 i
1706 023530 013737 062552 001126 18%: MOV S¥BUF 042552, $BDDAT :GET ACTUAL DATA
1707 023536 005037 001124 CLR $GDDAT *CLEAR EXPECTED
1708 023542 104034 ERROR 34 :TESTX FAILED TO INHIBIT BITS 8=15 OF THE "'SuM A
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CINCCB.P1T  31-AUG=79 11:21 T140  VERIFY BIT 12 ADDER INPUT TO MATRIX MODE MUX SEQ 0078
1710 IR AR AR AR AR R RN AR AR AR AR RN RN AR RN AR AR AR AR RS
(3) TRTEST 140 VERIFY BIT 12 ADDER INPUT TO MATRIX MODE MUX
(3) ; ;ﬁttttttﬁtttﬁttttttttﬁttttﬁttQQtttttttﬁt'iﬁttﬁttttttﬁtttttttt.tt
(2) 023544 000004 7$T140: SCOPE
(1) 023546 012737 000100 001160 MOV #100,$TIMES ::DO 100 ITERATIONS
1711 023554 012777 004000 156174 MOV #CLRALL ,@SFR :CLEAR THE DEVICE
1712 023562 012777 050000 156160 MOV #50000, 30F F :LOAD THE OFFSET REG.
1713 023570 012777 000014 156160 MOV HTSTDMA' TSTCON,aSFR :SET TEST DMA AND CONTROL
1714 023576 012777 002030 156142 MOV #2030,3CSR *SELECT GAIN MATRIX BYTE MODE
1715 023604 052777 000001 156134 BIS #81T0,aCSR :ENABLE NCV11 _
1716 023612 052777 000002 156136 BIS #TESTZ,aSFR *ENABLE ‘‘TEST Z'' PULSES
(1) 023620 042777 000002 156130 BIC ATESTZ.aSFR *DISABLE '‘TEST 2'' PULSES
1717 023626 005037 062726 CLR aNBUF 042726 *CLEAR THE TARGET LOCATION
1718 023632 052777 010000 156116 BIS #B1T12,3SFR SALLOW 1 WORD TRANSFER
1719 023640 012737 062726 001122 MOV #BUF 0+2726 , SBDADR :LOAD EXPECTED ADDRESS
1720 023646 012737 000001 001124 MOV #1,$GDDAT :LOAD EXPECTED DATA
1721 023654 017737 155242 001126 MOV @$BDADR , $8DDAT *READ THE ACTUAL DATA
1722 023662 023737 001124 001126 c™P $GDDAT, $8DDAT * COMPARE
1723 023670 001401 BEQ TST141 ::BR IF SAME
1724 023672 104033 ERROR 33 *MATRIX ADDER FAILED TO SELECT CORRECT ADDRESS
1725 :THE WRONG ADDRESS - EXPECTED ADR. WAS BUF0+2726
1726 IR ARA R AR AR AR AR R AR RN AR RARANRANRRARRRARCARRA R AR
(3) S#TEST 141 VERIFY BIT 13 ADDER INPUT TO MATRIX MODE MUX
(3) .' : 1 3333333323323 3233 322323333333 2323333333 333313333333333333333233331
(2) 023674 000004 7ST141: SCOPE
(1) 023676 012737 000100 001160 MOV #100,$TIMES ::D0 100 ITERATIONS
1727 023704 012777 004000 156044 MOV #CLRALL ,@SFR :CLEAR THE DEVICE
1728 023712 012777 037774 156030 MOV #37774 . 30FF :LOAD THE OFFSET REG.
1729 023720 012777 000014 156030 MOV #TSTDMA' TSTCON,aSFR *SET TEST DMA AND CONTROL
1730 023726 012777 002032 156012 MOV #2032,aCSR *SELECT GAIN MATRIX BYTE MODE
1731 023734 052777 000001 156004 BIS #81T0.aCSR *ENABLE NCV11
1732 023742 052777 000002 156006 BIS #TESTZ,aSFR *ENABLE "‘TEST Z'' PULSES
(1) 023750 042777 000002 156000 BIC NTESTZ.@SFR *DISABLE 'TEST 2'' PULSES
1733 023756 005037 065522 CLR aMBUF 045522 “CLEAR THE TARGET LOCATION
173% 023762 052777 010000 155766 BIS #BI1T12,3SFR SALLOW 1 WORD TRANSFER
1735 023770 012737 065522 001122 MOV #BUF 0+5522, $8DADR *LOAD EXPECTED ADDRESS
1736 023776 012737 000001 001124 MOV #1.$GDDAT *LOAD EXPECTED DATA
1737 024004 017737 155112 001126 MOV a$BDADR , SBDDAT *READ THE ACTUAL DATA
1738 024012 023737 001124 001126 CMP $GDDAT , $8DDAT * COMPARE
1739 024020 001401 BEQ TST142 ::BR IF SAME
1740 024022 104033 ERROR 33 :MATRIX ADDER FAILED TO SELECT CORRECT ADDRESS
1741 :THE WRONG ADDRESS - EXPECTED ADR. WAS BUF(0+5522




CZNCCB

NCV11

CZNCCB.P1T

1743

024024
024026

024034
024042
024050

024162

DIAGNOSTIC
31-AUG=79 11: 21

000004
012737

012777
023727
103445
012777
012777
012777
052777
052777
042777
005037
052777
012737
012737
017737
023737
001401
104033
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T142 VERIFY BIT 14 ADDER INPUT TO MATRIX MODE MuUX SEQ 0079

e 2222233222322 2232202222223332322220332 222 2022 2Rt RRRd0Rd )

VERIFY BIT 14 ADDER INPUT TO MATRIX MODE MuUX

e 2122332332323 2223 2222322222023 2232223230223322233223222222222220R0dRR0223 0

TRTEST 142
T51142: SCOPE

001160 MOV
JOFFSET =
;ADM OUTPUT
:TARGET
155714 MOV
001340 CMP
BLO
155670 MOV
155670 MOV
155652 MOV
155644 BIS
155646 BIS
155640 BIC
CLR
155626 BIS
001122 MOV
001124 MOV
001126 MOV
001126 CMP
BEQ
ERROR

#100,$TIMES ::D0 100 ITERATIONS

50000

= 53656

= 123656

#CLRALL ,@5FR :CLEAR THE DEVICE

SLSTBK , #1340 JTEST IF ENOUGH MEMORY >20K
TST143 ;;BR IF NO ROOM

#50000,a0FF ;LOAD THE OFFSET REG.
#TSTDMA'!TSTCON,aSFR JSET TEST DMA AND CONTROL
#2034 ,aCSR ;SELECT GAIN MATRIX BYTE MODE
#170,aCSR ;ENABLE NCV11

#TESTZ,@SFR *ENABLE '‘TEST 2'* PULSES
#TESTZ,aSFR :DISABLE '‘TEST Z'' PULSES
aMBUF 0443656 JCLEAR THE TARGET LOCATION
#MIT12,aSFR ;ALLOW 1 WORD TRANSFER
#BUF0+43656,$8DADR ;LOAD EXPECTED ADDRESS
#1,8GDDAT :LOAD EXPECTED DATA
a$8DADR, $BDDAT ;READ THE ACTUAL DATA
$GDDAT ,$BDDAT : COMPARE

TST143 ::BR IF SAME

33

;MATRIX ADDER FAILED TO SELECT CORRECT ADDRESS

;THE WRONG ADDRESS - EXPECTED ADR. WAS BUF0+43656




CZNCCB

NCVIT

CZNCCB.P1T

1765
(3)
(3)
(2)
(1)

1766

1767

1768

1769

1770

1771

1772

1773
(1)

1774

1775

1776

1777

1778

1779

1780

1781

1782

1783

1784

1785

1786

1787

1788

1789

1750

1791

1792

1793

DIAGNOSTIC
31-AUG=79 11:21

000004
012737
012777
005077
005077
012777
012777
012777
052777
052777
042777
000240
000240
000240
112737
112737
052777
000240
000240
000240
012737
017737
023737
001401
104030

013737
012737
023737
001401
104030

022022
155420
001124

061264
177500
001124
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31-AUG=79 13:10 PAGE 57
CHECK FOR HIGH BYTE ‘'INC OVFL'' TO SET CELL OVERFLOW

e 2223223322322 22222222000220223 2202222322333 23222022R22 2220202222 )

“#TEST 143

e 2223333222222 222222222322232223232322223223232333232222220222222202 232 ]

T§T143: SCOPE

1%:

MOV
MOV
CLR
CLR
MOV
MOV
MOV
BIS
BIS
BIC
NOP
NOP
NOP
MOVB
MOVB
BIS
NOP
NOP
NOP
MOV
MOV
CMP
BEQ
ERROR

MOV
MOV
CMP
BEQ
ERROR

CHECK FOR HIGH BYTE "'INC OVFL'' TO SET CELL OVERFLOW

#10,$TIMES ;:D0 10 ITERATIONS

#CLRALL ,aSFR ;CLEAR THE DEVICE

aw(R ;CLEAR W.C.

aBAR ;CLEAR B.A.

#8UF 0, a0F F ;LOAD INITIAL OFFSET REGISTER

#BIT10'BIT4!BIT1,8CSR  :ENABLE MATRIX MODE BYTE AND SET GAIN
#TSTDMA! TSTCON,aSFR “SET TEST DMA AND CONTROL

#BIT0,aCSR ;ENABLE THE DEVICE

W#TESTZ,aSFR JENABLE '‘TEST Z2'' PULSES

W#TESTZ ,@SFR ;DISABLE '‘TEST Z'' PULSES
#100,BUF0+1264 ;LOAD LOW BYTE TO A_KNOWN VALUE
#377 ,BUF0+1265 ;SET HIGH BYTE TO 377

#BI1T12,aSFR ;ALLOW 1 TRANSFER

#8IT13!BIT10!BIT4!BIT1,8GDDAT  ;LCAD EXPECTED STATUS

aCSR,$BDDAT ;READ THE ACTUAL STATUS
$GDDAT , $BDDAT ; COMPARE

1% ;:BR IF SAME

30 sCELL OVERFLOW FAILED TO SET

JWHEN INCREMENTING THE HIGH BYTE

BUF 0+1264, $BDDAT ;READ THE BUFO LOCATION
#177500, SGDDAT ;LOAD EXPECTED VALUE
$GDDAT , $BDDAT . COMPARE VALUES

TST144 ;:BR IF SAME
30 :TARGET LOC. DATA WAS INCORRECT

SEQ 0080




D 7
CINCCB NCV11  DIAGNOSTIC MACY11 30G(1063) 31-AUG=79 13:10 PAGE 58

CINCCB.P1T  31-AUG=79 i1:21 T144  VERIFY EACH BIT OF THE LOWER 16 BIT Z COUNTER  (TESTER ONLY) SEQ 0081
1795 ::tltI‘tﬁtttﬁitttttﬁtw!t.ttttttt*ﬁttt!tttﬁttﬁﬁtt.ttt.tttﬁt'tttt.t.
(3) TRTEST 144 VERIFY EACH BIT OF THE LOWER 16 BIT Z COUNTER  (TESTER ONLY)
(3) '-.'ttttttttttittttttttttttttttttttitttt.tttttttttttttttttt.ttttttt
(2) 024370 000004 T8$T144: SCOPE
(1) 024372 012737 000400 001160 MOV #400,$TIMES ::D0 400 ITERATIONS
1796 024400 005737 050024 ST WFMODE :TEST IF TESTER MODE
1797 024404 001454 BEQ TST145 ::BR IF NOT
1798 024406 012737 000001 001124 MOV #1,$GDDAT :LOAD EXPECTED VALUE
};33 024414 012737 024422 001110 MOV #1$, SLPERR :LOAD LOOP ADDRESS
1801 024422 012777 004000 155326 18: MOV #CLRALL ,@SFR :CLEAR THE DEVICE
1802 024430 012777 000010 155320 MOV #TSTDMA . aSFR “SET TEST DMA FLOP
1803 024436 012777 000000 155306 MOV #0,aWCR *LOAD UPPER 16 BITS
1804 024444 013777 001124 155302 MOV $GDDAT, 3BAR :
1805 024452 005377 155276 DEC aBAR :LOAD INITIAL COUNTER VALUE
1806 024456 012777 000022 155262 MOV #BIT4!BIT1,aCSR “ENTER MATRIX MODE
1807 024464 052777 000001 155254 BIS #81T0.aCSR :ENABLE THE DEVICE
1808 024472 052777 000001 155226 BIS #81T0.aDACSR *GENERATE ''2'' PULSE
1809 024500 105777 155222 28: TSTB  aDACSR ‘WAIT FOR Z PULSE COMPLETION
1810 024504 100375 BPL 28
1811 024506 017737 155242 001126 MOV aBAR, SBDDAT :READ EXPECTED REGISTER VALUE
1812 024514 023737 001124 001126 CMP $GDDAT , SBDDAT - COMPARE
1813 024522 001402 BEQ 3s ::BR IF SAME
1814 024524 104010 ERROR 10 *LOWER 16 BITS OF THE Z COUNTER IN ERROR
1815 024526 000403 BR TST145 ¥
1816 024530 006337 001124 3$: ASL $GDDAT :CHANGE THE DATA BIT
1817 024534 001332 BNE 1% *BR AND TRY NEXT BIT
1818 ;;tttt*tttttttttﬁttttttttttt*ttttﬁﬁttﬁttﬁﬁtttt*ﬁtﬁ!ttttﬁtt'titttt
(3) T*TEST 145 VERIFY EACH BIT OF THE HIGHER 16 BIT Z COUNTER (TESTER ONLY)
(3) ":tittttttttttttttttittt'ttittttttitﬁtttttittittttttﬁ'ttttttttttt
(2) 024536 000004 TST145: SCOPE
(1) 024540 012737 000400 001160 MOV #400,$TIMES ::DO 400 ITERATIONS
1819 024546 005737 050024 TST WFMODE :TEST IF TESTER MODE
1820 024552 001454 BEQ TST146 :2BR IF NOT
1821 024554 012737 000001 001124 MOV #1.$GDDAT :LOAD EXPECTED VALUE
}ggg 024562 012737 024570 001110 MOV #1$ . SLPERR *LOAD LOOP ADDRESS
1824 024570 012777 004000 155160 1%: MOV #CLRALL ,@SFR :CLEAR THE DEVICE
1825 024576 012777 000010 155152 MOV #TSTDMA . aSFR *SET TEST DMA FLOP
1826 024604 013777 001124 155140 MOV $GDDAT , aWCR :
1827 024612 005377 155134 DEC WCR *LOAD INITIAL COUNTER VALUE
1828 024616 012777 177777 155130 MOV #-1,3BAR *LOAD LOWER 16 BITS
1829 024624 012777 000022 155114 MOV #8174'BIT1,aCSR *ENTER MATRIX MODE
1830 024632 052777 000001 155106 BIS #B1T0.aCSR :ENABLE THE DEVICE
1831 024640 052777 000001 155060 BIS #81T0.aDACSR *GENERATE *'2"' PULSE
1832 024646 105777 155054 2%: TSTB  aDACSR *WAIT FOR Z PULSE COMPLETION
1833 024652 100375 BPL 3
1834 024654 017737 155072 001126 MOV aWCR, SBDDAT :READ EXPECTED REGISTER VALUE
1835 024662 023737 001124 001126 CMP $GDDAT, SBDDAT - COMPARE
1836 024670 001402 BEQ 33 ::BR IF SAME
1837 024672 104011 ERROR 1 ;HIGHER 16 BITS OF THE Z COUNTER IN ERROR
1838 024674 000403 BR TST146 ¥
1839 024676 006337 001124 3%: ASL $GDDAT “CHANGE THE DATA BIT

1840 024702 001332 BNE 1% :BR AND TRY NEXT BIT




CZNCCB

NCV11

CZNC(B.P11

1842
(3)
(3)
(2)
(1)

1843

1844

1845

1846

1847

1848

1849

1850

1851

1852

1853

1854

1855

1856

1857

1858

1859

1860

1861

1862
(3)
(3)
(2)
1)

1863

1864

1865

1866

1867

1868

1869

1870

1871

1872

1873

1874

1875

1876

1877

1878

1879

1880

024704
024706
024714
024720
024722

024730
024736
024744
024752
024760
024766
024774
025002
025006
025010
025016
025024
025026

025030
025032
025040
025044
025046

025054
025062
025070
025076
025104
025112
025120
025126
025132
025134
025142
025150
025152

DIAGNOSTIC
31-AUG=79 11:21

012737
005737
001443
012737

012777
012777
012777
012777
012777
052777
052777
105777
100375
017737
023737
001401
104010

000400
050024

000001

004000
000010

154720

154740
001124

154574

154614
001124

MACY11 30G(1063)

001160

001124

5020
5012

001160

001124

154674
154666
154654
154650
154634
154626
154600

001126
001126

BT
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T146 VERIFY THAT CAMERA 01 CHANNEL IS OPERATIONAL (TESTER ONLY)

e 2233332322302 R 00 dddRiiRiRRRddRddd)

TRTEST 146

VERIFY THAT CAMERA 01 CHANNEL IS OPERATIONAL (TESTER ONLY)

2222332222220 0 R R R R dRdRddd ]

TST146: SCOPE
MOV
TST
BEQ
MOV

1%: MOV

2%: TSTB

#400,8TIMES ;:D0 400 ITERATIONS

WFMODE ;TEST IF TESTER MODE

TST147 ::BR IF NOT

#1,8GDDAT ;LOAD EXPECTED VALUE

#CLRALL ,a@SFR ;CLEAR THE DEVICE

#TSTDMA,aSFR :SET TEST DMA FLOP

#0,aWCR :LOAD UPPER 16 BITS

#0,aBAR ;LOAD LOWER 16 BITS
#MIT8'BIT4L!BIT1,aCSR JENTER MATRIX MODE ON CAMERA 01
#1T0,aCSR :ENABLE THE DEVICE
#81T0,aDACSR :GENERATE ‘7'' PULSE

ggACSR ;WAIT FOR Z PULSE COMPLETION
aBAR, $BDDAT :READ EXPECTED REGISTER VALUE
$GDDAT ,$8DDAT : COMPARE

TST147 ;:BR IF SAME

10 :LOWER 16 BITS OF THE Z COUNTER

;IN ERROR WHEN USING CAMERA 01

:;t"*..ﬁﬁ.ti'ﬂ't.it'.'tti'.t-t'..l'tlttﬁﬂ.'."'.‘i'i*..titﬁt.'.'

J*TEST 147

VERIFY THAT CAMERA 10 CHANNEL IS OPERATIONAL (TESTER GONLY)

W A2ttt iRttt ittt Rt RRR Rl

TST147: SCOPE
MOV
TST
BEQ
MOV

1%: MOV
MOV
MOV
MOV
MOV
BIS
BIS

2%: TSTB
BPL
MOV
CMP
BEQ
ERROR

#100,$TIMES ;:D0 100 ITERATIONS

WFMODE ;TEST IF TESTER MODE

TST150 ;sBR IF NOT

#1,$GDDAT ;LOAD EXPECTED VALUE

#CLRALL ,aSFR ;CLEAR THE DEVICE

#TSTDMA ,aSFR sSET TEST DMA FLOP

#0.aWwCR :LOAD UPPER 16 BITS

#0,aBAR ;LOAD LOWER 16 BITS
#BIT9!BIT4!BIT1,a(SR ;ENTER MATRIX MODE
#31T0,aCSR ;ENABLE THE DEVICE
#81T0,aDACSR ; GENERATE 'Z'' PULSE

ggACSR ;WAIT FOR Z PULSE COMPLETION
@BAR, $8DDAT ;READ EXPECTED REGISTER VALUE
$GDDAT , $BDDAT . COMPARE

TST150 ;:BR IF SAME

10 ;LOWER 16 BITS OF THE Z COUNTER

;IN ERROR WHEN USING CAMERA 10

SEQ 0082
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CINCIB.P11 31-AUG=79 11:21 T150  VERIFY THAT CAMERA 11 CHANNEL IS OPERAT]ONAL (TESTER ONLY) SEQ 0083
1882 ::Qttttttt.Qt!tttttt'tttttttl.tttttttttt't.'t.t.ttttttt'.'ttt.tt.
%) S*TEST 150 VERIFY THAT CAMERA 11 CHANNEL IS OPERATIONAL (TESTER ONLY)
(3) .':tQttﬁttt!Qt.ttt.t!l’ﬁ.ﬁ.QQQ'ttlQtt'QQQQQ*Q!Q.Qtil't'.tittﬁ't.Q'Q
(2) 025154 000004 TST150: SCOPE
(1) 025156 012737 000100 001160 MOV #100,$TIMES ;:DO 100 ITERATIONS
1883 025164 005737 050024 TST WFMODE :TEST IF TESTER MODE
1884 025170 001443 BEQ TST151 ::BR IF NOT
}ggz 025172 012737 000001 001124 MOV #1,8GDDAT :LOAD EXPECTED VALUE
1887 025200 012777 004000 154550 1%: MOV #CLRALL ,@SFR :CLEAR THE DEVICE
1888 025206 012777 000010 154542 MOV #TSTDMA, aSFR “SET TEST DMA FLOP
1889 025214 012777 000000 154530 MOV #0,awCR :LOAD UPPER 16 BITS
1890 025222 012777 000000 154524 MOV #0,3B8AR :LOAD LOWER 16 BITS
1891 025230 012777 001422 154510 MOV #BIT9'BIT8!BIT4!BITT,aCSR :ENTER MATRIX MODE
1892 025236 052777 000001 154502 BIS #8I1T0,aCSR ;ENABLE THE DEVICE
1893 025244 052777 000001 154454 BIS #81T0,aDACSR -GENERATE ''2'' PULSE
189% 025252 105777 154450 2%: TSTB  @DACSR :WAIT FOR 2 PULSE COMPLETION
1895 025256 100375 BPL 2
1896 025260 017737 154470 001126 MOV aBAR, $8DDAT :READ EXPECTED REGISTER VALUE
1897 025266 023737 001124 001126 CMP $GDDAT, $BDDAT : COMPARE
1898 025274 001407 BEQ TST151 ;:BR IF SAME
1899 025276 104010 ERROR 10 ;LOWER 16 BITS OF THE Z COUNTER

1900 :IN ERROR WHEN USING CAMERA 11
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38
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1937
1939

1945
1946

1951
1952
1953

025300
025302

025310
025316
025324

025332
025336
025342
025346
025350
025352
025354

025362
025370
025376
025404
025410
025416
025424
025432

025440
025444
025446
025454
025456
025460
025462
025464
025466
025474
025502
025504
025506
025512
025516
025520
025524
025530
025536
025544
025546
025550
025552
025560

DIAGNOSTIC
31-AUG=79 11:21

012777

012777
013777
012777
005077
012777
012777
052777
052777

013700
005001
032777
001014
005301
001372
005300
001370
017737
012737
104002
000470
012700
023700
001415
010037
011037
012737
023737
001417
104033
000446
013737
017737

000002

060000
020000
025332

060000
125252
003354

177770

004000
050030
177777
154344
000004

MACY11 30G(1063)

001160

050030
025664
001110

022446

154366
154352
154346

154340
154322
154324
154306

154272
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s DYNAMIC MATRIX MODE ADDRESS

':Q!Q.....Qttlt't.'ﬁﬁ'l"'lt.t.".'..'t"..'.Qttt'tQQ"!Q.'.'.."

S*TEST 151 DYNAMIC MATRIX MODE ADDRESS

e iiiisii il ittt Rttt Rl Rl d ]

T$T151: SCOPE
MOV #2,$TIMES ::DO 2 ITERATIONS
:CELL INCREMENT OF ‘A FLOATING LOCATION (60000,70000,64000,62000,61000)
SFILL THE MEMORY BUFFER WITH A KNOWN PATTERN (125252)
SCOLLECT DATA OF O AND INCREMENT A TARGET LOCATION
"VERIFY THAT NO OTHER ADDRESS IS CHANGED
SAFTER VERIFYING THE WHOLE BUFFER - UPDATE THE OFFSET REGISTER

AND INCREMENT ANOTHER LOCATION

MOV #8UFO,CURENT  :PRIME THE CURRENT TARGET LOC.
MOV #B1715,1008 *LOAD FORCE BIT
MOV #2$ , SLPERR *LOAD RETURN ADDRESS
:PRIME THE BUFFER WITH A 125252 PATTERN
2%: MOV #BUF 0 ,RO :LOAD POINTER TO BUFFER
MOV #125252.R1 :LOAD VALUE
MOV ADNOKT ,R2 *LOAD BUFFER END ADDRESS
38 MOV R1, (ROJ+ *LOAD BUFFER WITH DATA
CMP RO.R2 “TEST FOR END
BNE 58
MOV #-10,@CURENT  :PRIME THE TARGET LOCATION
MOV #CLRALL ,aSFR JINIT THE DEVICE
MOV CURENT , 30F F “LOAD OFFSET TO TARGET
MOV #-1,aWCR *PRIME THE HIGH 16 BIT Z COUNTER
CLR aBAR *CLEAR LOW 16 BIT COUNTER
MOV #TSTCON,@SFR  -ENABLE TEST CONNECTOR
MOV #24 ,3CSR *LOAD MATRIX WORD MODE
BIS #TESTZ.aSFR “SET TEST Z FLOP
BIS #B1T0,aCSR *ENABLE THE NCV11
?og g?UDLZ.RO :PRIME THE DELAY
L .
4%: BIT #RIT14!'BIT13,aCSR :TEST FOR CELL OR 7 OVERFLOW
BNE 5% ;:BR IF EITHER IS SET
DEC R1 :DELAY
BNE 4%
DEC RO ;:DELAY
BN[ 43
MOV aCSR, $BDDAT :READ BAD STATUS
MOV #B1T14BIT134224 . $GDDAT :LOAD EXPECTED STATUS
ERROR 2 *DYNAMIC MATRIX MODE STATUS ERROR
BR TST152 ¥
5% : MOV #BUF0,RO “GET BUFFER POINER
68 : CMP CURENT ,RO “TEST IF TARGET ADDRESS
BEQ 7$ ::BR IF YES
MOV RO, $BDADR *GET BAD ADDRESS FOR TYPE=-OUT
MOV (RO) , SBDDAT *GET BAD DATA
MOV #125252,$GDDAT :LOAD EXPECTED DATA
CMP $GDDAT,$BDDAT - COMPARE
BEQ 108 “:BR IF SAME
ggnon ?21152 “CHANGED AN INCORRECT TARGET LOCATION
7% MOV CURENT ,$8DADR  :LOAD EXPECTED ADDRESS
MOV SCURENT,$BDDAT :LOAD ACTUAL DATA

SEQ 0084




CZNCCB

CZNCCB.

1954
1955
1956
1957
1958
1959
1960
1961
1962
1963
1964

NCVTT
P11

025566
025574
025602

025612

025614
025620
025622
025630
025632
025636
025644
025646
025654
025662
025664

025666
025670

025676
025704
025712

025720
025724
025730
025734
025736
025740

025742
025750
025756
025764
025772
026000
026006

026014
026020
026022
026030
026032
026034
026036

026040
026042

DIAGNOSTIC
31-AUG=79 11:21

012737
023737
001400

005720
023700
001337

005737
001422
032777

000004
012737

012737
012737
012737

012700
012701
013702
010120

012777
012777
013777
012777
052777
052777
042777

013700
005001
032777
001014
005301

017737

003407
00112¢

003354

001202
004000

025664
000002

060000
025664

000002

060000
020000
025720

060000

125252
003354

153700

H 7
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01124
01126

rorv

0
0

153310
025664

050030
050030

001160

050030
026244
001110

001126

BR
1008 : BIT13

;:tt.tﬁttt'.tttt.ttttttttltttt'ttttﬁtt'ﬁttﬂtttﬂtt".t..t.ttttt..'

;*TEST 152 DYNAMIC LIST MODE ADDRESS

;"t'.'it..'t'.'tttttt'.tttt.tQ.lt*ﬁﬁt'tﬁt."'..t'tt.tt'tttt!".t

TST152: SCOPE

2%: MOV #BUF 0

DYNAMIC MATRIX MODE ADDRESS

MOV #3407 ,$GDDAT ;LOAD EXPECTED DATA
CMP $GDDAT ,$BDDAT ; COMPARE
BEQ 108 ::BR IF SAME

108 : ST (RO) + :BUMP THE POINTER INTO THE BUFFER
CMP ADNOK T, RO STEST IF FINISHED THE BUFFER
BNE 6% :BR AND RETEST THE REST OF THE BUFFER
ST $PASS resr IF FIRST PASS
BEQ TST152 ::BR IF YES
BIT #SW11,aSwR STEST INMIBIT INTER.
BNE 1ST152 2:BR IF SET
ASR 1008 :CHANGE THE FORCED ADDR. BIT
CMP #2.1008 :TEST IF_F INISHED
BEQ 157152 “:BR IF FINISHED
MOV #BUFO,CURENT  :MAKE UP NEW ADDRESS
BIS 1008, CURENT :

2%

MOV #2,STIMES ;.D0O 2 ITERATIONS

;FILL THE MEMORY BUFFER WITH A KNOWN PATTERN (125252)

;DO A 1 WORD TRANSFER TO A TAGET LOCATION

;VERIFY THAT NO OTHER LOCATION IN THE BUFFER IS CHANGED
;AFTER VERIFYING BUMP THE BUS ADDRESS AND DO SUB-TEST AGAIN

MOV #BUFO,CURENT  :PRIME THE CURRENT TARGET LOC.
MOV #1715,1008 :LOAD FORCE BIT
MOV #23%, SLPERR :LOAD RETURN ADDRESS

:PRIME THE BUFFER U]TH A 125252 PATTERN

:LOAD POINTER TO BUFFER

MOV #125252 R1 :LOAD VALUE

MOV ADNOKT ,R2 *LOAD BUFFER END ADDRESS

3%: MOV R1, (RO)+ ;LOAD BUFFER WITH DATA
CMP RO.R2 ;TEST FOR END
BNE 3%

MOV #CLRALL ,aSFR sINIT THE DEVICE

MOV #-1,3WCR ;PRIME THE WORD COUNT

MOV CURENT ,aBAR ;LOAD TARGET LOCATION POINTER
MOV #TSTCON,aSFR ;ENABLE MAINT. MODE

BIS #BIT0,aCSR ;ENABLE THE NCV11

BIS #TESTZ,aSFR ;ENABLE '‘TEST 2'' PULSES
BIC #TESTZ,aSFR ;DISABLE '‘TEST 2" PULSES

?Ox g?UDL?.RO ;PRIME THE DELAY
L
4%: BIT #MBIT14!B1T13,aCSR :TEST FOR CELL OR Z OVERFLOW
BNE 5% ;.BR IF EITHER IS SET
DEC R1 ;DELAY
BNE 4%
DEC RO ;DELAY
BNE 4%

MOV (SR, $BDDAT sREAD BAD STATUS

SEQ 0085
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NCV11

CZNCCB.P11

2005

S3SSSSSSS

SSSSS
AT

026166
026172

026174
026200
026202
026210
026212
026216
026224
026226
026234
026242
026244

DIAGNOSTIC
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012737
104036
000472
012700
023700
001415
010037
011037
012737
023737
001421
104021
000450
013737
017737
012737
023737
001402
104037
000431
005720
023700
001335

005737
001422
032777
001016
006237
022737
001410
012737
053737
000626
020000

060224

060000
050030

001122
001126
125252
001124

050030
021670
003407
001124

003354

001202
004000

026244
000002

060000
026244

MACY11 30G(1063)
1152

001124

001122
001126
001124
001126

152730

026244

050030
050030

5%:
6%:

7%:

10%:

100%:

31-AUG=79

I 7
13:10 PAGE 61-2

DYNAMIC LIST MODE ADDRESS
gBlT14!BIT13*224,SGDDAT ;LOAD EXPECTED STATUS

MOV
ERROR
BR
MOV
CMP
BEQ
MOV
MOV
MOV
CMP
BEQ
ERROR
BR
MOV
MOV
MOV
CMP
BEQ
ERROR
BR
TST
cme
BNE

TST
BEQ
BIT
BNE
ASR
CMP
BEQ

BIS
BR
BIT13

6

TST153
#8UF0,RO
CURENT RO
7$

RO, $8DADR
(RO) , SBDDAT

#125252,$GDDAT
$GDDAT, $BDDAT

108
21
TST153

CURENT ,$8DADR
@CURENT , $BDDAT

#3407 ,8GDDAT

$GDDAT, $BDDAT

108

37

TST153
(RO)+
ADNOKT ,RO
6%

$PASS

TST153
#5W17,aSWR
1ST153%

1008
#2,100%
157153
#8UF 0, CURENT
;gOS.CURENT

sDYNAMIC LIST MODE STATUS ERROR

;GET BUFFER POINER

JTEST IF TARGET ADDRESS

;:BR IF YES

;GET BAD ADDRESS FOR TYPE-OUT

;GET BAD DATA

;LOAD EXPECTED DATA

; COMPARE

;:BR IF SAME

;CHANGED AN INCORRECT TARGET LOCATION

;LOAD EXPECTED ADDRESS
:GET ACTUAL DATA

;LOAD EXPECTED DATA

: COMPARE

;:BR IF SAME

;LIST MODE DATA ERROR

‘BUMP THE POINTER INTO THE BUFFER
“TEST IF FINISHED THE BUFFER
‘BR AND RETEST THE REST OF THE BUFFER

sTEST IF FIRST PASS

;:BR IF FIRST PASS

;TEST INHIBIT INTER.

;:BR IF SET

; CHANGE THE FCRCE ADDRESS
;TEST IF END

:2BR IF FINISHED

;MAKE NEW ADDRESS

SEQ 0086
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NCVTT
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2041
(3)
(3)

026246
026250
026256
026262
026266
026270

026272
026276

026310
026312

026314
026322
026326
026334
026342
026350
026356
026362
026370
026372
026374
026376
026400

DIAGNOST
31-AUG-79

000004
012737
013700
162700
005400
006200

012703
012701
013702
010123
020302
001375

012777
010077
012777
012777
052777
052777
013700
032777
001014
005301
001372
005300
001370
017737
012737
104036
000423
012700
010037
011037
012737
023737
001402
104037
000404
005720
023700
001357

IC
11:21

000040
003354
060000

060000
125252
003354

153340
060200

060000
001122
001126
003407
001124

003354

MACY11 30G(1063)

001160

153434

153420
153414
153376
153400

153356

T153 DYNAMIC

¥ T
31-AUG=79 13:10 PAGE 62

LIST MODE TRANSFER = MAXIMUM BUFFER LENGTH IN LOWER 28k

3222222322222 20222222222 22232002 R 2R R 2Rt RRRRRdR )

'TEST 153

DYNAMIC LIST MODE TRANSFER - MAXIMUM BUFFER LENGTH IN LOWER 28k

':t'tﬁttttit*ﬁtﬁﬁt*ﬁ'ﬁtﬁQﬁtﬁttttﬁlﬁﬁﬁtt'ﬁtﬁitﬁﬁttQﬁtitti'ﬁﬁ.ttt'i

7ST153: SCOPE

MOV #40,$TIMES ::D0 40 ITERATIONS
MOV ADNOK T ,RO “GET LAST ADDRESS
SUB #BUF0,RO :DETERMINE THE WORD COUNT VALUE
NEG RO
ASR RO
:PRIME THE BUFFER uxrn A 125252 PATTERN
2%: MOV #8UF0 :LOAD POINTER TO BUFFER
MOV 4125252 R1 :LOAD VALUE
MOV ADNOKT ,R2 *LOAD BUFFER END ADDRESS
3$: MOV R1, (R3)+ “LOAD BUFFER WITH DATA
CMP R3,R2 STEST FOR END
BNE 3$
:NOW COLLET THE LIST MODE DATA
MOV #CLRALL,.@SFR  ;INIT THE DEVICE
MOV RO, aWCR :PRIME THE WORD CCUNT
MOV #BUF 0, aBAR *LOAD TARGET LOCATION POINTER
MOV ATSTCON,@SFR  -ENABLE MAINT. MODE
BIS #81T0,aCSR “ENABLE THE NCV11
BIS #TESTZ,aSFR :ENABLE MAINT. 7
MOV CPUDL2.RO :PRIME THE DELAY
4$: BIT #IT141BIT13, acsn :TEST FOR CELL OR Z OVERFLOW
BNE 5% :BR IF EITHER IS SET
DEC R :DELAY
BNE 48
DEC RO : DELAY
BNE 43
MOV aCSR, $BDDAT :READ BAD STATUS
MOV #81T14'BIT13+200,$GDDAT :LOAD EXPECTED STATUS
ggnon ¥2r154 :DYNAMIC LIST MODE STATUS ERROR = NO WORD COUNT OVERFLOW
5% : MOV #BUF0,RO :GET BUFFER POINER
6$: MOV RO, $BDADR :GET BAD ADDRESS FOR TYPE-OUT
MOV (RO) , $BDDAT :GET BAD DATA
MOV #3407, $GDDAT :LOAD EXPECTED DATA
CMP $GDDAT,$SBDDAT  : COMPARE
BEQ 108 ;:BR IF SAME
ERROR 37 ;LIST MODE DATA ERROR
B8R TST154 ;
108 : TST (RO)+ aunp THE POINTER INTO THE BUFFER
CMP ADNOK T ,RO STEST IF FINISHED THE BUFFER
BNE £$ *BR AND RETEST THE REST OF THE BUFFER

SEQ 0087
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CINCCB.P11T  31-AUG=79 11:21 T154 ONE MATRIX DATA TRANSFER TO EACH 4K EXTENDED MEMORY SEQ 0088
2083 ;."ttttl‘.titttttttttttlittitttttttt.ttt.iilttitttttttttttttttlttt
(3) T*TEST 154 ONE MATRIX DATA TRANSFER TO EACH 4K EXTENDED MEMORY
(3) ""'ttti'ttttttttttttttttttttitttttt.t.t'tttttttt.t.ttttitttt!Q.tt
(2) 026470 000004 TST154: SCOPE
(1) 026472 012737 000002 001160 MOV #2.$TIMES ::DO 2 ITERATIONS
2084 026500 005737 036122 ST $KT11 *TEST IF KT=11 INSTALLED
2085 026504 100127 BPL TST155 *:BR IF NONE
2086 :DO A BYTE MATRIX MODE TRANSFER TO A 1 BYTE LOCATION IN EACH 4K EXTENDED
2087 : MEMORY BANK
2088 026506 012737 000600 041742 MOV #600,0UT :LOAD INITIAL BANK VALUE
2089 026514 013737 041742 172346 1%: MOV OUT,a#KIPAR3  :LOAD KT-PAR REG #3 <BUFFER IS AT LOC 60000>
2090 026522 012700 060000 MOV #BUF0 RO *LOAD BUFFER POINTER
2091 026526 012710 125252 MOV #125252, (RO) *PRIME BAD TARGET LOC. IF EXT ADD FAILS
2092 026532 052737 001400 177572 BIS #1400, 3#SRO *ENABLE MAINT. MODE KT=11
2093 026540 012710 000370 MOV #370, (RO) *LOAD TARGET LOCATION DATA VALUE
209 026544 042737 001400 177572 BIC #1400, 3#SRO *DISABLE MAINT. MODE KT=-11
2095 026532 013701 041742 MOV oUT.R] *GET BANK VALUE
2096 026556 005002 CLR R2 ;CLEAR EXT. ADD. TEMPORARY
2099 026560 006301 ASL R1 *MOVE LEFT
(1) 026562 006301 ASL R1 *MOVE LEFT
(1) 026564 006301 ASL R1 ;MOVE LEFT
(1) 026566 006301 ASL R1 *MOVE LEFT
2100 026570 006301 ASL R1
2101 026572 006102 ROL R2 :SAVE EA BITS
2102 026574 006301 ASL R1
2103 026576 006102 ROL R2 :SAVE EA BITS
2104 026600 010237 041726 MOV R2 ,NARROW *SAVE EA BITS FOR TYPEOUT
2105 026604 010137 001122 MOV R1.$8DADR *SAVE ADDRESS BITS FOR TYPEOUT
5389 026610 060201 ADD R2.R1 *MAKE COMPLETE ADDRESS
2108 :NOW GET READY TO DO THE TRANSFER
2109 026612 072777 004000 153136 MOV #CLRALL ,aSFR ;INIT THE NCV11
2110 026620 010177 153124 MOV R1,a0FF *LOAD COMBINED BUFFER ADDRESS
2111 026624 012777 000022 153114 MOV #RIT4'BIT1,aCSR -ENABLE THE NCV11
2112 026632 012777 000014 153116 MOV #TSTDMA! TSTCON, aSFR :ENABLE MAINT NCV11 MODE
2113 026640 052777 000001 153100 BIS #BIT0,aCSR “ENABLE THE NCV11
2114 026646 052777 000002 153102 BIS #TESTZ,aSFR :ENABLE "‘TEST 2'' PULSES
(1) 026654 042777 000002 153074 BIC #TESTZ.@SFR :DISABLE 'TEST 2'* PULSES
2115 026662 012737 000371 001124 MOV #371,$GDDAT :LOAD EXPECTED DATA
2116 026670 052777 010000 153060 BIS #BITi2,aSFR *ENABLE 1 BYTE TRANSFER
2117 026676 052737 000001 177572 BIS #B1T0, ¥SRO :ENABLE KT=11
2118 026704 011037 001126 MOV (RO) , $BDDAT “GET ACTUAL DATA
2119 026710 042737 000001 177572 BIC #B1T0,a4SRO *DISABLE KT-11
2120 026716 023737 001124 001126 CMP $GDDAT,$BDDAT  :COMPARE DATA
2121 026724 001401 BEQ 2 T:BR IF SAME
2122 026726 104035 ERROR 35 *DATA TRANSFER ERROR TO EXTENDED MEMORY
2123 026730 005737 001202 2%: ST $PASS *TEST PASS COUNTER
2124 026734 001413 BEQ TST155 “:BR IF FIRST PASS
2125 026736 032777 004000 152174 BIT #SW11,aSWR “TEST IF INHIBIT INTER.
2126 026744 001007 BNE TST155 “:BR IF SET
2127 026746 062737 000200 041742 ADD #200, 0UT *UPDATE BANK VALUE
2128 026754 023737 036404 041742 CMP $LSTAK,0UT “TEST IF DONE

2129 026762 101254 BHI % ;BR IF NOT




E T
CINCCB NCV11  DIAGNO r*g MACY11 3??;;063) 31-AUG=79 13:10 PAGE 64

S
CZNCCB.P1T 31-AUG=79

:21 ONE LIST DATA TRANSFER TO EACH 4K EXTENDED MEMORY SEQ 0089
2131 ::t‘lttttt.ittttt'ﬁl’tﬁﬁt"ttﬁtQ'ﬁttttti"ﬁttt'.tt'tﬁt'tt'ﬁtt"tttQ
(3) L*TEST 155 ONE LIST DATA TRANSFER TO EACH 4K EXTENDED MEMORY
(3) ;.'ttttttttitt't.tttttittiiittttiittitttitttttttiitti.ttttttttttti
(2) 026764 000004 7§T155: SCOPE
(1) 026766 012737 001160 MOV #2,8TIMES ::D0 2 ITERATIONS
2132 026774 005737 036122 ST $KT11 “TEST IF KT=11 INSTALLED
2133 027000 100130 BPL TST156 *:BR IF NONE
213 :DO A 1 WORD MODE TRANSFER TO A 1 WORD BUFFER IN EACH 4K EXTENDED MEMORY BANK
2135 027002 012737 000600 041742 MOV #600,0UT :LOAD INITIAL BANK VALUE <60000>
2136 027010 013737 041742 172346 1%: MOV OUT ,a#KIPAR3 :LOAD KT=PAR REG #3 <BUFFER IS AT LOC 60000>
2137 027016 012700 MOV #8UF0 RO :LOAD BUFFER POINTER
2138 027022 012710 052525 MOV #52525, (RO) *LOAD BAD TARGET LOC. IF EXT ADD FAILS
2139 027026 052737 001400 177572 BIS #1400, 34SR0 *ENABLE MAINT. MODE KT=11
2140 027034 012710 125252 MOV #125252, (RO) *PRESET THE TARGET LOCATION
21641 027040 042737 001400 177572 BIC #1400, a#SRO *DISABLE MAINT. MODE KT=-11
2162 027046 013701 041742 MOV OUT,R1 :GET BANK VALUE
2143 027052 005002 CLR R2 :CLEAR EXT. ADD TEMPORARY
2146 027054 006301 ASL R1
(1) 027056 006301 ASL R1
(1) 027060 006301 ASL R1
(1) 027062 006301 ASL R1
2147 027064 006301 ASL R1
2148 027066 006102 ROL R2 :SAVE EXT. ADDRESS BITS
2149 027070 006307 ASL R1
%}g? 027072 006102 ROL R2 ;SAVE EXT. ADDRESS BITS
2152 ;NOW GET READY TO DO THE TRANSFER
2153 027074 012777 004000 152654 MOV #CLRALL ,aSFR ;INIT THE NCV11
2154 027102 010277 152642 MOV R2 ,a0FF ;LOAD THE EXTENDED ADDRESS BITS
2155 027106 012777 177777 152636 MOV #-1,3WCR :LOAD WORD COUNT
2156 027114 010177 152634 MOV R1,3BAR :LOAD BUS ADDRESS
2157 027120 012777 000014 152630 MOV #TSTDMA'!TSTCON,aSFR :ENABLE MAINT NCV11 MODE
2158 027126 052777 000001 152612 BIS #B1T0,aCSR :ENABLE THE NCV11 3 |
2159 027134 052777 000002 152614 BIS #TESTZ,3SFR ;ENABLE “‘TEST Z'' PULSES
(1) 027142 042777 000002 152606 BIC #TESTZ,aSFR :DISABLE "‘TEST Z'' PULSES
2160 027150 010137 001122 MOV R1,$BDADR :SAVE TARGET ADDRESS
2161 027154 010237 041726 MOV R2 .NARROW *SAVE EA BITS FOR ERROR TYPEOUT
2162 027160 052777 010000 152570 BIS #81T12,aSFR *ENABLE 1 BYTE TRANSFER
2163 027166 012737 003407 001124 MOV #3407 .$GDDAT  :LOAD EXPECTED DATA
2164 027174 052737 000001 177572 BIS #B1T0. a#SRO :ENABLE KT=11
2165 027202 011037 001126 MOV (RO) , $BDDAT :GET ACTUAL DATA
2166 027206 042737 1 177572 BIC #8170, a#SR0 *DISABLE KT=11
2167 027214 023737 001124 001126 CMP $GDDAT ,$BDDAT :COMPARE DATA
2168 027222 001401 BEQ 2% 1:BR IF SAME
2169 027224 104035 ERROR 35 :LIST MODE DATA TRANSFER ERROR TO EXTENDED MEMORY
2170 027226 005737 001202 28: ST $PASS *TEST PASS COUNTER
2171 027232 001413 BEQ TST156 ;:BR IF FIRST PASS
2172 027234 032777 004000 151676 BIT #5w11,aSWR *TEST INHIBIT INTER.
2173 027242 001007 BNE TST156 ::BR IF SET
2174 027244 062737 000200 041742 ADD #200,00T :UPDATE BANK VALUE
2175 027252 023737 036404 061742 CMP $LSTRK, OUT *TEST IF DONE
2176 027260 101253 BHI 1$ ‘BR IF NOT
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T156 VERIFY BIT 15 MATRIX ADDER INPUT

e 2322333223222 2222232222223 2223222232233 320 22223 222220020222 ]

VERIFY BIT 15 MATRIX ADDER INPUT

e i iiiii3222 2220230223022 38333 3202323 23d0R 00222000200 0d200R23020)

S*TEST 156
T$T156: SCOPE

MOV #100,$TIMES ::DO 100 ITERATIONS
:ADM OUTPUT = 127657
‘OFFSET = 140000
STARGET = 267657
CMP SLSTBK #3140  :TEST IF >52K IS AVAILABLE
BLO TST157 *;BR IF NO MORE MEMORY
MOV #2676, 4KIPAR3  :LOAD KT-PAR REG #3 <BUFFER IS AT LOC 60000>
MOV #BUF 0+56 , RO :LOAD BUFFER POINTER
MOV #125252,(RO)  :LOAD BAD TARGET LOC. IF EXT ADD FAILS
BIS #1400, 3#SRO *ENABLE MAINT. MODE KT-11
CLR (RO) *LOAD TARGET LOCATION DATA VALUE
BIC #1400, 3#SR0O *DISABLE MAINT. MODE KT-11
:NOW GET READY TO DO THE TRANSFER
MOV #CLRALL,@SFR  :INIT THE NCV11
MOV #140000.90FF  :LOAD COMBINED BUFFER ADDRESS
MOV #2036 ,aCSR *ENABLE THE NCV11
MOV #TSTDMA' TSTCON,aSFR :ENABLE MAINT NCV11 MODE
BIS #81T70,aCSR :ENABLE THE NCV11
BIS #TESTZ.3SFR ;ENABLE "‘TEST Z'' PULSES
Eég #TESTZ.aSFR *DISABLE 'TEST 2'* PULSES
NOP
Béﬁ #BIT12,9SFR :ENABLE 1 BYTE TRANSFER
N
NOP
NOP
MOV #1 .NARROW :SAVE EA BITS FOR ERROR TYPEOUT
MOV #400, SGDDAT :LOAD EXPECTED DATA
BIS #8170, a#SRO *ENABLE KT=11
MOV (RO) , $BDDAT *SAVE ACTUAL DATA
BIC #8170, a4SRO *DISABLE KT=11
CMP $GDDAT,$BDDAT  -COMPARE DATA
BEQ 1ST157 “:BR IF SAME
ERROR 20 “BIT 15 INPUT TO MATRIX MODE ADDER FAILED

SEQ 0090
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157 VERIFY HIGH BYTE OPERATION OF THE ''TEST X'’

e 2 i 222332230ttt d ittt ittt dRtiRtitilddl )

:=TEST 157 VERIFY HIGH BYTE OPERATION OF THE '‘TEST X'’
::tttttttttttttttitttttttitttﬁttttttttlitttttttttt'ttQtttﬁitt'ttt
TST157: SCOPE
MOV #40,8TIMES ::D0 40 ITERATIONS
JTEST X = 1
:OFFSET =100000
;ADM OUTPUT =127657
;TARGET =100257

MOV #CLRALL ,aSFR ;CLEAR THE DEVICE

CMP $LSTBK, #1140 ;TEST IF LEAST 20K

BLO TST160 ;.BR IF NOT

MOV #100000, AOF F ;SET BIT 15 OF OFFSET

MOV #TSTDMA!TSTCON!BIT4 ,aSFR

MOV #2036,aCSR ;ENABLE THE NCV11

BIS #BIT0,aCSR ;ENABLE THE NCV11

BIS #TESTZ,aSFR ;ENABLE '‘TEST 2'' PULSES

BIC #TESTZ ,aSFR ;DISABLE '‘TEST Z'' PULSES

CLR aABUF 0+20256 ;CLEAR THE TARGET LOC.

BIS #B1T12,aSFR ;ALLOW 1 DMA TRANSFER

MOV #BUF 0+20256 , SBDADR :LOAD EXPECTED ADDRESSES VALUE

MOV #400,SGDDAT ;LOAD EXPECTED VALUE READ

MOV a$8DADR,$BDDAT ;READ ACTUAL DATA

CMP $GDDAT ,$BDDAT  ; COMPARE

BEQ TST160 ;:BR IF SAME

ERROR 34 ;MATRIX ADDER INPUT OF ADM15 AND TESTX L
;FAILED TO BE INHIBITED

;SET TEST DMA, CONTROL AND TESTX

SEQ 0091
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2236

(3)

(3)

(2) 027636

(1) 027640
2237
2238
2239
2240
2241 027654
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000004
012737 000100

023727
103500
012737
012700
012710
052737
005010
042737

027712
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027726
027734
027742
027750
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005140
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177572
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041726
001124
177572
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7160 VERIFY BIT 16 INPUT TO THE MATRIX MODE ADDER

e 22t 2d2 i Rt ddtR R i 2R it RdddddRRRRR2d0dRRdR )

;*TEST 160 VERIFY BIT 16 INPUT TO THE MATRIX MODE ADDER

e 3233223022220 2000200 00020022 R 2002000 R RdR2RRR 2] )

TST160: SCOPE
MOV #100,$TIMES ::D0 100 ITERATIONS
253527

;ADM QUTPUT =
;OFFSET = 210000
: TARGET - 463527

CMP $LSTBK, #5140
BLO TST161

MOV #4635, a#K IPAR3
MOV #BUF 0+26 ,RO
MOV #125252, (RQ)
BIS #1400,a#SR0

sTEST IF ENOUGH MEMORY >84K

;:BR IF NOT

;LOAD KT-PAR REG #3 <BUFFER IS AT LOC 60000>
;LOAD BUFFER POINTER

;LOAD BAD TARGET LOC.

;ENABLE MAINT. MODE KT-11

CLR (RO) :PRESET THE TARGET LOCATION

BIC #1400,a#SR0O :DISABLE MAINT. MODE KT=11

;NOW GET READY TO DO THE TRANSFER
MOV #CLRALL ,aSFR sINIT THE NCV11
MOV #10001 ,a0FF :LOAD THE EXTENDED ADDRESS BITS
MOV #TSTDMA!TSTCON,aSFR ;ENABLE MAINT NCV11 MODE
MOV #4036,aCSR ;LOAD MATRIX MODE AND ZB ENABLE
BIS #81T0,aCSR ;ENABLE THE NCV11
BIS #TESTZ,aSFR ;ENABLE '‘TEST 2'' PULSES
BIC #TESTZ ,aSFR ;DISABLE '‘TEST 2'' PULSES

BIS #B1T12,aSFR JENABLE 1 BYTE TRANSFER

MOV #2 ,NARROW
MOV #400,$GDDAT

;SAVE EA BITS FOR ERROR TYPEOUT
;LOAD EXPECTED DATA

BIS #8170, a4SRO *ENABLE KT=11

MOVB  (RO),S$BDDAT *SAVE ACTUAL DATA
BIC #8170, 3#SRO *DISABLE KT=11
CLRB  $BDDAT *MASK OFF LOW BYTE
CMP $GDDAT,$BDDAT - COMPARE DATA

BEQ TST161 *:BR IF SAME

ERROR 20 “BIT 16 INPUT TO MATRIX MODE ADDER FAILED

SFQ 0092
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2273
(3)
(3)
(2) 030056
(1) 030060
2274 030066
2275 030072
2276 030074
2277
1
(2)
1
(1
(1
(N
(1
(1
(1) 030100
(1) 030100
(1) 030102
(1) 030106
(1) 030112
(1) 030116
(1) 030124
(1) 030126
(1) 030130
(1) 030132
(1) 030134
(1) 030136
(1) 030140
(2) 030144
(2) 030150
(1) 030152
(1) 030156
(1) 030162
(1) 030164
(1) 030166
(1) 030170
(1) 030172
(1) 030174
(1) 030176
(1) 030176
(1) 030200
(1) 030202
(1) 030205
(1) 030212
(1) 030220
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000004
012737
005737
001402
000137

000004
005037
005037
005237
042737
005327

003022
012737

030126
104401
013746
104405
104401
013700
001405

004710
000240
000240
000240

000137

377
015
050040
000043

000001
050022

043546

001102
001160
001202
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030205
001202

030202
000042

377
042412
051501
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DETERMINE IF DIFLIN IS TO BE RUN (F)

:;tQtQ't!tﬂﬁ*iﬁﬁl.QQ.Qﬁ'QQﬁ'tﬁﬁﬁﬁﬁ'.tﬁt'ﬁ*iﬁitﬁﬁttQtt'tQQQ!QQ.ttﬁ

J*TEST 161

A 2222220223222 000 R R 2R R R R R R R R R R Rl ] ]

SCOPE
MOV
TST
BEQ
JMP

DETERMINE IF DIFLIN IS TO BE RUN (F)

#1,8TIMES ;.00 1 ITERATION

RUNDIF STEST IF DIFLIN IS TO BE RUN
$EOP ;:BR IF NOT TO BE RUN

DIFLIN +JUMP AND RUN DIFLIN

.SBTTL END OF PASS ROUTINE

L L T T T T
;*INCREMENT THE PASS NUMBER (SPASS)

;*INDICATE END-OF-PROGRAM AFTER 1 PASSES THRU THE PROGRAM

;*TYPE "END PASS #XXXXX'' (WHERE XXXXX IS A DECIMAL NUMBER)

;*]F THERES A MONITOR GO TO IT

;*IF THERE ISN'T

$EOP:

001202

$EOPCT: .

$ENDCT:

$GET42:

$ENDAD :

$DOAGN:

$RTNAD :
000 S$ENULL:
042116 SENDMG:

020123

SCOPE
CLR
CLR

JUMP TO LOGIC
$TSTNM ;2ZERO THE TEST NUMBER
$TIMES "ZERO THE NUMBER OF ITERATIONS
$PASS INCREI'ENT THE PASS NUMBER
#100000, $PASS ..Dm T ALLOW A NEG. NUMBER
%PC)* ;. LOOP?
$DOAGN 2:YES
%PC)*.G(PC)+ ;sRESTORE COUNTER
. SENDMG ;:TYPE "END PASS #''
$PASS ,~(SP) ::SAVE SPASE FOR TYPEOUT
;.60 TYPE--DECIMAL ASCII WITH SIGN
. SENULL ;sTYPE A NULL CHARACTER
a#42 RO ;2GET MONITOR ADDRESS
$DOAGN :JBRANCH IF NO MONITOR
;;CLEAR THE WORLD
PC, (RO) 2260 TO MONITOR
; :SAVE ROOM
::FOR
JACTN
a(PC)+ ; sRETURN
LOGIC

-1,- :NULL CHARACTER STRING
<15><12>/E~D PASS” #/

SEQ 0093
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CINCCB.P11 31-AUG-79 21 ERROR ASCII MESSAGES SEQ 0094
Sggg .SBTTL ERROR ASCII MESSAGES
2281 030222 034115 031060 004466 EM1: LASCIZ /M8026 NCV11 BUS ADDRESS TIMEOUT/
030230 041516 030526 020061
030236 052502 020123 042101
030244 0511064 051505 020123
030252 044524 042515 052517
030260 000124

2282 030262 034115 031060 004466 EM2: LASCIZ /M8026 C(OMMAND-STATUS REGISTER ERROR/
030270 047503 046515 047101
030276 026504 052123 052101
030304 051525 051040 043505
030312 051511 042524 020122
030320 051105 047522 000122
2283 030326 034115 031060 004466 EM3: LASCIZ /M8026 SPECIAL FUNCTION REGISTER ERROR/
030334 050123 041505 040511
030342 020114 052506 041516
030350 044524 047117 051040
030356 043505 051511 042524
030364 020122 051105 047522

2284 030374 034115 031060 004466 EMS: .ASCIZ /MB026 WORD COUNT REGISTER ERROR/
030402 047527 042122 041440
030410 052517 052116 051040
030416 043505 051511 042524
030426 020122 051105 047522

2285 030434 034115 031060 004466 EMS: .ASCIZ /MB026 BUS ADDRESS REGISTER ERROR/
030442 052502 020123 042101
030450 051104 051505 020123
030456 042522 044507 052123

030464 051105 042440 051122
030472 051117 000
2286 030475 115 030070 033062 EM6: LASCIZ /M8026 OFFSET REGISTER ERROR/
030502 76411 043106 042523
030510 020124 042522 044507

030516 052123 051105 042440

000

2287 030531 115 030070 033062 EM7: .ASCIZ /MB026 DUAL REGISTER SELECTION ERROR/
030536 042011 040525 020114
030544 042522 044507 052123
030552 051105 051440 046105
030560 041505 044524 047117
030566 042888 051122 051117

2288 030575 115 030070 033062 EM10:  .ASCIZ /MB026-M8036 LOW 16 BIT Z COUNT ERROR/
030602 046455 030070 033063
030610 046011 053517 030440
030616 020066 044502 020124
030624 020132 047503 047125
030632 020124 051105 047522

2289 030642 034115 031060 026466 EM11:  _ASCIZ /MB026-M8036 HIGH 16 BIT Z COUNT ERROR/
030650 034115 031460 004466
030656 044510 044107 030440
030664 020066 044502 020124
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2290

2291

2292

2293

2294

2295

2296
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2298

030672
030700
030706
030710
030716
030724
030732
030740
030743
030750
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047503
051105

031060
047503
052123
042440

000
030070
041440
044440
052522
051122

030070
054517
020113
051525
051117
030070
054517
020113
042440

000
030070
052101
051103
020124
000122

042513
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= \unuiuniun -
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047125
047522

000
033063
052123
040504
051122

033063
020101
046505
051105

004466
042040
042515
051122

033062
033063
044522
042504
042522
045501
052101
047522

004466
046440
042101
020123
020122
042440

000
033062
020124
052040
042506
020123
051505

31-AUG=79

ERROR ASCII MESSAGES

EM12:

EM13:

EM14:

EM15:

EM16:

EM17:

EM20:

EM21:

EM2?2:

LASCIZ

LASCIZ

LASCIZ

LASCIZ

LASCIZ

LASCIZ

LASCIZ

LASCIZ

LASCIZ

/M8026

/M8026

/M8036

/M8036

/M8036

/MB036

E 8
13:10 PAGE 69-1

Z COUNT STATUS ERROR/

Z COUNT INTERRUPT ERROR/

JOYSTICK STATUS ERROR/

JOYSTICK DATA ERROR/

DATA INCREMENT ERROR/

DATA DECREMENT ERROR/

/M8026-M8036  MATRIX MODE ADDRESS MAKER DATA ERROR/

/MB026

/M8026

LIST MODE ADDRESS MAKER DATA ERROR/

LIST MODE TRANSFER BUS ADDRESS ERROR/

SEQ 0095




CZNCCB

CZNCCB.

2299

2300

2301

2302

2303

2304

2305

2306

2307

NCVTT
P11

031352
031360
031362
031370
031376
031404
031412
031420
031426
031434
031442
031450
031456
031464
031472
031500
031502
031510
031516
031524
031532
031535
031542
031550
031556
031564
031572
031573
031600
031606
031614
031622
031630
031636
031642
031650
031656
031664
031672
031700
031702
031710
031716
031724
031732
031740
031743
031750
031756
031764
031772

032022

DIAGNOSTIC
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020123
000122
034115
044514
042117
047101
053440
047503
051105
034115
044514
042117
047101
047440

115
0406411
020130

051105

031060
052123
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051122

030070
052105
047105
020122
021105
020101
000122
031060
046114
042522
042040
051105

031060
046114
043122
052123
042440

000
030070
046105
051105
044440
052522
051122

030070
052101
047515

MACY11 30G(1063)

047522

004466
046440
051124
051105
020104

052101
051122

033062
047505
052116
052120
051117

033062
021040
021124
052042
042040
051105

004466
044440
042515
052101
047522

004466
047440
047514
052101
051122

033062

051117

033062
044522
042504

31-AUG=79

ERROR ASCII MESSAGES

EM23:

EM24:

EM25:

EM26:

EM27:

EM30:

EM31:

EM32:

EM33:

LASCIZ

LASCIZ

LASCIZ

LASCIZ

LASCIZ

LASCIZ

LASCIZ

LASCIZ

LASCIZ

/MB026

/M8026

/MB026

/M8026

/M8026

/M8C26

/MB0Z6

/M8026

/MB026

£

F 8
13:10 PAGE 69-2

LIST MODE THANSFER WORD COUNT ERROR/

LIST MODE TRANSFER OFFSET ERROR/

TIMEOUT STATUS ERROR/

TIMEOUT INTERRUPT ERROR/

SET "EVENT'" OR "'TIME'' DATA ERROR/

CELL INCREMENT DATA ERROR/

CELL OVERFLOW STATUS ERROR/

CELL OVERFLOW INTERRUPT ERROR/

MATRIX MODE ADDRESS MuUX ERROR/

SEQ 0096
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CZNCCB.

2308

2309

2310

23N

2312

2313

2314
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NCV11
P11

032030

DIAGNOST
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040440
051523
042440
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040504
051122

046525
034115
033515
042442
020042
044524
040515
051122

034467
047514
051525
042522
046511

000
031070
041516
052103
051105
046040

000

051122
042104
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020124
052040
042506
052101
051122

033062
020124
052040
042506
040524
051117

042520
031060
032477
042526
051117
042515
045522
051117

031065
045503
040440
051523
047505

033461
051117
044440
052522
053105

041520
000122

EM34:

EM3S:

EM36:

EM37:

EM4O:

EM4T :

EM42:

DH1:

G 8
31-AUG=79 13:10 PAGE 69=3
ERROR ASCI] MESSAGES

LASCIZ

LASCIZ

LASCIZ

LASCIZ

LASCIZ

LASCIZ

LASCIZ

LASCIZ

/M8026 "'TESTX'" FUNCTION ERROR/

/M8026 DATA ERROR WHEN TRANSFERING TO EXTENDED MEMORY/

/M8026 LIST MODE TRANSFER STATUS ERROR/

/M8026 LIST MODE TRANSFER DATA ERROR/

/ JUMPER-MB026-M7952 "EVENT'® OR "TIME'® MARK ERROR/

/M7952 C(LOCK BUS ADDRESS TIMEOUT/

/M8217 INCORRECT INTERRUPT LEVEL/

/ERRP(C  ADDR/

SEQ 0097




CINCCB

CINCCB.

2317

2318

2319

2320
2321

2322

2323
2324
2325
2326
2327
2328

2329
2330

NCV1T
P11

032502

032721

032724
03275

032740
032744
032752
032760
032766
032774
032776
033004

DIAGNOSTIC
31-AUG=79 11:21
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ERROR ASCII MESSAGES

004503
043411
040502

004503
043411
040502
040504

041520
004522
041011
020101
040502

DH2:

DH3:

DH4 :

OUTRNG:

OUTCHN:

DT1:
DT2:
DT3:

DT4:

DTS:

LASCIZ

.ASCIZ

.BYTE
LASCII

LASCII

.BYTE
.EVEN
.WORD
. WORD
. WORD

.WORD
.WORD

.ASCIZ /ERRP(C ADDR GOOD BAD/

/ERRPC  ADDR GOOD BAD BADADR/

/ERRPC  ADDR GOOD BAD EA ADR BADADR/
13,7

/NO "2'' PULSES OR /

/INPUT VOLTAGE OUT OF RANGE ON CHANNEL #/
60,15,12,7.0

$ERRP(C, $BASE, 0

$ERRP( , $BASE ,$GDDAT , $8DDAT , 0

$ERRP( ,$BASE , $GDDAT , $BDDAT , $BDADR, 0
$ERRP(, $BASE ,$GDDAT ,$BDDAT ,NARROW, $BDADR, 0

3ERRPC.SCDU1.0

SEQ 0098




CZNCCB  NCVTT
CZNC(B.P11

2335
(1)

(2)
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033106
033112

033116
033122
033124
033130
033134

033136
033142
033144
033150
033152
033160
033164
033170
033176
033200
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033214

DIAGNOSTIC
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022737
001074
105777
100071
117746
042716

117746
042716

021627
001005
104401
062706
000757

021627
001022
005766
001403
016677
062706
104401

021627

000176
146122
146116
177600
000007
001134
033533
033540
000176

033551
146040

146034
177600

000025

033526
000006

000015
000004
000002
000006
001171
001135
000100

034606
000060

MACY'1 30G(1063)

001140

000001

145760

000001
145736

31-AUG=79

TTY INPUT ROUTINE

.SBTTL

TTY INPUT ROUTINE

I 8
13:10 PAGE 70

e i 2222222222222 22222022222 2220222 220222 RRRRRRRR Rt

JENABL LSB

e i iiis2 3222222222222t 22222 2222 R 2R 2Rl R

;*SOF TWARE SWITCH REGISTER CHANGE ROUTINE.

;*ROUTINE IS ENTERED FROM THE TRAP HANDLER, AND WILL

;*SERVICE THE TEST FOR CHANGE IN SOFTWARE SWITCH REGISTER TRAP (ALL
; *WHEN OPERATING IN TTY FLAG MODE.

$CKSWR: CMP

$GTSWR: TYPE

19%: CLR
7%: TSTR

9%: CMP

20%: ADD

10%: CMP

BEQ

11%: ADD
14%: TYPE
(MPB
BNE
MOV
15%: RTI
16%: JSK
CMP

#SWREG, SWR
158

as$TKS

15%
as$TKB,~(SP)
#*C177.(SP)
#7.(SP)+
158
SAUTOB, 41
158

SCNTLG
. SMSWR
SWREG,~-(SP)

. SMNEW
=(SP)
-(SP)
a$TKS
7%

a$TKB,~(SP)
#°C177.(SP)

(SP) 425
108
SCNTLU
#6,SP
19%

#100,38TKS

PC,STYPEC
(SP) ,#60

;:1S THE SOFT=-SWR SELECTED?
;sBRANCH IF NO

;;CHAR THERE?

;o1F NO, DON'T WAIT AROUND
;:SAVE THE CHAR

::STRIP-0OFF THE ASC1I

;IS IT A CONTROL G?

J:NO, RETURN TO USER

;sARE WE RUNNING IN AUTO-MODE?
; ;BRANCH IF YES

;;ECHO THE CONTROL-G (*G)

;. TYPE CURRENT CONTENTS

;sSAVE SWREG FOR TYPEOUT

;G0 TYPE--OCTAL ASCIICALL PIGITS)
. ;PROMPT FOR NEW SWR

;sCLEAR COUNTER

;. THE NEW SWR

; :CHAR THERE?

;:1F NOT TRY AGAIN

;:PICK UP CHAR
;2MAKE IT 7-BIT ASCI!I

;IS IT A CONTROL=-U?

; ;BRANCH IF NOT

:2YES, ECHO CONTROL=-U (*U)
; :IGNORE PREVIOUS INPUT
::LET'S TRY IT AGAIN

::IS IT A <CR>?

;sBRANCH IF NO

;:YES, IS IT THE FIRST CHAR?
;JBRANCH IF YES

;sSAVE NEW SWR

:;CLEAR UP STACK

:2ECHO <CR> AND <LF>
;JRE-ENABLE TTY KBD INTERRUPTS?
;;BRANCH IF NOT

:2RE-ENABLE TTY KBD INTERRUPTS
: JRETURN

;;ECHO CHAR

::CHAR < 0?

SEQ 0099




CZINCCB NCV11 _ DIAGNOSTIC
CZNCCB.P1T 31-AUG=79 11:21

(1) 033220 002420

(1) 033222 021627 000067
(1) 033226 003015

(1) 033230 042726 000060
(1) 033234 005766 000002
(1) 033240 001403

(1) 033242 006316

(1) 033244 006316

(1) 033246 006316

(1) 033250 005266 000002
(1) 033254 056616 177776
(1) 033260 000707

(1) 033262 104401 001170
E}; 033266 000720

QP

(1

(2)

(1)

(1

(1)

(M

(1)

(1)

(1)

(1) 033270 011646

(1) 033272 016666 000004
(1) 033300 105777 145640
(1) 033304 100375

(1) 033306 117766 145634
(1) 033314 042766 177600
(1) 033322 026627 000004
(1) 033330 001013

(1) 033332 105777 145606
(1) 033336 100375

(1) 033340 117746 145602
(1) 033344 042716 177600
(1) 033350 022627 000021
(1) 033354 001366

(1) 033356 000750

(1) 033360 026627 000004
(1) 033366 002407

(1) 033370 026627 000004
(1) 033376 003003

(1) 033400 042766 000040
(1) 033406 000002

(2)

(1)

(1

(1)

(1)

(1)

(1)

(1) 033410 010346

(1) 033412 012703 033516
(1) 033416 022703 033526

000002

000140
000175
000004

J 8
MACY11 30G(1063) 31-AUG=79 13:10 PAGE 70-1

TTY INPUT ROUTINE

BLT 18% ;JBRANCH IF YES

CMP (SP) ,#67 ;:CHAR > 7?

BGT 18% ::BRANCH IF YES

BIC #60, (SP) + ;:STRIP=-OFF ASCII

TST 2(SP) ;:1S THIS THE FIRST CHAR

BEQ 17% ;:BRANCH IF YES

ASL (SP) ;iNO, SHIFT PRESENT

ASL (SP) 23 CHAR OVER TO MAKE

ASL (SP) 23 ROOM FOR NEW ONE.
17%: INC 2(SP) ;;KEEP COUNT OF CHAR

BIS -2(SP) ,(SP) J:SET IN NEW CHAR

B8R 7% ::GET THE NEXT ONE
18%: TYPE ,SQUES J:TYPE ?<CR><LF>

BF 208 ; :SIMULATE CONTROL=U
.DSABL LSB

e i2 2222222222222 22222 2t 2R 2222022t R R ]

:*THIS ROUTINE WILL INPUT A SINGLE CHARACTER FROM THE TTY

P*CALL:
i RDCHR :2INPUT A SINGLE CHARACTER FROM THE TTY
L RETURN HERE ::CHARACTER IS ON THE STACK
o ::WITH PARITY BIT STRIPPED OFF
$RDCHR: MOV (SP) ,=-(SP) ::PUSH DOWN THE PC
MOV 4(SP),2(SP) ::SAVE THE PS
1$: TSTB  @$TKS S:WAIT FOR
BPL 1% ;:A CHARACTER
MOVB  @$TKB,4(SP) **READ THE TTY
BIC #AC<177>,4(SP)  ::GET RID OF JUNK IF ANY
CMP 4(SP) ,42% 2:IS IT A CONTROL-S?
BNE 3s ; :BRANCH IF NO
2% : TSTB  @$TKS S:WAIT FOR A CHARACTER
BPL 2% ::LOOP UNTIL ITS THERE
MOVB  @$TKB,-(SP) - :GET CHARACTER
BIC #~C177.(SP) S:MAKE IT 7-BIT ASCII
CMP (SP)+, 421 2:IS IT A CONTROL-Q?
BNE 2$ +:IF NOT DISCARD IT
BR 1% ::YES, RESUME
3$: CMP 4 (SP) ,#140 ::IS IT UPPER CASE?
BLT 43 < :BRANCH IF YES
CMP 4(SP) ,#175 SIS IT A SPECIAL CHAR?
BGT 48 - :BRANCH IF YES
BIC #40,4(SP) ::MAKE IT UPPER CASE
4$: RTI ::G0 BACK TO USER
e 2232322233332 23232232223233232232323323233333333333332333323233332323333232333332331
-E:{E ROUTINE WILL INPUT A STRING FROM THE TTY
- &
P RDLIN ::INPUT A STRING FROM THE TTY
o RETURN HERE “*ADDRESS OF FIRST CHARACTER WILL BE ON THE STACK
;e ::TERMINATOR WILL BE A BYTE OF ALL 0°S
$RDL IN: MOV R3,=(SP) ;:SAVE R3
1%: MOV #$TTYIN.R3 ::GET ADDRESS

28: CMP #STTYIN+8..,R3  ::BUFFER FULL?

SEQ 0100
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CINCCB.P11 31-AUG=79 11:21 TTY INPUT ROUTINE SEQ 0101
(1) 033422 101405 BLOS 4% :BR IF YES
(1) 033426 104410 RDCHR ..co READ ONE CHARACTER FROM THE TTY
(1) 03326 112613 MOVB  (SP)+,(R3) “:GET CHARACTER
(1) 0334 122713 000177 10%: CMPB #177,(R3) ;:1S IT A RUBOUT
(1) 03343& 001003 BNE 3$ LISKIP IF NOT
(1) 033436 104401 001170 4$: TYPE $QUES STYPE A '2°
(1) 033442 000763 BR is ::CLEAR THE BUFFER AND LOOP
(1) 033444 111337 033574 3% MOVB  (R3),9% ::ECHO THE CHARACTER
(1) 033450 104401 033514 TYPE ,9%
(1) 033454 122723 000015 CMPB #15,(R3)+ ;2CHECK FOR RETURN
(1) 033460 001356 BNE 2% :2LO0OP IF NOT RETURN
(1) 033462 105063 177777 CLRB  =1(R3) *:CLEAR RETURN (THE 15)
(1) 033466 104401 001172 TYPE ,SLF ::TYPE A LINE FEED
(1) 033472 012603 MOV (SP)+,R3 *RESTORE R3
(1) 033474 011646 MOV (SP) ,-(SP) :;ADJUST THE STACK AND PUT ADDRESS OF THE
(1) 033476 016666 000004 000002 MOV 4&(SP) ,2(SP) 23 FIRST ASCII CHARACTER ON IT
(1) 033504 012766 033516 000004 MOV #STTYIN,&(SP)
(1) 033512 000002 RTI : ;RETURN
(1) 033514 000 9% : .BYTE 0 ;STORAGE FOR ASCII CHAR. TO TYPE
(1) 033515 000 .BYTE 0 - :TERMINATOR
(1) 033516 000010 $TTYIN: .BLKB 8. ;JRESERVE 8 BYTES FOR TTY INPUT
(1) 033526 052536 005015 000 S$CNTLU: .ASCIZ /*U/<15><12>  ;;CONTROL 'V
(1) 033533 136 006507 000012 S$CNTLG: .ASCIZ /~G/<15><12>  ::CONTROL ''G
(1) 033540 005015 053523 020122 S$MSWR: .ASCIZ <15><12>/SWR =
(1) 032546 020075 000
(1) 033551 040 047040 053505 SMNEW: .ASCIZ / NEW =
(1) 033556 036440 000040
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011646

010046
010146
010246
104411
012600
005001
005002
112046
001412

006102
006301
006102
006301
006102
042716
062601
000764
005726
010166
010237
012602
012601
012600

MACY11
11:21

000004 000002

177770

000012
033662

L 8
30G(1063) 31-AUG=79 13:10 PAGE 71
READ AN OCTAL NUMBER FROM THE TTY

.SBTTL READ AN OCTAL NUMBER FROM THE TTY

it i i iR 20222 2022202222322 2R RRR 222202 R RRR Rl ]

-THIS ROUTINE WILL READ AN OCTAL (ASCII) NUMBER FROM THE TTY AND
“«CHANGE IT TO BINARY.

:*CALL:
« RDOCT ;sREAD AN OCTAL NUMBER

* RETURN HERE ;:LOW ORDER BITS ARE ON TOP OF THE STACK
4 ;sHIGH ORDER BITS ARE IN SHIOCT

$RDOCT: MOV (SP) ,=(SP) ;;PROVIDE SPACE FOR THE
MOV 4(SP) ,2(SP) 2+ INPUT NUMBER
MOV RO,=(SP) ;:PUSH RO ON STACK
MOV R1,=(SP) :sPUSH R1 ON STACK
MOV R2,=(SP) ;;PUSH R2 ON STACK

1%: RDL IN ;sREAD AN ASCIZ LINE
MOV (SP)+,R0O :2GET ADDRESS OF 1ST CHARACTER
(LR R1 . sCLEAR DATA WORD
CLR R2
2%: MOVB (RO)+,-(SP) ;:PICKUP THIS CHARA(CTER
BEQ 3% ;:IF ZERO GET OuT
ASL R1 2%
ROL R2
ASL R 1
ROL R2
ASL R1 ;.*8
ROL R2
BIC #~C7,(SP) ;:STRIP THE ASCII JUNK
ADD (SP)+,R1 :2ADD IN THIS DIGIT
BR 2% > :LOOP
3%: TST (SP) + ;2CLEAN TERMINATOR FROM STACK

MOV R1,12(SP)
MOV R2,$HIOCT

;sSAVE THE RESULT

MOV (SP)+ ,R2 ;;POP STACK INTO R2
MOV (SP)+ ,R1 ;;POP STACK INTO R1
MOV (SP)+,R0O ;;POP STACK INTO RO
RTI ; sRETURN

$HIOCT: .WORD O ;sHIGH ORDER BITS GO HERE

SEQ 0102
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CINCCB.P1T  31-AUG-79 CONVERT BINARY TO DECIMAL AND TYPE ROUTINE SEQ 0103

2??? .SBTTL CONVERT BINARY TO DECIMAL AND TYPE ROUTINE

(2) ttttttttt'ﬁtttt*tttttﬁttil'Qtt"tﬁt'ttt'tﬁttt".tttitQttﬁtttﬁﬁt
(1) “%THIS ROUTINE IS USED TO CHANGE A 16-BIT BINARY NUMBER TO A 5-DIGIT
(1) :#«SIGNED DECIMAL (ASCII) NUMBER AND TYPE IT. DEPENDING ON WHETHER THE
1N S«NUMBER IS POSITIVE OR NEGATIVE A SPACE OR A MINUS SIGN WILL BE TYPED
1 :«BEFORE THE FIRST DIGIT OF THE NUMBER. LEADING ZEROS WILL ALWAYS BE
(1) :«REPLACED WITH SPACES.

(1) *xCALL :

(1) i MOV NUM, = (SP) ::PUT THE BINARY NUMBER ON THE STACK
f}? x TYPDS 2:GO TO THE ROUTINE

(1) 033664 $TYPDS:

(3) 033664 010046 MOV RO,=(SP) ;:PUSH RO ON STACK

(3) 033666 010146 MOV R1.=(SP) ::PUSH R1 ON STACK

(3) 033670 010246 MOV R2.=(SP) ::PUSH R2 ON STACK

(3) 033672 010346 MOV R3.=(SP) ::PUSH R3 ON STACK

(3) 033674 010546 MOV RS.=(SP) ::PUSH RS ON STACK

(1) 033676 012746 020200 MOV #20200, - (SP) *:SET BLANK SWITCH AND SIGN

(1) 033702 016605 000020 MOV 20(SP) .RS 2:GET THE INPUT NUMBER

(1) 033706 100004 BPL 1% ::BR IF INPUT IS POS.

(1) 033710 005405 NEG RS :MAKE THE BINARY NUMBER POS.

(1) 033712 112766 000055 000001 MOVB  #'-,1(SP) *MAKE THE ASCII NUMBER NEG.

(1) 033720 005000 1%: CLR RO ::2ERO THE CONSTANTS INDEX

(1> 033722 012703 034100 MOV #$DBLK ,R3 ::SETUP THE OUTPUT POINTER

(1) 033726 112723 000040 MOVB #' .(R3)+ *:SET THE FIRST CHARACTER TO A BLANK
(1) 033732 005002 2$:  CLR R2 ::CLEAR THE BCD NUMBER

(1) 033734 016001 034070 MOV $DTBL (RO) ,R1 ::GET THE CONSTANT

(1) 033740 160105 3$: SUB R1.RS ::FORM THIS BCD DIGIT

(1) 033742 002402 BLT 4$ -:BR IF DONE

(1) 033744 005202 INC R2 *INCREASE THE BCD DIGIT BY 1

(1) 033746 000774 BR 3$

(1) 033750 060105 48: ADD R1.RS ::ADD BACK THE CONSTANT

(1) 033752 005702 ST R2 *:CHECK IF BCD DIGIT=0

(1) 033754 001002 BNE 5% *:FALL THROUGH IF 0

(1) 033756 105716 TSTB  (SP) :STILL DOING LEADING 0'S?

(1) 033760 100407 BM] 7% ‘BR IF YES

(1) 033762 106316 5% ASLB  (SP) ..nsov

(1) 033764 103003 BCC 6$ :BR IF NO

(1) 033766 116663 000001 MOVB  1(SP).-1(R3)  ::YES=-SET THE SIGN

(1) 033774 052702 000060 6$: BIS #'0,R2 ::MAKE THE BCD DIGIT ASCII

(1) 034000 052702 000040 7%: BIS &' R? “:MAKE IT A SPACE IF NOT ALREADY A DIGIT
(1) 034004 110223 MOVB  R2,(R3)+ *:PUT THIS CHARACTER IN THE OUTPUT BUFFER
(1) 034006 005720 ST (RO) + +:JUST INCREMENTING

(1) 034010 020027 000010 CMP RO.#10 *:CHECK THE TABLE INDEX

(1) 034014 002746 BLT 2$ *:GO DO THE NEXT DIGIT

(1) 034016 003002 BGT 8$ 2:G0 TO EXIT

(1) 034020 010502 MOV RS,R2 *:GET THE LSD

(1) 034022 000764 BR 68 ::GO CHANGE TO ASCII

(1) 034024 105726 8$: TSTB  (SP)+ S:WAS THE LSD THE FIRST NON-ZEROQ?
(1) 034026 100003 BPL 9 “:BR IF NO

(1) 034030 116663 177777 MOVB  -1(SP),-2(R3)  ::YES=-SET THE SIGN FOR TYPING

(1) 034036 105013 98 : CLRB  (R3) ::SET THE TERMINATOR

(3) 034040 012605 MOV (SP)+,RS 2:POP STACK INTO RS

(3) 034042 012603 MOV (SP)+.R3 *:POP STACK INTO R3

(3) 034044 012602 MOV (SP)+,R2 ::POP STACK INTO R2
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(3) 034046 012601 MOV (SP)+,R1 ::POP STACK INTO R1
(3) 034050 012600 MOV (SP)+.R0 ::POP STACK INTO RO
(1) 034052 104401 034100 TYPE $DBLK ::NOW TYPE THE NUMBER
(1) 034056 016666 000002 000004 MOV 2(SP),4(SP) ::ADJUST THE STACK
(1) 034064 012616 MOV (SP)+. (SP)
(1) 034066 000002 RTI ::RETURN TO USER
(1) 034070 023420 $DTBL: 10000.
(1) 034072 001750 1000.
(1) 034074 000144 100.
(1) 034076 000012 10.
(1) 034100 000004 $DBLK: .BLKW &
2%?9 .SBTTL SCOPE HANDLER ROUTINE
(2) .'.'ttttttt*ttttltttttttttttt'tt.tltttttt.tttttttttttttlttttttttt*t
(1) :*THIS ROUTINE CONTROLS THE LOOPING OF SUBTESTS. IT WILL INCREMENT
1) :«AND LOAD THE TEST NUMBER(STSTNM) INTO THE DISPLAY REG. (DISPLAY<7:0>)
(1) :«AND LOAD THE ERROR FLAG (SERFLG) INTO DISPLAY<15:08>
(1) :*THE SWITCH OPTIONS PROVIDED BY THIS ROUTINE ARE:
1) s xSWI4=1 LOOP ON TEST
(1) S xSW11=1 INHIBIT I1TERATIONS
(1) +*SW09=1 LOOP ON ERROR
(1) : *SWOB=1 LOOP ON TEST IN SWR<7:0>
(1) ;+CALL
ﬂ; i SCOPE ::SCOiE=]0T
(1) 034110 $SCOPE :
(1) 034110 104407 CKSWR ;:TEST FOR CHANGE IN SOF T-SWR
(2) 034112 004737 045676 JSR PC,CTRLCG :TEST FOR CTRL C OR G
(1) 034116 032777 040000 145014 1%: BIT #BIT14,3SWR ::LOOP ON PRESENT TEST?
(1) 034124 001114 BNE $OVER S:YES IF SW14=1
(1 :MMAANSTART OF CODE FOR THE XOR TESTERWANAN
(1) 034126 000416 $XTSTR: BR £t ::1F RUNNING ON THE ‘XOR'* TESTER CHANGE
(1) S:THIS INSTRUCTION TO A ‘NOP'* (NOP=240)
(1) 034130 013746 000004 MOV @FERRVEC,-(SP) ::SAVE THE CONTENTS OF THE ERROR VECTOR
(1) 034134 012737 034154 000004 MOV #5$ , a¥ERRVEC ::SET FOR TIMEOUT
(1) 034142 005737 177060 TST an177060 ::TIME OUT ON YOR?
(1) 034146 012637 000004 oV (SP) +, aWERRVEC ..nesroae THE ERROR VECTOR
(1) 034152 000463 BR $SVLAD :GO TO THE NEXT TEST
(1) 034156 022626 5% : CMP (SP)+,(SP)+ ::CLEAR THE STACK AFTER A TIME OUT
(1) 034156 012637 000004 MOV (SP)+.@#ERRVEC ::RESTORE THE ERROR VECTOR
(1) 034162 000423 BR 7$ ::LOOP ON THE PRESENT TEST
(1) 034164 6$: ; ARAAAEND OF CODE FOR THE XOR TESTERMA#AN
(1) 034164 032777 000400 144746 BIT #BI1T08,aSWR ::LOOP ON SPEC. TEST?
(1) 034172 001404 BEQ 28 :BR IF NO
(1) 034174 127737 144740 001102 CMPB  aSWR,STSTNM ..o~ THE RIGHT TEST?  SWR<7:0>
(1) 034202 001465 BEQ $OVER :BR IF YES
(1) 034204 105737 001103 2%: TSTB  $ERFLG ,.HAS AN ERROR OCCURRED?
(1) 034210 001421 BEQ 3 ::BR IF NO
(1) 034212 123737 001115 001103 CMPB  SERMAX,SERFLG  ::MAX. ERRORS FOR THIS TEST OCCURRED?
(1) 034220 101015 BHI 3% ::BR IF NO
(1) 034222 032777 001000 144710 BIT #81T09,3SWR ::LOOP ON ERROR?
(1) 034230 001404 BEQ 48 ::BR IF NO
(1) 034232 013737 001110 001106 7%: MOV $LPERR,SLPADR  ::SET LOOP ADDRESS TO LAST SCOPE
(1) 034240 000446 BR $OVER
(1) 034242 105037 001103 4%: CLRB  SERFLG :;2ERO THE ERROR FLAG
(1) 034246 005037 001160 CLR $TIMES “:CLEAR THE NUMBER OF ITERATIONS TO MAKE
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(1) 034252 000415 BR 1% :ESCAPE TO THE NEXT TEST

(1) 034254 032777 004000 144656 3%: BIT #8IT11,3SWR ..IMIBIT ITERATIONS?

(1) 034262 001011 BNE 1% :BR IF YES

(1) 034264 005737 001202 TST SPASS ..IF FIRST PASS OF PROGRAM

(1) 034270 001406 BEQ 1% INHIBIT ITERATIONS

(1) 034272 005237 001104 INC $ICNT : INCREMENT ITERATION COUNT

(1) 034276 023737 001160 001104 (MP $TIMES,SICNT ..CHECK THE NUMBER OF [TERATIONS MADE

(1) 034304 002024 BGE $OVER ;:BR IF MORE ITERATION REQUIRED

(1) 034306 012737 000001 001104 1%: MOV #1,81CNT JJREINITIALIZE THE ITERATION COUNTER

(1) 034314 013737 034372 001160 MOV SMXCNT,STIMES  ;.;SET NUMBER OF ITERATIONS TO DO

(1) 034322 105237 001102 $SVLAD: INCB $TSTNM ;;COUNT TEST NUMBERS

(1) 034326 113737 001102 001200 MOVB STSTNM,STESTN  ;;SET TEST NUMBER IN APT MAILBOX

(1) 034334 011637 001106 MOV (SP) ,$LPADR :;SAVE SCOPE LOOP ADDRESS

(1) 034340 011637 001110 MOV (SP) ,SLPERR ;:SAVE ERROR LOOP ADDRESS

(1) 034344 005037 001162 CLR $SESCAPE ;:CLEAR THE ESCAPE FROM ERROR ADDRESS

(1) 034350 112737 0000017 001115 MOvVB #1,SERMAX ;;ONLY ALLOW ONE(1) ERROR ON NEXT TEST

(1) 034356 013777 001102 144556 S$OVER: MOV $TSTNM, aDISPLAY ;;DISPLAY TEST NUMBER

(1) 034364 013716 001106 MOV $LPADR, (SP) ;:FUDGE RETURN ADDRESS

(1) 034370 000002 RTI JsFIXES PS

(1) 034372 003720 $MXCNT: 2000. JsMAX. NUMBER CF ITERATIONS
2??; .SBTTL TYPE ROUTINE
(2) 2 2332333323323 333333333233333333333323332333323333233323323233233233232323 32 2]
(1) tROUTINE TO TYPE ASCIZ MESSAGE. MESSAGE MUST TERMINATE WITH A C BYTE.
(1 ;*THE ROUTINE WILL INSERT A NUMBER OF NULL CHARACTERS AFTER A LINE FEED.
(1M :'NOTE1: SNULL CONTAINS THE CHARACTER TO BE USED AS THE FILLER CHARA(TER.
(1) :*NOTEZ2: $FILLS CONTAINS THE NUMBER OF FILLER CHARACTERS REQUIRED.
g}; :*NOTE3: $FILLC CONTAINS THE CHARACTER TO FILL AFTER.
't
(1) J«CALL:
P tl) USING A TRAP INSTRUCTION
ﬁ}; *OR TYPE .ME SADR ;JMESADR IS FIRST ADDRESS OF AN ASCIZ STRING
-
(1) o TYPE
(1) s ME SADR
)
(
(1) 034374 105737 001157 $TYPE: TSTB $TPFLG ;:1S THERE A TERMINAL?
(1) 034400 100002 BPL 1% ;:BR IF YES
(1) 034402 000000 HALT ;HALT HERE IF NO TERMINAL
(1) 034404 000430 BR 3% ;s LEAVE
(1) 034406 010046 1%: MOV RO,-(SP) ::SAVE RO
(1) 034410 017600 000002 MOV a2 (SP) ,RO ::GET ADDRESS OF ASCIZ STRING
(1) 034414 122737 000001 001214 (MPB #APTENV, SENV :;RUNNING IN APT MODE
(1) 034422 001011 BNE 62% ;iNO,GO CHECK FOR APT CONSOLE
(1) 034424 132737 000100 001215 BITB #APTSPOOL ,$ENVM ; :SPOOL MESSAGE TO APT
(1) 034432 001405 BEQ 62% J2NO,GO CHECK FOR CONSOLE
(1) 034434 010037 034444 MOV RO,61% 2 ;SETUP MESSAGE ADDRESS FOR APT
(1) 034440 004737 035446 JSR PC,$ATY3 ;:SPOOL MESSAGE TO APT
(1) 034444 000000 61%: .WORD C ; JMESSAGE ADDRESS
(1) 034446 132737 000040 001215 62%: BITB #APTCSUP,SENVM ;APT CONSOLE SUPPRESSED
(1) 034454 001003 BNE 60% J:YES,SKIP TYPE OUT
(1) 034456 112046 2%: MOVB (RO)+,~(SP) ..PUSH CHARACTER TO BE TYPED ONTO STACK
(1) 034460 001005 BNE 4% :BR IF IT ISN'T THE TERMINATOR
(1) 034462 005726 TST (SP)+ ..IF TERMINATOR POP IT OFF THE STA(K
(1) 034464 012600 60%: MOV (SP)+,R0 ::RESTORE RYD
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DIAGNOSTIC

062716
000002

013746

105366
002770
004737
105337
000770

112716

31-AUG=79 11:21

000002
000011
000200

034652

034606
001156

001154
000001

034606
034652

000040
034606

000007

144336

000002
000015

034652
000012

MACY11 30G(1063)

034652

144330
000002

000002

TYPE ROUTINE
3%: ADD

RTI
(%: CMPB

5%: JSR
6%: CMPB

7%: DECB

DECB
BR

JHORIZONTAL TAB

8%: MOVB

0%: JSR
BITB
BNE
TST

BR
TSTB
BPL
MOVB
CMPB
BNE
CLRB
BR
1%: CMPB
BEQ
INCB
$CHARCNT :
$TYPEX: RTS

$TYPEC:

31-AUG=79

. WORD

13:10

#2,(SP)
#HT, (SP)
8$

#CRLF, (SP)
5%

(SP) +

$CHARCNT

2%

PC,$TYPEC
$FILLC,(SP)+

2%
$NULL.=(SP)

1(SP)

6%
PC,STYPEC
$CHARCNT
7$

PROCESSOR

#' ,(SP)
PC,$TYPEC
#7 $CHARCNT

$TYPEC
2(SP) ,a$TPB
qu.Z(SP)

$CHARCNT
$TYPEX
#LF ,2(SP)
$TYPEX
(PC)+

0

PC

C 9
PAGE 72-3

:;ADJUST RETURN PC
;sRETURN
:JBRANCH [F <HT>

; sBRANCH IF NOT <CRLF>

::POP <CR><LF> EQUIV
;oTYPE A CR AND LF

;2CLEAR CHARACTER COUNT
:GET NEXT CHARACTER
..GO TYPE THIS CHARACTER
JIS IT TIME FOR FILLER CHARS.?
:JF NO GO GET NEXT CHAR.
GET # NEEDED
AND T
; DOE

OF FILLER CHARS.
HE NULL CHAR.
S A NULL NEED TO BE TYPED?
BR IF NO--GO POP THE NULL OFF OF STACK
,.GO TYPE A NULL
;DO NOT COUNT AS A COUNT
;. LOOP

O

; sREPLACE TAB WITH SPACE

;. TYPE A SPACE

; :BRANCH IF NOT AT

;. TAB STOP

;:POP SPACE OFF STACK

;sGET NEXT CHARACTER

;sWAIT UNTIL PRINTER IS READY

::LOAD CHAR TO BE TYPED INTO DATA REG.
::1S CHARACTER A CARRIAGE RETURN?
:JBRANCH IF NO

::;;?;-CLEAR CHARACTER COUNT

::1S CHARACTER A LINE FEED?

;JBRANCH IF YES

;sCOUNT THE CHARACTER

;s CHARACTER COUNT STORAGE

SEQ 0106
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DIAGNOSTIC

CZNCCB.P11 31=-AUG=79 11: 21
2343
(1)
(2)
(1)
(1)
(M
(1)
(M
1)
(1N
(1)
(1)
(1)
QP
(1)
1)
(1)
(1)
1)
1)
(1)
(1)
(1)
(1)
(1)
(1) 034656 017646 000000
(1) 034662 116637 000001
(1) 034670 112637 035103
(1) 034674 062716 000002
(1) 034700 000406
(1) 034702 112737 000001
(1) 034710 112737 000006
(1) 034716 112737 000005
(1) 034724 010346
(1) 034726 010446
(1) 034730 010546
(1) 034732 113704 035103
(1) 034736 005404
(1) 034740 062704 000006
(1) 034744 110437 035102
(1) 034750 113704 035101
(1) 034754 016605 000012
(1) 034760 005003
(1) 034762 006105
(1) 034764 04
(1) 034766 006105
(1) 034770 006105
(1) 034772 006105
(1) 034774 010503
(1) 034776 006103
(1) 035000 105337 035102
(1) 035004 100016
(1) 035006 042703 177770
(1) 035012 001002
(1) 035014 005704
(1) 035016 001403

MACY11 30G(1063)

035101
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BINARY TO OCTAL (ASCII) AND TYPE

.SBTTL BINARY TO OCTAL (ASCII) AND TYPE

tititttﬁtt'tit'ﬁitt*.tﬁitti*ittttittthl.t'ttt"lttt'tit.ttttttt

'THIS ROUTINE IS USED TO CHANGE A 16-BIT BINARY NUMBER TO A 6-DIGIT
;*OCTAL (ASCII) NUMBER AND TYPE IT.
:*$TYPOS--~ENTER HERE TO SETUP SUPPRESS ZEROS AND NUMBER OF DIGITS TO TYPE

s*CALL:

3 MOV NUM,-(SP) :JNUMBER TO BE TYPED

2% TYPOS ;sCALL FOR TYPEOUT

. .BYTE N ;:N=1 TO 6 FOR NUMBER OF DIGITS TO TYPE
I BYTE M ;:M=1 0R 0

I* ;:1=TYPE LEADING ZEROS

o ;:0=SUPPRESS LEADING ZEROS

:*$TYPON----ENTER HERE TO TYPE OUT WITH THE SAME PARAMETERS AS THE LAST
;*$TYPOS OR $TYPOC

s«CALL:

o MOV NUM,-(SP) :;NUMBER TO BE TYPED
e TYPON ;;CALL FOR TYPEOUT

- %

;-%TYPOC---ENTER HERE FOR TYPEOUT OF A 16 BIT NUMBER
s *CALL:

o MOV NUM,~-(SP) ;sNUMBER TO BE TYPED
o TYPOC :;CALL FOR TYPEOUT
$TYPOS: MOV a(SP) ,-(SP) ;:PICKUP THE MODE

MOVB 1(SP) ,$OFILL
MOovB (SP)+,$OMODE +1
ADD #2,(SP)

;;LOAD ZERO FILL SWITCH
: sNUMBER OF DIGITS TO TYPE
; ;ADJUST RETURN ADDRESS

BR $TYPON
$TYPOC: MOVB #1,80FILL ;sSET THE ZERO FILL SWITCH
MOvB #6,$0OMODE +1 ;2SET FOR SIX(6) DIGITS
$TYPON: MOVB #5,80CNT ;2SET THE ITERATION COUNT
MOV R3,-(SP) ::SAVE R3
MOV R4 ,-(SP) ;2 SAVE R4
MOV R5.,-(SP) ;;SAVE RS

MOVB :?K)DEH .Ré ;.GET THE NUMBER OF DIGITS TO TYPE

NEG
ADD #6,R4 ;3SUBTRACT IT FOR MAX. ALLOWED
MOVB R4, $SOMODE ;:SAVE IT FOR USE
MOVB $OFILL R4 ;;GET THE ZERO FILL SWITCH
MOV 12(SP) ,RS ;:PICKUP THE INPUT NUMBER
CLR S ;:CLEAR THE OUTPUT WORD
1%: ROL RS :;ROTATE MSB INTO ‘C*’
BR 3% ;:G0 DO MSB
2%: ROL RS ::FORM THIS DIGIT
ROL RS
ROL R5
MOV RS5,R3
3% ROL R3 ;;GET LSB OF THIS DIGIT
DECB $OMODE ;:TYPE THIS DIGIT?
BPL 7% ;:BR IF NO
BIC #177770,R3 ;:GET RID OF JUNK
BNE 48 ::TEST FOR O
TST R4 : :SUPPRESS THIS 0?
BEQ 5% ;:BR IF YES

SEQ 0107
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035102

035170
035172
035176
035202
035202
035210
035212

DIAGNOSTIC
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005204
052703
052703
110337
104401
105337
003347

104407
105237
001775
013777
032777
001402
104401
005237
011637
162737
117737
032777
001004
004737
104401

122737
001007
113737

000060
000040
035076
035076
035100

000002

001103

001102
002000

001164
001112
001116
000002
143736
020000

035304
001171

000001
001114
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000004

144020
144010

=38
(N~ —2
N — -
=2 —
oroc

001214
035224

BINARY TO OCTAL (ASCII) AND TYPE

A ¥ INC
BIS
5%: BIS
MOVB
TYPE
7%: DECB
BGT
BLT
INC
BR
6%: MOV
MOV
MOV
MOV
MOV
RTI
8%: .BYTE
.BYTE
$OCNT: _.BYTE
$OFILL: .BYTE
$OMODE : .WORD

.SBTTL ERROR HANDLER ROUTINE

R4 ;:DON'T SUPPRESS ANYMORE 0°'S
#'0,R3 ;iMAKE THIS DIGIT ASCII
#' _R3 ;:MAKE ASCII IF NOT ALREADY
R3,8% ::SAVE FOR TYPING
,8% ;2G0 TYPE THIS DIGIT
$OCNT ;;COUNT BY 1
2% ;:BR IF MORE TO DO
6% ;:BR IF DONE
R4 ;s INSURE LAST DIGIT ISN'T A BLANK
2% ;GO DO THE LAST DIGIT
(SP)+ ,RS :;RESTORE RS
(SP) + R4 ::RESTORE R4
(SP)+,R3 :;RESTORE R3
2(SP) ,4(SP) ::SET THE STACK FOR RETURNING
(SP)+,(SP)
; RETURN
0 :STORAGE FOR ASCII DIGIT
0 ::TERMINATOR FOR TYPE ROUTINE
0 ;sOCTAL DIGIT COUNTER
0 ;sZERO FILL SWITCH
0 :JNUMBER OF DIGITS TO TYPE

e AR AR AR AR AR AR AN AR RAARAA A RAAAAAAAAAAAAAAAARAAAARAA AR AR AT TS

;*THIS ROUTINE WILL INCREMENT THE ERROR FLAG AND THE ERROR COUNT,
;*SAVE THE ERROR ITEM NUMBER AND THE ADDRESS OF THE ERROR CALL
s*AND GO TO SERRTYP ON ERROR

;*THE SWITCH OPTIONS PROVIDED BY THIS ROUTINE ARE:

:*SW15=1
:«SW13=1
;*SW10=1
2 *SW09=1
s+CALL
o * ERROR
$ERROR:
CKSWR
7%: INCB
BEQ
MOV
BIT
BEQ
TYPE
1%: INC
MOV
SuB
MOVB
BIT
BNE
JSR
TYPE
20%:
CMPB
BNE
MOVB

HALT ON ERROR
INHIBIT ERROR TYPEOUTS
BELL ON ERROR
LOOP ON ERROR
N ; sERROR=EMT AND N=ERROR ITEM NUMRER
::TEST FOR CHANGE [N SOFT-SWR
$ERFLG ;:SET THE ERROR FLAG
7% ::DON'T LET THE FLAG GO TO ZERO
$TSTNM,.aDISPLAY ;:DISPLAY TEST NUMBER AND ERROR FLAG
#BIT10,aSWR ;;BELL ON ERROR?
1% ;:NO - SKIP
LSBELL 2 RING BELL
$SERTTL ;2COUNT THE NUMBER OF ERRORS
(SP) ,$ERRPC ;2GET ADDRESS OF ERROR INSTRUCTION
#2,8ERRP(
O$ERRPC,S$ITEMB ;;STRIP AND SAVE THE ERROR ITEM CODE
#BI1T13,3aSWR ;2SKIP TYPEOUT IF SET
20% ::SKIP TYPEOUTS
PC,$ERRTYP :2G0 TO USER ERROR ROUT INE
.SCRLF
#APTENV, SENV ;JRUNNING IN APT MODE
2% ;iNO,SKIP APT ERROR REPORT
$ITEMB,21% ;2SET ITEM NUMBER AS ERROR NUMBER

SEQ 0108
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035220

035304
035304
035310
035312
035314
035320

035322

035326
035330
035332
035334
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004737
000

000
000777
005777
100002

000000
104407
032777
001402
013716
005737
001402
013716

022737
001001
000000

000002

104401
010046
005000
153700
001004

013746
104402

035456

163704

001000

001110
001162

001162
030166

001171

001114

001116
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143670

000042

31-AUG=79

ERROR HANDLER ROUTINE

21%:

22%:
2%:

3%:

6%:

5%:

6%:

JSR
.BYTE
.BYTE
BR
TST
BPL
HALT
CKSWR
BIT
BEQ
MOV
TST
BEG
017

CMP
BNE
HALT

RTI

PC,8ATY4

0

0

22%

asSwR

3%
#BIT09,aSWR
4%

$LPERR, (SP)
$ESCAPE

5%

$ESCAPE, (SP)
H#SENDAD , a#4?2
6%

F 9
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; JREPORT FATAL ERROR TO APT

; ;APT ERROR LOOP
;sHALT ON ERROR
;sSKIP IF CONTINUE
;+HALT ON ERROR!
;o TEST FOR CHANGE IN SOFT=SWR
..LOO?FON ERROR SWITCH SET?
..FUDGE RETURN FOR LOOPING
..CHECK FOR AN ESCAPE ADDRESS

;BR IF NONE
..FUDGE RETURN ADDRESS FOR ESCAPE

;:ACT=11 AUTO-ACCEPT?
; BRANCH IF NO
;s YES

: 2RETURN

.SBTTL ERROR MESSAGE TYPEOUT ROUTINE

ttttttl"tﬁittitlt.ttﬁ..tiiti*t.tﬁﬁttitﬁtiiiiﬁttttiliti.tﬁi'.i.'

'THIS ROUTINE USES THE ''ITEM CONTROL BYTE'' (SITEMB) TO DETERMINE WHICH

;*ERROR IS TO BE REPORTED. IT THEN OBTAINS, FROM THE ‘ERROR TABLE'' (SERRTB),

:*AND REPORTS THE APPROPRIATE INFORMATION CONCERNING THE ERROR.

SERRTYP:

1%:

2%:
3%:

4%:
5%:

TYPE
MOV
CLR
BISB
BNE

MOV

TYPOC
BR
DEC
ASL
ASL
ASL
ADD
MOV
BEQ
TYPE
. WORD
TYPE
MOV
BEQ
TYPE
. WORD
TYPE
MOV
BNE

. SCRLF
RO,=(SP)
RO

A4S I TEMB,RO
1%

$ERRP(,~(SP)

#$ERRTB,RO
(RO)+,2%
3%

0

.SCRLF
(RO)+,4%
5%

0

. $CRLF
(RO) RO
7$

:2"'CARRIAGE RETURN'' & "LINE FEED''
:;SAVE RO
;:PICKUP THE ITEM INDEX

;;1F ITEM NUMBER IS ZERO, JUST
;.TYPE THE PC OF THE ERROR

::SAVE SERRPC FOR TYPEOUT

: ;ERROR ADDRESS

:.GO TYPE--OCTAL ASCIICALL DIGITS)>
;+GET OUT

;;ADJUST THE INDEX SO THAT IT WILL
33 WORK FOR THE ERROR TABLE

:;FORM TABLE POINTER

;:PICKUP "ERROR MESSAGE'' POINTER
:2SKIP TYPEOUT IF NC POINTER
::TYPE THE 'ERROR MESSAGE''

;2" ERROR MESSAGE'' POINTER GOES HERE
;2"'CARRIAGE RETURN'' €& "LINE FEED''
;;PICKUP ‘DATA HEADER'' POINTER
;:SKIP TYPEOUT IF O

;:TYPE THE 'DATA HEADER''

;2" DATA HEADER'' POINTER GOES HERE
:2"'CARRIAGE RETURN'' & "LINE FEED"
::PICKUP "DATA TABLE'' POINTER
;.60 TYPE THE DATA

SEQ 0109




G 9
CINCCB  NCVI1 _ DIAGNOSTIC MACY11 306(1063) 31-AUG=79 13:10 PAGE 73-3

CINCCB.P1T 3i=AUG=79 11: 2 ERROR MESSAGE TYPEOUT ROUTINE SEC 0110
(1) 03506 012600 6%: MOV (SP)+ RO JJRESTORE RO
(1) 035410 104401 001173 TYPE LSCRLF :2''CARRJAGE RETURN' " & "LINE FEED'’
(1) 035414 000207 RTS P : ;RETURN
(1) 035416 7%:
(2) 035416 013046 MGV a(RO)+,=(SP) ;:SAVE @(RO)+ FOR TYPEOUT
(2) 03520 104402 TYPOC ::G0 TYPE==OCTAL ASCIICALL DIGITS)
(1) 035422 005710 TST (RO) ;:1S THERE ANOTHER NUMBER?
(1) 035424 001770 BEQ 6% ;:BR IF NO
(1) 035426 104401 03543 TYPE ,8% ;:TYPE TWO(2) SPACES
(1) 035432 000771 BR 7% ;. LOOP
(1) 035434 0200490 000 8% : ASCIZ 7/ ;. TWO(2) SPACES
(1) 035440 .EVEN
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CINCCB.PI 31-AUG=79 11:

21 APT COMMUNICATIONS ROUTINE SEQ 0111

2??? .SBTTL APT COMMUNICATIONS ROUTINE

(2) ".'tt.tttﬁﬁt'ttttttﬁttt.‘ﬁt'tt.Qtl!t!ttﬁt.'ti..t.ttt'tt".nQtt..t.

(1) 035440 112737 000001 035704 S$ATY1: MOVB  #1,$FFLG ::TO REPORT FATAL ERROR

(1) 035446 112737 000001 035702 SATY3: MOVB  #1.SMFLG ::TO TYPE A MESSAGE

(1) 035454 000403 BR $SATYC

(1) 035456 112737 000001 035704 $ATY4: MOVB  #1,$FFLG ::TO ONLY REPORT FATAL ERROR

(1) 035464 SATYC( :

(3) 035464 010046 MOV RO,=(SP) ;:PUSH RO ON STACK

(3) 035466 010146 MOV R1,-(SP) ;:PUSH R1 ON STACK

(1) 035470 105737 035702 TSTB  SMFLG ©*SHOULD TYPE A MESSAGE?

(1) 035474 001450 BEQ 5§ 2:IF NOT: BR

(1) 035476 122737 000001 001214 CMPB  WAPTENV,SENV  ::OPERATING UNDER APT?

(1) 035506 001031 BNE 3 ::IF NOT: BR

(1) 035506 132737 000100 001215 BITB  #APTSPOOL,SENVM ::SHOULD SPOOL MESSAGES?

(1) 035514 001425 BEQ 3$ ::IF NOT: BR

(1) 035516 017600 000004 MOV 34 (SP) ,RO ::GET MESSAGE ADDR.

(1) 035522 062766 000002 000004 ADD #2,4(SP) ::BUMP RETURN ADDR.

(1) 035530 005737 001174 1$: ST $MSGTYPE ::SEE IF DONE W/ LAST XMISSION?

(1) 035534 001375 BNE 1% S IF NOT: WAIT

(1) 035536 010037 001210 MOV RO, SMSGAD *:PUT ADDR IN MAILBOX

(1) 035542 105720 2%: TSTB (RO) + ::FIND END OF MESSAGE

(1) 035544 001376 BNE 2%

(1) 035546 163700 001210 SUB $MSGAD , RO ::SUB START OF MESSAGE

(1) 035552 006200 ASR RO ::GET MESSAGE LNGTH IN WORDS

(1) 035554 010037 001212 MOV RO, SMSGLGT ::PUT LENGTH IN MA]LBOX

(1) 035560 012737 000004 001174 MOV #4 ,SMSGTYPE ;:TELL APT TO TAKE MSG.

(1) 035566 000413 BR 5$

(1) 035570 017637 000004 035614 3$: MOV 34 (SP) ,4$ ::PUT MSG ADDR IN JSR L INKAGE

(1) 035576 062766 000002 000004 ADD #2.4(SP) - -BUMP RETURN ADDRESS

(3) 035604 013746 177776 MOV 177776.-(SP) ::PUSH 177776 ON STACK

(1) 035610 004737 034374 JSR PC,S$TYPE *:CALL TYPE MACRO

(1) 035614 000000 4 : .WORD 0

(1) 035616 5%

(1) 035616 105737 035704 108$: TSTB  $FFLG : :SHOULD REPORT FATAL ERROR?

(1) 035622 001416 BEQ 12% ::IF NOT: BR

(1) 035624 005737 001214 ST SENV : :RUNNING UNDER APT?

(1) 035630 001413 BEQ 12% ::IF NOT: BR

(1) 035632 005737 001174 11%: ST $MSGTYPE S:FINISHED LAST MESSAGE?

(1) 035636 001375 BNE 1% SIIF NOT: WAIT

(1) 035640 017637 000004 021176 MOV 34 (SP) ,$FATAL  ::GET ERROR #

(1) 035646 062766 000002 000004 ADD #2.,4(SP) : :BUMP RETURN ADDR.

(1) 035654 005237 001174 INC $MSGTYPE ::TELL APT TO TAKE ERROR

(1) 035660 105037 035704 12%: CLRB  $FFLG S:CLEAR FATAL FLAG

(1) 035664 105037 035703 CLRB  SLFLG ::CLEAR LOG FLAG

(1) 035670 105037 035702 (LRB  SMFLG ::CLEAR MESSAGE FLAG

(3) 035674 012601 MOV (SP) + ,R1 ::POP STACK INTO R1

(3) 035676 012600 MOV (SP) +.RO ::POP STACK INTO RO

(1) 0357200 000207 RTS PC : RETURN

(1) 035702 000 $MFLG: .BYTE 0 S:MESSG. FLAG

(1) 035703 000 $LFLG: .BYTE 0 ::L0G FLAG

(1) 035704 000 $FFLG: .BYTE 0 ;:FATAL FLAG

(1) 035706 .EVEN

(1) 000200 APTSI1ZE=200

(1) 000001 APTENV=001

(1)

000100 APTSPOOL=100
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035706
035714
035722
035724
035726
035730
035732
035734
035736
035742
035746
035754
035756

035760
035766
035772
035776
036002
036004
036010
036012
036014
036016
036020
036022
036024
036032
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036046
036050
036052
036054
036062
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000040

012737
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010046
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010246
010346
070446
010546
017746
010637
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000000
000776

012737
013706
005037
005237
001375
012677
012605
012604
012603
012602
012601
012600
012737
012737
104401
036054
000002

000000
000776
000000
005015
000122
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036046
000340

143176
036052
035760

036046
036052
036052
036052

143130

035706
000340

047520
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::I‘.*"ﬁt..Qt"t.."'.ﬁt"'.titt'.'t.*..itt.'.t't.ﬁ'..tttlQ.ttQ.

#SILLUP,Q#PWRVEC ;,SET

#340, SMPWRVEC +2 ;:PRIO:7
:2PUSH RO ON STACK
::PUSH R1 ON STACK
;sPUSH R2 ON STACK
:;PUSH R3 ON STACK
:2PUSH R4 ON STACK
;:PUSH RS ON STACK
::PUSH aSWR ON STACK

#SPWRUP , a#PWRVEC ;;SET

s sSAVE SP

; HANG UP

FOR FAST UP

UP VECTOR

ttttttttttttttt'tt*'tﬁt!tttttt.tﬁttittttttt‘itt'.tttt-tlttttttt

#SILLUP,Q#PWRVEC ;. SET FOR FAST DOWN

;.GET SP

,.UAIT LOOP FOR THE TTY
J;WAIT FOR THE INC

::0F WORD
;:POP STACK
;:POP STACK
;:POP STACK
;:POP STACK
;:POP STACK
;;POP STACK
;:POP STACK

INTO aSwR
INTO RS
INTO R4
INTO R3
INTO R¢
INTO R1
INTO RO

#SPWRDN , a#PWRVEC ;;SET UP THE POWER DOWN VECTOR
#340,a#PWRVEC+2 ;;PRIO:7
;REPORT THE POWER FAILURE

;;POMER FAJL MESSAGE POINTER

;. THE POWER UP SEQUENCE WAS STARTED
;:; BEFORE THE POWER DOWN WAS (COMPLETE
:.PUT THE SP HERE

30G(1063) 31-AUG=79
APT COMMUNICATIONS ROUTINE
APTCSUP=040
SBTTL POWER DOWN AND UP ROUTINES
:POWER DOWN ROUTINE
$PWRDN: MOV
MOV
MOV RO, -(SP)
MOV R1,=(SP)
MOV R?.‘(SP)
MOV R3,~(SP)
MOV R4 ,-(SP)
MOV RS5,=(SP)
MOV aSWR,=(SP)
MOV SP,$SAVR6
MOV
HALT
BR ™R
POUER UP ROUT INE
$PURUP MOV
MOV $SAVRG, SP
CLR $SAVR6
1%: INC $SAVR6
BNE 1%
MOV (SP) + ,aSWR
MOV (SP)+,RS
MOV (SP)+ R4
MOV (SP)+,R3
MOV (SP)+ ,R2
MOV (SP)+ ,R1
MOV (SP)+,R0O
MOV
MOV
TYPE
$PWRMG : Rh#(l)RD $POWER
$ILLUP: HALT
BR .-2
$SAVR6: 0
$POWER: .ASCIZ <15><12>'POWER'’

.EVEN

SEQ 0112
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010046
010146
010246
010346
013746
013746
010600

104400
012637
012701
105727
000200
100070
012737
005737
052737
012737
012737
005046
012702
012703
012762

IC
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000004
000006

000006
003776

036300
177572
100000
036406
000340

172340
000010
077406

000200
177600
036236
000020

177572
036270
143776
000040
172356

177572
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000004
036122

ROUTINE TO SIZE MEMORY
.SBTTL ROUTINE TO SIZE MEMORY

S iii iS22t RSt Rt Rt iR R Rl

*CALL

i JSR PC,$SIZE

:® RETURN

;*$SLSTAD WILL CONTAIN:

i WITH KT11 OPTION == LAST VIRTUAL ADDRESS OF THE LAST BANK

5 WITHOUT KT11 OPTION == LAST ABSOLUTE ADDRESS OF AVAILABLE MEMORY

;*SLSTBK WILL CONTAIN THE LAST BANK AS A SAF
;*$KT11 IS THE MEMORY MANAGEMENT KEY
*BITO? = 0 DON'T USE MEMORY MANAGEMENT

MUST BE SETUP BEFORE THE CALL
*BIT1S = 0 DON'T HAVE MEMORY MANAGEMENT OPTION
: DETERMINED BY ROUTINE

$SIZE: MOV RO,=(SP) ;:SAVE RO ON THE STACK
MOV R1,-(SP) :sSAVE R1 ON THE STACK
MOV R2.=(SP) ::SAVE R2 ON THE STACK
MOV R3,-(SP) ;2SAVE R3 ON THE STACK

MOV @#ERRVE(C ,-(SP) ;;SAVE PRESENT ERROR VECTOR PS & PC
MOV a#ERRVEC+2,-(SP)

MOV SP,RO :SAVE THE STACK POINTER
;;SET THE ERRVEC PS TO THE PRESENT PS
TRAP ;PUSH OLD PSW AND PC ON STACK
MOV (SP)+,@4ERRVEC+2" ;;SAVE THE PSW IN Q#ERRVE(+?
MOV #3776.R1 ;s SETUP ADDRESS
TSTB (PC)+ ; USE MEMORY MANAGEMENT?
$KT11: .WORD 200 ..SET TO USE MEMORY MANAGEMENT
BPL $CORE :BR_IF NO
MOV #SKTNEX ,@#ERRVEC ; ;SET FOR TIMEOUT
TST a#SRO ;:KT11 ARE YOU THERE?

BIS #100000,8kT11  ;;YES--SET KT11 KEY
MOV AKTERR,#MMVEC ;;SET IN CASE OF ERROR
MOV #3460, @MMMVE(+2

CLR -(SP) ::INITIALIZE FOR 'PAR'’ LOADING
MOV #K1PARQ,R2 - ADDRESS OF FIRST ‘PAR"
MOV #°D8,R3 “:LOA<ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>